Hilti HSA Submission Folder

Sample Submission

and Approval Form 2-3
Product Information 4-5
Technical Data 6-10
Method Statement 11

Test Reports according to BS5080
HSA 12 - 24

HSA-R 25 - 37

European Technical Approval

HSA 38 -43

HSA-R 44 - 49
Government Letter 50 - 51
Country of Origin 52
Job Reference 53 -63

Customer Hotline
Hong Kong 8228 8118
Macau (toll free) 00800- 8228 8118




SAMPLE SUBMISSION AND APPROVAL FORM

Contract Title: Ref. No.:

Date:

Ref. No. of
Previous
Submission:

Contract No: (1)

File Reference: (2)

DETAILS OF SUBMISSION

To: Contract Manager’s Representative Attention:

From:

The enclosed sample and catalogue* / certificate of origin* / technical data* / test report* / job reference* as
described below have been checked for compliance with the Specifications and Drawings, and are submitted for
approval.

1. General Information

a. Material Description HSA / HSA-F / HSA-R / HST / HST-R / HST-HCR stud anchor
b. Location:
c. Specification Ref. Page: Item:

d. Drawing Ref. No.

e. B.Q. Ref.No.:

f. Anticipated date of approval:

2. Technical Information
The submitted sample has been checked against the specification and drawings as listed below:-

Submitted Sample

Specification Requirements (State details against each item)

a. Brand
Not specified Hilti
b. Country of Origin
Not specified Liechtenstein
c. Manufacturer’s Name & Address
Not specified Hilti Corporation, FL-9494 Principality of Liechtenstein

d. Factory’s Name & Address(es)
Not specified Hilti Aktiengesellschaft, Hilti AG, Feldkircherstrasse,

FL-9494 Schaan, Liechtenstein

e. Supplier (with Applicator, if any)
Not specified Hilti (Hong Kong) Ltd

Page 1 of 2
Page 2 Feb 2012



f. Appearance

Not specified According to the sample submitted
g. Color +
Not specified NIL

h. Specification
Not specified Attached

i. Manufacturer’s Catalogue
Not specified Attached

j- Test Report (Original/Certificated True Copy)
Not specified Attached

k. Previous Job Reference
Not specified Attached

|. Supplementary Information
Not specified NIL

For and on behalf of the Contractor

(Quality Control Manager)

CONTRACT MANAGER’S COMMENTS

To:
From: Contract Manager’'s Representative:

On the basis of the sample and information given, the above sample submitted is:

ON Approved.
(2)* Not approved because
Remarks:

Approval does not alter the requirements of the Contract

Contract Manager’'s Representative:

Date:

CC.

(* Delete if appropriate)
(+ For glass or vitreous mosaic tiles, the contractor is required to confirm the colour range(s) of the
submitted sample, i.e. a) light and or medium; or b) dark)

Page 2 of 2
Page 3 Feb 2012




=T Anchoring Systems

Stud anchor
HSA

Applications Technical data
M For fastening cladding works and facades, shopfronts and balustrades, window wall Recommended load (kN), non-cracked concrete at 25N/mm?, safety

and steel works factor(v)=3
M For fastening aluminum windows and Louvres Model size M6 M8 M0 Mi2 M6 M20
W For fastening marble granite and architectural features .

. HSA Tensile Load,Nec | 2.0 | 4.0 | 5.3 | 83 | 129 | 17.6

Base material (standard embedment) | SpearLoad, Ve | 2.2 | 4.0 | 65 | 10.2 | 183 | 283
B Non-cracked concrete

. HSA-F Tensile Load,Nec | 2.0 [ 40| 53 | 83 | 11.6 | 16.7
Material (standard embedment) | Shear Load,Vec | 2.2 | 4.0 | 6.5 | 10.2 | 18.3 | 28.3
W Steel, galvanized at least 5pm (M6-M20) !
B Hot dip galvanized at least 45pm (M6-M20) HSA-R Tensile Load, Nec | 2.0 | 4.0 | 4.0 | 83 | 129 | 147
B A4 stainless steel (M6-M20) (standard embedment) | Shear Load, Vres 20137157183 1|11.7|16.7

Remarks:

Advantages 1) All the data applies to no edge distance, spacing and other influences

2) For detail design method, please refer to Fastening Technology Manual
B Two anchorage depth for optimize use and high efficiency.
And two defined and marked embedment depths for ease
in inspection
M Due to the cold-forming technology manufacturing
process, the anchor material remains ductile. The result is d N =il ‘ T
an anchor which allows alignment without breaking oi ON =] 1 - inst
B Head mark with letter code for accurate identification when in place AARRTITIHn;H ann
\:\ \:\\\ NN \\\\\\\\\\\\\\

SO NN NN NN Y
a

Marking

7,

13

Approvals " Net
1
e Tested

Installation procedures

iy

e | —
PRI AIAI A

/// \Q%ﬁ
VT S, ;
eI Eeal L
L,

ey

Drill hole with drill bit. Blow out dust and fragments. Install anchor. Apply tightening torque.

HSA programme
HSA: stud head (galv. to min. 5pm)
Drill bit Min. hole depth, Max. fasten thk. Tighten. Clear- Width
nom. Anchor Head h trix torque ance across
dia., do length, | mark Standard Reduced Standard Reduced Tinst hole, dr flats, Sw Package Order designation Item no.
(mm) (mm) (mm) (mm) (mm) (mm) (Nm) (mm) (pcs)
6 50 A - 45 - 5 5 7 10 200 HSA M6x50/-/5 00255830
6 65 C 55 45 10 20 5 7 10 200 HSA M6x65/10/20 00255831
6 85 D 55 45 30 40 5 7 10 100 HSA M6x85/30/40 00255832
6 100 E 55 45 45 55 5 7 10 100 HSA M6x100/45/55 00255833
8 57 B - 50 - 5 15 9 13 100 HSA M8x57/-/5 00255834
8 75 C 65 50 10 23 15 9 13 100 HSA M8x75/10/23 00255835
8 92 E 65 50 27 40 15 9 13 80 HSA M8x92/27/40 00295377
8 115 G 65 50 50 63 15 9 13 50 HSA M8x115/50/63 00255837
8 137 H 65 50 72 85 15 9 13 50 HSA M8x137/72/85 00255838 *

* Special Request
Customer Hotline: Hong Kong 8228 8118 Macau oosoo 8228 8118 (Mon - FIP@@€ad - 6:00 pm / Sat 8:30 am - 1:00 pm) | Hilti online: www.hilti.cl@kx 20124



Anchoring Systems =1L

HSA: stud head (galv. to min. 5pm)

Drill bit Min. hole depth, Max. fasten thk. Tighten. Clear- Width

nom. Anchor Head hi trix torque ance across

dia., do length, | mark Standard Reduced Standard Reduced Tinst hole, df flats, Sw Package Order designation Item no.

(mm) (mm) (mm) (mm) (mm) (mm) (Nm) (mm) (pcs)
10 68 C - 60 - 5 30 12 17 50 HSA M10x68/-/5 00255839
10 90 E 70 60 20 25 30 12 17 50 HSA M10x90/20/25 00255840
10 108 F 70 60 37 45 30 12 17 40 HSA M10x108/37/45 00295350
10 120 G 70 60 50 57 30 12 17 40 HSA M10x120/50/57 00295352
10 140 | 70 60 70 77 30 12 17 25 HSA M10x140/70/77 00255843 %
10 160 J 70 60 90 97 30 12 17 25 HSA M10x160/90/97 00384614 %
10 180 L 70 60 110 117 30 12 17 25 HSA M10x180/110/117 00384615 %
12 80 D - 70 - 5 50 14 19 25 HSA M12x80/-/5 00255844
12 100 E 95 70 5 25 50 14 19 25 HSA M12x100/5/25 00255845
12 120 G 95 70 25 45 50 14 19 25 HSA M12x120/25/45 00255846
12 150 | 95 70 55 75 50 14 19 25 HSA M12x150/55/75 00255847
12 180 L 95 70 85 105 50 14 19 25 HSA M12x180/85/105 00255848
12 220 0 95 70 125 145 50 14 19 25 HSA M12x220/125/145 00255849 *
12 240 P 95 70 145 165 50 14 19 25 HSA M12x240/145/165 00255850 *
12 300 S 95 70 205 225 50 14 19 25 HSA M12x300/205/225 00255851 %
16 100 E - 90 - 5 100 18 24 16 HSA M16x100/-/5 00255852
16 120 G 115 90 5 25 100 18 24 16 HSA M16x120/5/25 00255853
16 140 | 115 90 25 45 100 18 24 16 HSA M16x140/25/45 00255854
16 190 L 115 90 75 95 100 18 24 16 HSA M16x190/75/95 00255855
16 240 P 115 90 125 145 100 18 24 16 HSA M16x240/125/145 00255856 *
20 125 G - 105 - 10 200 22 30 10 HSA M20x125/-/10 00255857 %
20 170 K 130 105 30 55 200 22 30 10 HSA M20x170/30/55 00255858

HSA-F: stud head (hot dip galv. to min. 45pm)

6 50 A - 45 - 5 5 7 10 200  HSA-F M6x50/-/5 00338260 *
6 65 c 55 45 10 20 5 7 10 200 HSA-F M6x65/10/20 00337121
8 57 B - 50 - 5 15 9 13 100 HSA-F M8x57/-/5 00337122
8 75 c 65 50 10 23 15 9 13 100  HSA-F M8x75/10/23 00337123
8 92 E 65 50 27 40 15 9 13 80  HSA-F M8x92/27/40 00295371
8 137 H 65 50 72 85 15 9 13 50  HSA-F M8x137/72/85 00337125 %
10 68 © - 60 - 5 30 12 17 50  HSA-F M10x68/-/5 00337126 %
10 90 E 70 60 20 25 30 12 17 50  HSA-F M10x90/20/25 00337127
10 108 F 70 60 37 45 30 12 17 40  HSA-FM10x108/37/45 00295353
10 120 G 70 60 50 57 30 12 17 40 HSA-FM10x120/50/57 00295354
12 80 D - 70 - 5 50 14 19 25  HSA-F M12x80/-/5 00337130 %
12 100 E 95 70 5 25 50 14 19 25  HSA-F M12x100/5/25 00337131
12 120 G 95 70 25 45 50 14 19 25  HSA-FM12x120/25/45 00337132
12 150 [ 95 70 55 75 50 14 19 25  HSA-FM12x150/55/75 00337133
12 240 P 95 70 145 165 50 14 19 25  HSA-F M12x240/145/165 00338261 %
16 100 E - 20 - 5 100 18 24 16 HSA-F M16x100/-/5 00337134 %
16 140 [ 115 0 25 45 100 18 24 16 HSA-F M16x140/25/45 00337135
16 190 L 115 920 75 95 100 18 24 16 HSA-F M16x190/75/95 00337136 %
20 125 G - 105 - 10 200 22 30 10 HAS-F M20x125/-/10 00274696 *
20 170 K 130 105 30 55 200 22 30 10 HSA-F M20x170/30/55 00337137

|

HSA-R: stud head (A4 stainless steel) “IH "”ii “bl

6 50 A - 45 - 5 5 7 10 200 HSA-R M6x50/-/5 00332183
6 65 c 55 45 10 20 5 7 10 200 HSA-R M6x65/10/20 00332184
6 85 D 55 45 30 40 5 7 10 100 HSA-R M6x85/30/40 00332185
8 57 B - 50 - 5 15 9 13 100 HSA-R M8x57/-/5 00332186
8 75 € 65 50 10 23 15 9 13 100 HSA-R M8x75/10/23 00332187
8 92 E 65 50 27 40 15 9 13 80  HSA-R M8x92/27/40 00295370
8 115 G 65 50 50 63 15 9 13 50  HSA-R M8x115/50/63 00332189
10 68 c - 60 - 5 30 12 17 50  HSA-R M10x68/-/5 00332190
10 20 E 70 60 20 25 30 12 17 50  HSA-R M10x90/20/25 00332191
10 120 G 70 60 50 57 30 12 17 40 HSA-RM10x120/50/57 00295355
12 80 D - 70 - 5 50 14 19 25  HSA-R M12x80/-/5 00332193
12 100 E 95 70 5 25 50 14 19 25  HSA-R M12x100/5/25 00332194
12 120 G 95 70 25 45 50 14 19 25  HSA-RM12x120/25/45 00332195
16 100 E - 920 - 5 100 18 24 16 HSA-R M16x100/-/5 00337116
16 140 [ 115 2 25 45 100 18 24 16 HSA-R M16x140/25/45 00337117
16 190 L 115 90 75 95 100 18 24 16 HSA-R M16x190/75/95 00337118 %
20 125 G - 105 - 10 200 22 30 10 HSA-R M20x125/-/10 00337119
20 170 K 130 105 30 55 200 22 30 10 HSA-RM20x170/30/55 00337120

* Special Request
205  Customer Hotline: Hong Kong 8228 8118 Macau oosoo 8228 8118 (MonP@@@3D am - 6:00 pm / Sat 8:30 am - 1:00 pm) | Hilti online: www.hili@bn2Q12



Loc/e

vl

8%G0L [ 169 | #'9€ [ 4'Gc [ 8%k | 178 [B8G0L [ €9 [ ¥9€ | b5z | 85k [ L8 INd] 4-VSH
- - - - - - | 9%6 [ 249 | €0¢ | 6z | ¢l | 2L Nl ¥-VSH
80 | k69 | #'9€ | k'S¢ | 8%k | 178 |BG0L | €9 | ¥9€ | b5z | 8L | L8 Nl VSH
wndA Jesys
V%S [ 86€ [ 89z [ 80z [ ¢ [ ¥0L | ¥'¥9 | 96y [ €8¢ [ €Ge [ €81 | L} [Nd] 34-VSH
0ty | 0°0¢ | 8%} | €8 [ 87L | 26 | 0%9 | €S | 9% | 10z | ¢L | TV NI u-VSH
vy | €8¢ | 8'%6) | €81 | 8L | 26 | 100k | 529 | L'6¢ | 90z | L0z | STh N3] VSH
WTEN B|ISUS L
OZIN[9LIN[ZLIN[OLN] SIN [ OIN |[OZIN[9LIN[ZLINOLN | 8N | O az|s Joyduy

yjdep jJuswpagqua pasnpay

yjdep jJuswpaqua piepuejs

aouejsisal ajewj|n ueajy

WW/N GZ = °T°} ‘GZ/0Z O 912I0U0D PaxOeId-UON -

SSBWDIY} [BLS}eW 8SBq WNWIUIN -
ainjej jee)s -

@ouanpul Buoeds pue aouejsip ebpa oN -
(uononuysul Buies 9ag) Bumes 1084100 -

poylew ubisep peudwig 98s s|iejep Jo4

0} sajjdde uo1joaas siyj ui ejep ||y

(1oyoue a|Buis e 10j) eyep Buipeo| siseg

‘leancadde ou aAey OZN + 9LIN ¥-SYH pue
4-VSH "€1-€0-8002 @nss! ‘1000/66-V.L3 Buipodoe Z| N 0} 9N ¥-VSH Pue YSH 40} uoioss siy} ui uslb elep |1y (e

9¢-01-200¢ /¥0¥991 M

21juc)buLIEM

(a11y) podal Juswssassy

€0-G0-900Z / 1G18/6¥0€ 9N

Blemyosunelg ‘giNgl

yodal}sa) ali4

€1-€0-8002 / 1000/66-V13 sled 'd1SO (e leA0ldde [eojuyos) ueadoing
anssi jJo ajep / 'ON KiojeioqeT / Ajuoyiny uonduossag
S9)eo1}IMAI | sjeaocsddy
BIEMOS Aywioyuod [enouddy 9oue)sisal 8oue)sisal
ubisap [B2IUY93 | OIS0 ol PETR]Ie)
Joyoue HjiH ueadoing : 0 4
oV 91¢ | lm
SHOHd v
pasiuenjeb
dip-joy ‘|98)s uoque)d
4-VSH
|o9)s ssojuielg
Y-VSH |
Hew bumes - |98}s uoquen
syydep Buipes omy - VSH Y
sjjouag UOISI3A J0yduy

doysue pm§ vYSH

oyoue pnis | VSH

acl 10Z/2
Sy 34 v6 vS 1z L [WN]— 4-vSH N
(414 051 6. G¥ [44 6 [wN] ¥-VYSH aouejsisal
¥S €22 6 S 1z L [wN] VSH Buipuaq teyp
‘ . . . . . [owu] M 92uEejsisal
6'0vS G'/l2 z'601 €29 z'e 1'2) B 10 JuBWON
. . . . L] Sy uopoes
Ghe /61 £'v8 0'8S 9'9g L'z P 85010 possang
91§ 9es 91§ 9.5 9/S 9/§ [eww/N] 4-VSH y
- - 00 00¥ 00¥ 00¥ LWWNT ¥VSH 5005 ploix
9.5 9¢s 915 9.5 91§ 9/S [;ww/N] VSH
02/ 029 02. 02. 0z, 0z [zww/N] 4-VSH "y yibuens
00¥ 0S¥ 009 009 009 009 [cww/N] 4-VSH a|Isus}
0z. 0.9 0z 0z. 0z. 0z. [zWw/N] VSH |euiwoN
0ZN 9L ZIN oL 8N 9N ; azis Joyouy

4-VSH ‘Y-VSH ‘VSH $0 sanuadoud |eojueyoapy

SEIEE

‘suolye|nfa. [euoneu wouy
juswalinbai Jojoe} Ajajes ay) o} Buipioooe Alea speo| papuswwodal ay] "¢ = 4 Jojoey Ajojes |eqolb [[esano yup (e

€8z €8l [coL [ 69 [ 0¥ [ ez [esc[es[coL] g9 0% [2e Nl 4-VSH
L[] 6 [ 9y [ Ge | - Lo |2y €8 | LS| Lt o0T u-VSH
€8¢ | 99 | zoL [ 59 | 0% | 2z | €eec|€8l [ 0L | G9 | 0% | 2T Nl VSH
Amomh>‘_®®r_w
00 [ 99 esfovJoe e |Zo[o]esg]es oy ][0T Nl 34-VSH
01 02 |65 [ 0v [ Se | - [y |62 [ €8] 0¥ | 0% | 0T NI d-VSH
91| 98 | 66 [0y | € | 2V |9/ 62| €8 | €5 |0 | 0T Nl VSH
@ N alisus]
OZIN[OLIN[ZLIN[OLN ] 8N [ OIN [OZIN[OLIN [ZLIN[OLIN] SN | OIN az|s Joyduy
yjdap Juswpaquwa pasnpay | yydap juswpaqud piepuels
Speo| papuawWwWwoddy
089 [ 0%y [8%€2 [ 9%GI [ 9% [ ¢G [ 089 [ 0w [ ¥92 [ 9G4 | 96 | ¢ NI 4-VSH
Ly |gee |6 [ V6 | 02 | - 2w [G8e| 2o | €| €L [0y [IN1] d-VSH
089 | 0%y | 8%z | 9% | 9% | ¢S [ 089 | 0w [ ¥'92 | 951 | 96 | TS NI VSH
PEA JBOYS
0z [€eb [ 9L [ L9 9 [61 |cecleec|[61] 9L ] L9]c¢€e NI 4-VSH
vGl [ 80L | g8 | L6 |2y | - |90z| 8l [6)L ] L9 L9 ¢€e TN H-VSH
V'ee | 24 | 641 | 08 | 09 | 8% | L'se | 6%z [ L'9) [ L0L | 08 | €€ Nl VSH
PEN B|ISud |
OZIN[9LIN[ZLIN[OLN] SIN [ OIN |[OZIN[9LIN[ZLINOLN | SIN | 9N az|s Joyouy
yjdap Jusawpaquwa pasnpay | yydap juswpaquia piepuels
aouejsisal ubisaq
0G8 [ 0%G [ G0¢ [ G%6L [0k | 69 [ 068 [ 0G5 [ G0¢ [ 66k [ 2+ [ 69 NI 4-VSH
005 [ 0%€ [ 821 [ Ler | v0L | - |00S | 0% | 0% | 02k [ 0% | 09 NI y-VSH
098 | 065 | 50¢ [ 6% | 0k | 69 |08 | 09 | Goe | 66k | 2t | 9 Nl VSH
M Jeays
oc Joz[o [z [ 6 v [ o5 [ee[sc[a e [ 9 NI 4-VSH
ote |oee |84 | 2 [ SZ [ - vy |Ziee| Gz [ a [ 2 | 9 IN] ¥-VSH
Lve | 8Sc |8 | T | 6 G |Les|ese| sz |9 |2 | 9 Nl VSH
N B|Isud |
OZIN[9LIN[ZLIN[OLN] SIN | OIN [0ZIN[9LIN[ZLIN]OLN | SIN | 9N az|s Joyduy

yjdap jJuswpagquia pasnpay

yjdap jJuswpaqua piepuejs

Joyoue pnis | VSH

aoue)sisal ol3siIv)oeIRYD

Feb 2012

Page 6




1oz/z ocl 121 10z/2
w s v ez s [eoow [ee] s [ow]oz]s [ww] *% sseuoly) o|qeuslSe) ‘el
06 S 09 [ww] “o4y ydep Juswpaquie ‘U | 3 @
"90IAI9S AIOSIAPE [BOIUYDS | NIH U} J0BJU0D ases|d S8joy pajjup pUoWelp Ul SIOYOUE 10} Bjep [edluyos} Jo g2
8L 9 0S [ww] #y yydap "paquie aanoey3 | 3 8
‘Jonpoud 8y} jo abesoed sy} Yim UsAIB 8sn Joj UOIONIISUl 83S UOIIE|[elSuUl UO Uoliewloul pajie}ap 104 ES
S0l 06 0L [ww] Hy ejoy |up jo yidep "uiy
‘anbio} Buiusiy6n Alddy “JOUUE [[EJSu| “SluBWBEY PUE 1SNP N0 Mojg G [UP UNm BjoY ua 0 - sz _ Gl _ 5z _ S R o8 _ g5 _ gz _ S - [w] ) ssewyoly) aigeuaise) xen | g
oL | - ve - 0z - [tuw] Py yidep paquio onooy3 | €2
ogl - SLL - 56 - [ww] 4y eoy flup Jo udep ‘uy | =%
44 8l vl [ww] 'p sejewerp sjoy soueses|)
0 vz 6l [Www] MS Siel Inu SSOI0. YIPIM
uononasul mc_uumw 002 00} 05 [wN] **1 Juswow anbio|
A b d bl | 9 3 bl | 9 3 a (epoo sepa|) Bunyey pesH
dwnd jno mo|q ‘youaim anbioy ‘Jswwey $|00} J8Y10
YET 0L | sz | oz | o6l | ovL | ozl | 0oL | 08k | oSl | ozl | 0oL | 08 [wuw] | ybuay Joyouy
—opalL 9ldl-c3l Jswwey Aoy 0z 9l zL [Ww]°p 1 |Up JO JSjeWEIP [BUILION
0ZN 9LIN ZLN OLIN SN 9N az|s Joyauy sleslelaelalaslaslalzlz=als
N N - - - - - - - - - -
juswdinba uonejeisu| S| 2| 8% | R | %% X% |R|R|E
= & | 8 8 8 S 8 3 8 S 53 S
Bumes
2 [ ss [sv [se ] s [eo [ov[ee|[ s [ov]oe] s [w] 4 ssauyoIy oideusise} XeW | o
| > <> [44 [+13 o€ [ww] Yy yydap -paquis sApdayg | § &
| 7 - TET
09 0S [+14 [ww] *y ajoy jjup jo ydep ‘uiy | 2
m.TlIL’;’i - W oL [ os [ 26 oz | - Jos [z o] -Jo|a]- [ww] %) sseusIY) ajqeua)Se) ‘Xely 5,
o 0 - sy - ov - [wiw] y yidep paquia aaoay3 | & 2
~ 0L - 59 - S5 - [ww] +y sjoy [up Jo tydep iy | 2=
Zl 6 /l [ww] 'p Jeyowelp ajoy aoueies|)
. ‘ . . ¢ ‘ ‘ ‘ ‘ ‘ OA83|S
6C |8VC|L6L|{VYSL|SLL| C8 6C | 8%z |L'6L|¥'GL|G'LL| 28 | [ww] 9 uoisuedxa Jo yyBua m €l ol [Www] MS S¥el INU SSOI0. YIPIM
‘ Joyoue wiN] | juswow anbio
021 | 0¥z | 00 | OVt | 281 | 001 | 0zL | OvZ |00 | OpL | zEL | 00K |[ww] Yy e e % e i N -
.mcoo | B) 4 3 2 o 3 o) g a 2 v (apoo Jepal) Buiepy pesH
v'sl|ezL| 6 | 9L|8G | v |¥SL| 22l | 6 |9L]|8G |y | wu ¥p aU} J& JajoWEIp JeyS ovl | ozL | 8oL | 06 | 89 |GLL | 26 | sL | 45 | S8 | S9 | oS [ww] | ybua Joyouy
. aInxiy oL 8 9 [ww]°p yq |up Jo JojowWelp [eulWON
ww Xew Xij;
S5 | GvL| Gez| 22 | 8 | 5 | ot | Gzb | S0z | 0L | 2L | G |[ww] V10 ssewpopy wnwpEp T T s =TT T==T=T=
o | g S G S S R R B} R _ o | g ey ainyxy S s | e S s < =3 £ S R 5] S
1O SS8UNOIY} WNWIUIN 22|28 |g |38 |a|8|&|8& |8
o o ©
0CIN [9LIN |ZLIN ([OLIN| S8IN | OIN |OCIN| 9LIN |ZLIN [OLIN| SN | OIN 9zIs Joyduy
yjdap juawipaquwa pasnpay | yydap juswpaquwa piepuels
suoisuawip Joyosuy "y ]
_05 7
wr G "ulw abelane o) pasiueaieb dip-joy ‘|@8)s uogJed 4-VSH
(91€) vV |o®)s ssoulels d-VSH llog
wrl G "ulw 0} pasiueAleb ‘[os)s uogied VSH !
leliaje yed P
Ayjenb jeusjep #y yjdap abeioyosue aAoays pue ty ajoy [j1p jo yydap :spejap buipes
oyoue pnis | VSH oyoue pnis | VSH

Feb 2012

Page 7




10z/2 8¢l

‘paonpal
aq 0} aAney speo| ubisap ay) (souelsip abpa |eonuo) Buoeds |eonuo ueyy Jsjews (souelsip abpa) Buioeds o4

ZLL | 96 | 00k | S9 | SS - ]SSk |9cL|soL| S§L | SL | 09 [ww] d-VSH

LLL| 96 | SL | €9 | €5 | SV | GSL | 92L | SOL | GL | 2L | 09 [wuw] VSH

N9 ginjie} 8Uod
8}2J0U00 10} 8oue)sIp 8bpa [eoRD

Gez | 061 | 0GL | OEL [ OLL | - | oOLE | 0SZ | OLZ | OSL | OSL | OZL [ww] ¥-VSH
¥€Z | 261 | 0GL | 92L | SOL | 06 | 60¢ | 2GZ | OLZ | OSL | ¥¥L | 0ZL [ww] VSH
N®g g1n|iey
U092 8)a.10u09 Jo} Buioeds [eonD
GeZ | 061 | SEL | GLL | 06 - |ole |o0gz | 06l |GEL | OZL | OOL [wuw] Y-VSH
Lbe | €LL | GEL | €LL | 88 | GL | 8/z | LzZ | 68) | GEL | OZL | OOL [wuw] VSH

905 ain|iey
Bunyds Joy aoue)sip abpa [eonD

0. | 08¢ | 04C | 0€C | 08L | - | 029 | 00S | 08€ | 0/Z | OVC | 00T [wuw] ¥-VSH
zey | 9ve | 042 | 922 | 921 | 0SL | oss | vsy | 82¢ | 02z | ovz | 00z [ww] VSH
aw.‘_ow
aJn|iey Bunyds 1oy Buioeds jeonu)
GLL | 00L|0OL| S9 | SP | - |GSL|GeL|O0OL| SL | 09 | 0OS [wuw] d-VSH
GLL|00OL|00L| G9 |Gy | OF | szL|soL| 06 | 9 | 09 | oS [wuw] VSH
Uy goue)sip a6pa wnwiuly
0oL |00l | ooL| g5 | g | - |[SOL|[oOL|ooL| s9 | o5 | o¥ [ww] ¥-VSH
00l | 00L | OOL| G5 | S€ | g€ |GOL | 06 | G2 | G5 | 0S5 | OF [ww] VSH

Ul Bujoeds wnwiUlA

Uiy SSeUbOIY)

091 | 0EL | 00L | 00L | 0L | 00L | 0LZ | OZL | OPL | 00 | 00K | 00L | [wwl|  bon oceq wnwiipy

OCIN | 9LIN | CLIN [OLIN | 8IN | OIN | OCIN | 9LIN | CLIN [ OLIN | SIN | 9N azis Joysuy

yidap juswipaquia pasnpay | yjdap juswpaqua piepuels

si9)oweled Buijeg

oyoue pnis | VSH

6¢l 10Z/2
g8l [ gz [odou s [ 2v | - Jewe[cle |61 | 29 ] 9] ¢e NIl M-vsH o
no-jind oN 08 | 09 | 8 | mo-indoN | 291 | 0L | 8 | €%€ [N] VSH 0
0ZN 4 9LIN _ ZLN | OLIN | 8N | 9N | OZIN _ OLIN | ZLIN | OLIN | SN | 9N azis Joyauy
yidap juswpaqua pasnpay | yjdep jJuswpaquia piepuels
sLzdNy, 8y . dPd N = 9PUN souejsisal Jno-|ind ubisaq
829 8'ey 9'0¢ 612 45 69 Ny d-VSH .
£'68 10§ 1'62 0'lz 0zl €9 [Nl VSH
0ZN 9LIN CILN OLN SN 9N 9z|s Joyduy
SLISWL S'PYN aouej)sisal [99)s ubisag

aoue)sisal a|isud} ubisap oiseqg

z,a,__. . nm.._u . nm.nu . nm.uu . nm.c -8y u.vzoz = nm.umz
:(81210U00 payoeIO-UOU AJUO) Soue)sisal Buyds 8yeiouo) -
N'oy . N'EY L NZY LNy L8y 0P N = 2PN :90UB)SISa) BUOD 8}2IOUOD -

g . a.uxoz = 9PdN  :oouejsISal Jno-|nd 8}8I0u0) -

SPHN :@oue)sisal |99)g -

JO an|eA J19MO| 8y} SI 8oue)siIsal ajIsua) ubisap ay|

Buipeo| uoisua|

I0youy S|40Md a1emyos ubisap Joyoue ay} asn asea|d suoieo)dde Bujuslse) xajdwod aiow 104

BJep [EOIUYS) }jIH [BUOIPPE BlIE OZIN PUE 9LIN H-SVH 1o} ejep ubiseq
*JOYOUB 8UO 1O} pljeA ale sanjeA 8yl

(Ayouusooe ou) sloyoue |enpiAlpul uo Bunoe ale speoj Jusloyip ON =
:uoneoyidwis Buimojjoy 8y} uo paseq si poyiaw ubisap ay

(Joyoue S|40O¥d a1emyos ubisep Joyoue sy} asn 0} PapPUSWWOIaI S|} ‘SIY} PIOAB O]
"0 Xauuy ‘L00 OV Buipiodoe sanjeA joexa 8y} ueyl Joamo| a9 ||Im ABY] :BpIS SAeS By}
uo uay} aJe speo| ubisep pajenojed ay| ‘bBuioeds pue soue)sip abpa yoes 1o} paispiSuod
aq uay} }snw si1ojoe} Buouanyul ay| “ebpa SuUO UBY} SI0W JO SIOYDUE OM} UBY} SI0W YIM
sdnoub Joyoue Jo} paidde aq osje Aew poyidw ay]) ‘sioyosue om} jo dnolb e Joj piep =
Buioeds jo aouanju| =
aoue)sip abpa Jo aousnyu| =
yibuaujs 9)9I0U09 JO BOUBNJU| =

"€1-€0-800¢ @nss! ‘L000/66-V13 Ul usAlb eyep Buipiodde Y-YSH pue YSH
Joy @oue)sisal ubisag "D xauuy ‘100 V.13 Buipiodoe poyiaw ubisap ayj Jo uoisiaA paydwig

poylaw ubisap payiduis

Joyoue pnis | VSH

Feb 2012

Page 8




Loz/z 0cl
‘paidde aq Aew
| = N®y Jojoe} B UBY) ‘ww Q| = Buioeds e pue ww Q| s JajdWelp B Ypm Jo (Jajawelp Aue) ww oGl z Buoeds
B YIM juswadlojulal S| aloy} abeloyoue Jo eale a8y} Ul §| ‘Juswadiouldl asusp 1oy Ajuo sajdde Jojoey siy) (e

680 280 G20 @ L0 890 © 99°0 uidep jJuswpaquie peonpay
L @ 26°0 « S8°0 @S0 @ VL0 @040 | Wyidep juswpaqus piepuels

I S WwWQozZ/U + G0 = N

0ZIN 9L LN OLIN SN 9N azis Joysuy

JUSWIDDIOJUIBI JO BOUBN|U|

G'L | 8v'L | avL | 281 | LeL | G2l | BLL | S | 0L | L Ul = Yy
89'cz| o'¢c | ¥'e | Zz¢ | 0'c | 8Z | 9C | ¥Z | TCZ | 02 ypy
SSBUYDIY} [eLId)ew aseq 0 8ousnju|

‘Buroeds Joyoue A1oAs 104 palapISuod a4 jsnw Jojoe) Buiouanyul siy] “s|ieyep
Bumes auy yum ajge} ayy ul usAlb “'s Buioeds Joyoue wnwiuiw Y} uey) Jajjews a4 jou |jeys buioeds Joyoue ay] (e

LS (P85 + 1)6°0 = *9
bs(Vss+1)g'0 = N
nm.,_um\m

3 G6°0 | 060 | G8°0 | 08°0 | S2'0 | 020 | 90 | 09'0 | SSO

l 60 | 80 | L0 | 90 | SO | ¥'0 | €0 | 0 10 Ns/s

LEL 10z /2

"aoue)sip abpae A1oAs 10} PaIapISU0D 8q JSNW siojoey Buipusn|yul 8say] 's|ielep
Bumes sy} yum a|qey ayy Ul usAlb o souejsip abpa wnwiulWw 8y} UeY} JB|[BWS 4 JoU |[eys souelsip abpa ayl (e

L | se'0 ] 060 | s8'0 | 08'0 | s2'0 | 0r'0 | s9'0 | 09'0 | ss'0 | Ls(NPop + )60 = Ny

L | 260 | ¥6°0 | L6°0 | 88°0 | S8°0 | 280 | 620 | 920 | €40 LsN®opg'0+ 20 =Ny

I 60 | 80 | L0 | 90 | SO | ¥'0 | €0 | Z' 10 N*9j0

(e @2UB)SIp 96pa Jo sousnju

901Mas AIOSIApE [B21UYD8) 1}|IH 10BIU0D 8ses|d ‘0z pue G| = °9™*°} 1o eyep ubisep Jo4 (g
yibus| apis ww 0G| YIM Sagno uo painseaw ‘Yybualls aAissaidwod 8)a1ouod = 2I°Fy (e

Gs'L 8L Lyl ve'L zTL [ | (a e zn GWW/INGZ®y) = §

(90Z AN3)

09/05 D | SS/S¥ D | 0S/0v D | SYISED | LEIED | OEISZTOD | SZOZD | yoneuisep ybusns )o15u0

yibualys 931210U09 JO adUBNU|
s103o.j Bulouanpuj

"paJapIsuod aq }snw abpa 8y} 0} 8s0j0 sioyoue ay} Ajuo sdnolb Joyoue oA (e

( Buroeds Joyosue jo asuanyuj

‘aoue)sip abpa Aians oy pasapisuod ag }snw siojoe} Bulpuanjul 8say] ‘s|ielep
Bumas ay} yum sjge} ay} ur usAIb “Wo soue)sip abpa wnwiuiw 8y} Uey) Jajjews ag Jou |jeys aoue)sip abpa ayl (e
L5 (0P +1)60 = *9
LS (VP +1)6'0 = NYy

3 G6°0 | 060 | G8°0 | 080 | S0 | 0.0 | G9'0 | 09'0 | SS°O

Ls®P0pe0+ 20 = Yy
LsN®ope0+ 20 =Ny
na;uU\O

3 16°0 | ¥6°0 | 160 | 88°0 | S8'0 | 280 | 6.0 | 920 | €20

z.._onv\nv

(¢ @duessip 8bpa jo sousnju

90IAI9S AIOSIAPE [BOIUYD8) })IH 100D Bsesld ‘0z pue G| = °9™°} jo eyep ubisap Jo4 (q
yibua| apis ww 0G| YIm sagnd uo painseaw ‘Yibualls aAIssaIdwod 9)aIouod = 2ay (e
el 8L Ll ve'L zeL [ L (a(e zZUW/NGZPI™FY) = §

(902 AN3)
uoneubisap yjbuaiys 9)910u0)

09/06 J | SS/SY D | 0S/0¥ O | SP/SED | LE/OE D | 0€/ST D | S2/0C D

yjbua.js 93010U09 JO BOUBNJU|

si10joe} Bujduanyuj

9)2J0U0D PAYOEBID-UOU IO} PBIBPISU0D 8 Ajuo Jsnw doue)sisal Buiyds (e

V62 | 2'LL | G8 | 69 | 8G | - | lee|6'Ge | L'y | 66 | €6 | VL [Nv] Y-VSH N
Vez | 24 [ 6L | 18 | 0L | 9% | V'se [ 6'Ge | L'6L | 6L | T | VL [N] VSH 0
OZIN | OLIN | ZLIN [OLIN | SIN | OIN | OZIN | 9LIN | ZLIN [ OLIN | SIN | 9N az|s Joyosuy
yydap juswipaquia pasnpay | yidap Juswpaquwa piepuels

S'L 2O z.mc . am.—_u . aw.nu . aw.N.h. . nw;@ 3T o.uMoZ = nm.va © aouejsisal buipds ubisag

N'oiy . N'ey . N7y . N'ly . 8) . 0Pd N = OP¥N 90UB)SISa SUOD 3}819U09 ubisaq

Joyoue pnis | YSH

TS| VL] L6 | 9 | P - g'el | 92k | ¥OL | 09 | O | LT [Nl d-VSH o A
TSL| VIV | 26| 9% | vT | 81 | T8l | 9| 88 | 8% | 0% | LT [N1] VSH o
OZIN | 9LIN | ZLIN |OLIN | SIN | OIN | OCIN | 9LIN | ZLIN | OLIN | 8IN | 9N az|s Joyosuy
yidap jusawpaqua pasnpay | Yyidap Juswpaquia piepuels
§1=om) vy .9y 8). 0P8 A = 2PHA . BOUR)SISAI 96D 9)910U0d ubisag
018 | 667 | 641 | L6 | 02 - 0L | LVS | v'ee | 6'LL | T'hL | G'8 [Ns1] d-VYSH dwpy p
0'18 | 6'6Y | 8'€T | €81 | ¥'0L | S'S | 0L | L'VG | ¥'6E | 8'€T | T'VL | S8 [Ns1] VSH 0
OZIN | 9LIN | ZLIN | OLIN | BIN | OIN | OCIN [ 9LIN | ZLIN | OLIN | 8IN | 9N zis Joysuy
yidap juswpaqua pasnpay | yidap jJuswpaquia piepuels
S =omj Ny . Ny . Ny Ny . ). 4Py A = 0PN goue)sisal Jnofid 8jeiou0d ubisaq
829 g'ey Lo €l €L 4 Nl ¥-VSH iy
89 144 v've 9'Gl 9'6 zs [N>l] VSH
0z 9LN ClLN OLIN SIN 9N 9zIs Joyduy

(FVSH) &1 (vSH) SZ') = S s'P¥p @oue)sisal |99)s ubiseqg

aouejsisal Jeays ubisap oiseq

vy.uy-9y.9). Q.Eo> = 2Pp :90ue)sisal abpa 8}210u0) -
R R R R Rt R :90ue)sisal Jnokid 8jaIouo) -
SPUp :@oue)siIsal |99)g -

JO an|eA JaMo| 8y} SI 8ouejsisal Jeays ubisep ayl

Buipeoj Jeays

Joyoue pnis | VSH

Feb 2012

Page 9




Loc/e

cel

€el

Loz/e

- uBlsa( Joyouy, uonoss 9as BuIPEO| Jeays pue Uuoisus) PauIquiod J04

Buipeo| Jeays pue uoisua} pauiquiod

"uliy goue)sip abpa wnwiuiw

By} pue s Buioeds Joyoue wnwiuiw sy} Uey} J|[EWS a4 JoU [[Bys soue)lsip abpa sy} pue Buioeds Joyoue syl (e

00°L | €6°0 | 98°0 | 620 | L0 | €9°0 | ¥50 | S¥'0 | ¥E€0 | 220 LS o {O-gmup =4y
S'L2 | seL | T | S0 | 60 | S20 | 90 | S¥'0 | €0 | SLO o)y
SSaUYd1Y} |[elia)ew aseq Jo asuanjju|
z L2V | oS’ | geL | €2h | wLL | L0°1 L g 9y

A
o081~ ,06 | oS8 08 oSL 0L 59 009 | oSS - <0 9 9lbuy

abpa aauy ay) o0} Jejnoipuadiad uoyoauip ay} pue paijdde peo| usamjaq ajbue jo asuanpu|

‘paidde aq Aew

= N2y joj0e} B UBY) ‘WW Q| = Buloeds e pue ww Q| S Ja}awelp e yum Jo (Jejawelp Aue) ww 0G| = Bupeds
B U)M Juswadiojuial si alay) abeioyoue jo ease dy} Ul §| ‘Juswadiojuldl asuap Joj Ajuo sealdde Jojey siylp (e

680 ¢80 ©SL'0 @ L0 890 ©59°0 uidep juswpaquie peonpay
L 260 580 @S0 @ VL0 @020 | wdep juswpaqu piepuels

L S WWQozZAy + 60 = N°

0zZIN 9L LN OLIN 8N 9N azis Joysuy

juawavIojuldl JO ddUANJJU|

‘Buioeds Joyoue AIaAs 10} palapIsuod aq Jsnw Jojoey Buiouanyul siy] “s|ielep Bumies
By} UM 8|qe} 8y} Ul usAib “Ws Buioeds Joyoue winwiuiWw By} Uey) Jojlews aq jou |jeys Buoeds Joyoue syl (e

3 S6°0

060

S8°'0

080

GL'0 | 020

G9'0

090

S50

Ls(NPs/s+ )60 = Ng

2 60

80

2'0

9'0

s'0 | v'0

€0

z0

10

N'Rg/g

( Buroeds Joyosue jo asuanjyuj

Joyoue pnis | YSH

680 [Ss'0) [92'0) [26°6 [29'6 [8€'6 [60'6 |68 [0S'8 [L2'8 [26°2 [29°L |e€'L [v0'L [v2'9 | 06'CL | 0SS
1€'0} [200) |26 |S¥'6 [£1'6 [88'8 [6G'8 | LE'8 [20'8 [€2°Z [S¥'L [91°L 28’9 [65'9 [og'9 | €0zl | ses
8.'6 [05'6 [22'6 |¥6'8 [99'8 [6€'8 [ 118 [€8°2 [GS'Z [Z2°L [66'9 |LL'9 |[ev'9 [GL'9 [28'G| 8L'LL | 00'G
92’6 [66'8 [22'8 |S¥'8 [£1'8 [06'L [€972 [9€'2 [80°Z [18'9 [#S'9 |29 |66'G [2L'S [S¥'S | s€oL | SiY
GL'8 [6v'8 [2T'8 |S6°L [69°L [2v'L [91°L |68'0 [€9'0 [9€'9 [0L'9 |€8G |/S'S [0€'s [#0'S | SS'6 0S'v
GZ'8 [66'L [€4°L |L¥'L |22°L [96'9 |09 [v¥'9 [8L'Q [€6'S [29°G |I¥'G [SL'S [06% [#9'v | 928 sZ'y
G’/ |02 [ST'L |00°L |GL'9 [0S'9 [S2'9 |00°9 [SL'S |0S'S [S2'S |00'G |SLY [0S'w [Se'v | 008 00y
9¢°, [20°L [8279 |¥S'9 |62'9 [G0'9 [18°G |GG [€€'G [80'S [¥8y [09'F [9€y [2v [28°€ | 9272 SL'e
GG'9 [GS'9 [L€'9 [80'0 [S8'G |19'G [8€'S |vL'S [16'Y [89'Y [¥¥'y |12y |86'C [vL'E [IG'€ | SS'9 0S‘e
98'G [98'S [98°G |€9'G [L¥'S [8L'S |96V €LV LS’y [82'W [90 |€8¢ |19'E [8€'€ [GL'E | 98'S 6Z'e
0Z's [02's [02'G 0TS [86'% (9L [SS'Y €€y L1y [06'C [89°€ |9¥'E |ge'e [€0'c [18'2 | 0TS 00°c
95y [9S'v [9S'Y |96y [9S¥ [SE'W |[SL'Y [v6'E [€L'€ [2S'E [2e€ |L1'e [06'C [69C [6v'2 | 9y | SiT
G6'€ [S6'C [S6'€ |S6'E |S6'C [G6'C [92°€ [9S°E |9e'E [9L'e [96'C |LLT |1ST [L€T [LL'2 | S6'E 0s'C
8€'c [8€'c [8€c |8€'e [8e'E [8€'E [8€€ [61'E [00°E [18C [€9°C |v¥'C [SC'C [90C [88°L | s8€'E (144
€8'C [€8'C |€8°C |€8'C |€8'C |€8'C [€8'C |€8°C [S9'C |Lv'C |0ET (2L |¥6°L [22°L [6S°L | €8T 00z
2e'C [2e'T [ec |2eT |eee [eee [ec [2eT [eee |Gl [86°L |28k |99t [6v°L [eeL | zeT SL°)
¥8°L [¥8°L [v8'L |¥8'L [¥8°L [¥8'L [¥8'L [¥8'L [¥8°L [¥8°L [89'L |€S'L [8€'L [22t [207L | ¥8'L 0s‘L
ov'L [ov'L [ov'L [o¥'L [ov'L [ov'L [or'L [ov'L [ov'L [ov'L [o¥'L [92°L [2L°L [860 [¥8°0 | OF'L sZ'L
00°L [00°L [00°} [00°L [00°L [00°L [00°L [00°L [00°L [00°L [00'L [00°L [88°0 [S2'0 [€9'0 | 00°'L 00°L
G9'0 [S9°0 [S9°0 [S9'0 [S9°0 [S9°0 [S9'0 [S9°0 [S9°0 [S9°0 [S9'0 [S9'0 [S9'0 [vS0 [ev'0 | S9'0 S0
GE'0 [S€'0 [SE'0 |S€E°0 [SE'0 (S0 [S€'0 [SE'0 [Se'0 [GE'0 [Ss€'0 |Sse0 |sefo [seo [Zz'0 | se0 0S°0
GZ'LL [ 0501 | G2°6 | 00°6 | G2'8 [ 0S'Z [ S2'9 | 00°9 [ G2°'G [0SV [ S.'€ [ 00°€ | S2°2 | 0S°L | S2°0 | soyoue o
#y/s sioysue om} jo dnoig a|buig ur
§0-([o-€l/s+1)- g (°Pup) =7
v} :9oue)sisal abpa 9)210u0d 10y} , ddUR)SIp 9Bpa pue Buioeds Joydsue jo aduanju|

Joyoue pnis | VSH

Feb 2012

Page 10




: HSA Stud Anchor

SETTING OPERATION

Hilti HSA Stud Anchor

Versions :HSA /HSA-F /HSA-R

Accessories : NIL

Reference : Product Information / Fastening Technology
Manual

Setting Operation:
1. Dirill the hole with drill bit

2. Blow out dust and fragments

3. Install anchor

4. Apply appropriate tightening torque

e s ]
'I."I.'II.'II.'I.'l'I.'l'I.'
II II'II'II'I '

Customer Hotline: Hong Kong 8228 8118 | Macau 00800 8228 8118 | (Mon — Fri 8:30 am — 6:00 pm / Sat 8:30 am — 1:00 pm)

Page 1 of 1

Page 11 Feb 2012



Summary of Test result of Hilti HSA Stud Anchor

Sample Description: [supplied by Hilti (Hong Kong) Ltd.]

Product:
Size:
Material:

Coating:

HSA

M6 - M20

Galvanized steel

min. 5 microns meter thick of zinc plating

Concrete Description: [supplied and tested by ETS Testconsult Ltd]
30MPa at 26days
Grade 30/20

Concrete Strength:
Mix Proportion:

Laboratory Information:
Name of Laboratory: ETS-Testconsult Ltd (HOKLAS No. 022)

BS 5080: Part 1: 1993
BS 5080: Part 2: 1986

Test Method:

Date Tested: July-05
Test Result:
Size Type Result 1 | Result 2 | Result 3 | Result4 | Result 5 Avg. Std. Characit.
Value Dev. Load
[KN] [KN] [KN] [KN] [KN] [KN] [KN]
HSA M6 Tensile | 12.30 13.20 13.04 11.04 12.13 12.34 0.86 9.41
Shear 9.71 8.89 8.74 8.66 8.52 8.90 0.47 7.30
HSA M8 Tensile | 21.24 25.04 23.82 24.68 21.44 23.24 1.80 1712
Shear 16.20 17.20 16.40 16.30 16.30 16.48 0.41 15.09
HSA M10 Tensile | 25.11 25.01 28.51 27.11 29.04 26.96 1.87 20.58
Shear 28.60 26.90 28.60 28.10 28.20 28.08 0.70 25.70
HSA M12 Tensile | 40.22 42.41 40.73 48.66 45.82 43.57 3.59 31.32
Shear 46.30 44.70 43.30 43.60 47.70 4512 1.86 38.78
HSA M16 Tensile | 67.83 64.61 70.32 63.54 69.08 67.08 2.90 57.18
Shear 76.80 72.30 71.10 79.20 71.70 74.22 3.58 62.02
HSA M20 Tensile | 104.30 107.20 106.60 105.70 107.20 106.20 1.23 102.02
Shear | 102.70 99.50 106.80 110.40 107.10 105.30 4.24 90.84
Page 12 Feb 2012



ExEHAABERNETRLADA
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel ;26958318 E-mail : etl@ets-testconsult.com
Fax :2695 3944 Web site ; www.ets-testconsult.com

le L. n i _
Client Hilti (Hong Kong) Lid Report No. : FDAS0580
Address 17/F, Tower &, China HK Gity, 33 Canton Road, TST Test Date  : 15-Jul-05
Project .- Report Date : 25-Jul-05
Test Location - ETL's Laboratory 7 Page No. 2073
Ancher Type M6, HSA Stud Anchor-Galv. Steel Test Method : BS 5080:Part 1:1993 C1. 7.1

Amb.Temperature 23°C

Load (kN) Dial Gauge Reading (mm)
Sample 1 Sampie 2 Sample 3 Sample 4 Sample 5
- 0.00 0.00 0.00 0.00 0.00 0.00
1.25 0.00 0.00 0.c0 : 0.00 0.00
2.50 0.00 0.00 0.01 .03 0.00
375 0.02 oo 0.05 0.05 0.01
5.00 0.10 0.03 0.11 |- 0.05 0.04
8.25 0.23 0.07 0.21 0.08 0.06
7.50 0.41 0.17 0.49 0.59 0.14
B.75 0.87 0.39 0.98 2.70 0.15
10.00 1.43 1.37 1.67 A.77 . 0.57
11.25 2.44 2.26 2.06 - 1.21
12.50 - 3.40 289 - -
13.75 - - I - -
15.00 - - - - -
~16.25
17.50
Failure Load (kN) . 12,30 13.20 13.04 11.40 12,13
Fatilure Mode F7 F7 F7 F7 : F7
Average Failure Load (kN) ] 124
b Standard Daviation (kN) - 0.73
A) Test Appratus Load Cell : MayWood 3000 {(ET/930/07/01) (200kN} S/N : 1000136752
Load Cell Indicator : AD813 (ET/930/07/02) SN :-
Cylinder : Enerpac RCH121 (ET/203/14) SN -
Digital Dail Gauge : ET/430/02
B) Structural member Grade 35/20D
C) Anchor installed date -
|D) Failure Modes P = No sign of failure in anchor and/or structural member F1 = Failure of anchor or its accessories
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Failure of structural mermber in a shear cone F5 = Failure by continuous displacement or decreasing load
F6 = Failurg in structural membar with ctack radiates cutward from anchor
F7 = Other faflure mods(s) : Anchor Breaking
E) Span width{mm) 280
F) Edge distance(mm} 140
" |@) Drilt hole sizefmm) 8
H) Drill hole depth (mm) 55

Page 13 Feb 2012



EXEHAABEM AR LA
ETS-TESTCONSULT LIMITED

8/F., Biock B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan,
Tel :26958318 E-mail : etl@ets-testconsult.com

Fax :2695 3944 _ Web site ;| www.ets-testconsuli.com

ShﬁaLLQas!lesLQn_AngthB_éu

Hong Kong

Client Hilti (Hong Kong) Ltd Report No. : FDAS0676
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestDate  : 03-Aug-05
Project - Report Date : 11-Aug-05
Test Location ETL's Laboratory Page No. :20f3
Anchor Type M6 HSA Stud Anchor Galv. Steel Test Method : BS 5080:Part 2:1986 G 7.2
. Amb.Temperature 24°G
Dial Gauge Reading {mm}
Load (kN) Sample 1 . Sample 2 Sample 3 Sample 4 Sample 5
0.00 0,00 0.00 0.00 0.00 0.00
0.84 0.00 0.00 ) 0.00 0.00 0.01
1.68 0.00 0.00 0.00 0.00 0.03
- 2.52 0.00 0.01 0.02 0.06 0.11
3.36 0.15 0.21 0,20 0.32 0.24
4.20 0,53 .47 0,33 0.52 0.46
5.04 0.79 0.88 0.48 0.66 0.65
588 1.06 1.12 - 0.63 1.24 1.13
6.72 1.26 137 1.00 1.62 1.72
7.56 1.58 1.68 1.35 188 1.98
8.40 2.01 2.2 277 2.79 2.99
9.24 2.85 - - - -
10.08 - - - - -
1092 - - - - -
11.76 - - - - -
12,60 - - - - -
Failure Load (kN) 9.71 8.89 8.74 8.66 8,52
Failure Mode F7 F7 F7 F7 F7
Average Failure Load (kN), 8.90
Standard Deviation (kN) 0.47
A) Test Appratus Load Cell : Maywoed C3000 (ET/930/06/01) (S00kN) S/N : 174528
{.oad Cell Indicator : AD813 (ET/930/06/02) S/N:-
Cylinder : Enerpac RCH302 (ET/903/07) SN C3sC
Digitai Dail Gauge : ET/015/35
B) Structural member Grade 35/200
C) Anchor instailed date
D) Failure Modes P = No sign of failire in anchor and/for structural member F1 = Failura of ancher or its accessorias
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Failure of structuraf member in a shear cone F5 = Failute by contirous displacement or dacreasing load
F8 = Failure in striretural membar with orack radiates outward from anchor
F7 = Other failure moda(s) : Anchor Breaking
E) Span width(mm) 110
F) Edge distance{mm) 110
G) Drill hole size(mm) ]

H) Drifi hole depth {(mm) 55

Page 14

Feb 2012




EEXERDHDAABERERAA
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Gentre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :26058318 E-mail : el @ets-testconsult.com
Fax : 2695 3944 Web site : www.ets-testconsult.com

Client Hilti (Hong Kong) Lid Report No. : FDAB50581

Address 17/F, Tower 6, China HK City, 33 Canton Road, TST . Test Date : 15-Jul-05

Project - Report Date : 29-Jul-05

Test Location ETL's Laboratory Page No. :20f3

Anchor Type M8, HSA Stud Anchor-Galv. Steel Test Method : BS 5080:Part 1:1993 CI. 7.1

Amb.Temperature 23°C

Load (kN) Dial Gauge Reading (mm)
Sample 1 Sample 2 Sampie 3 Sample 4 Sample 5
0.00 0.Q0 0.00 0.00 . 0.00 0.00
2.01 0.00 0.00 0.00 0.01 0.00
4.02 0.00 - 0.00 0.01 0.03 6.01
8,03 0.00 - 0.00 0.03 0.06 0.02
8.04 0.01 : 0.00 0.25 .10 0.04
10.05 0.06 0.05 0.96 0.15 0,08
12.06 0.13 0.16 1.74 0.28 0.18
14.07 0.32 0.39 2.78 041 0.46 .
16.08 0.70 ' 0.78 3.62 1.62 0.87
18.09 1.53 1.68 4.79 2,24 1.96
20,10 3.94 2.45 5.98 ) J.04 3.58
22.11 - 3,58 7.64 4.26 -
2412 - 5.45 - 6.18 -
2613 - - - - -
28.14 - - - - -
Failure Load (kN} 21.24 25.04 23.82 24.68 21.44
Failure Mode F5 F7 F5 F7 F5
Average Failure Load (kN) 23.24
Standard Deviation (kN) 1.80
A) Test Appratus Load Cell : Maywood C3000 (ET/A30/07/01) {(200kN) S/N : 10001367562
Load Gell indicator : - AD813 (ET/930/07/02) S/N:-
Cylinder ; Enerpac RCH121 (ET/903/14) SIN:-
Digital Dail Gauge : ET/430/02
B) Structural member Grade 35/200
C) Anchor installed date
D} Failure Modes P = No sign of failure in anchor andfor structural member F1 = Failure of anchor or its accessories
F2 = Failure in strectural member F3 = Puif out of anchor
F4 = Failure of structural member in a shoar cone F5 = Failure by continuous displacement or decraasin_g Toad
F6 = Failure in structural member with crack radiates outward from anchor
F7 = Other failure mode(s) : Anchor Breaking
E) Spar width(mm} 330
F) Edge distance(mm) 165
&) Drill hole size{mm} 8
H) Drill hole depth (mm) 65

Page 15 Feb 2012

T



Tel
Fax :2695 3944

1 2695 8318

Shear Load Test on Anchor Boit

E-mail
Web site

EERHBANAEMBERAS
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
: eti@ets-testconsuit.com
: www. ets-lesiconsuit.com

. TEST REPORT

Client Hilti {(Hong Kong) Lid ReportNo. ! FDAS50678
Address 17/F, Tower &, China HK City, 33 Canton Road, TST Test Date : 03-Aug-05
Project - Report Date : 11-Aug-05
Test Location ETL's Laboratory PageNo. . ; 20f3
Anchor Type M8 HSA Stud Anchor Galv. Steel Test Method : BS 5080:Part 2:1986 Gi 7.2
Amb.Temperature 24°C
Load (kN) Dial Gauge Reading (mm) . _
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 0.00
1.55 0.03 601 0.00 0.00 0.00
3.10 0.08 0.05 0.00 0.00 0.00
4.85 0.22 0.07 0.02 0.14 0.03
B 6.20 0.51 0.22 0.44 0.31 0.43
7.75 0.73 0.57 0.71 0.54 0.69
9.30 1.00 0.91 1.05 0.95 0.84
. 10.85 1.34 1.26 1.40 1.70 1.32
N 12.40 1.96 173 1.69 2,54 1.95
13.95 2,97 2.62 2.10 4.02 2.89
15,50 410 412 3.565 8.63 4.97
17.05 - 5.82 - - )} -
18.60 - - - - -
20.15 - . - - -
21.70 - - - - -
23.25 - - - - -
Failure Load (kN) 16.20 17.20 16.40 16.30 16.30
Failure Mode F7 F7 F7 F7 F7
Average Failure Load {kN) 16.48 '
Standard Deviation (kN) 0.41
A) Test Appratus Load Call : Maywood C3000 (ET/930/06/01) (S00KN) S/N : 174529
Load Cell indicator : AD813 (ET/230/06/02) SM:-
Cytinder : Enerpac RCH302 (ET/903/07) S/N : 53691C

B) Structural member

C) Anchor Installed date

D} Failure Modes

E} Span width(mm)

) Edge distance(mm)
G) Drilt hole size{mm}
H} Drill hole depth (mim}

Digital Dail Gauge :

Grade 35/200

ET/916/35

P = No sign of failure in anchor andfor structural mamber

F2 = Failura in structural member

F4 = Failura of structural member in & shear cona
F& = Fallure in structural merber with crack radiates outward from anchor
F7 = Other failure mode(s). : Anchor Breaking

120
130
8
65

F1 = Failure of anchor or its accessories

F3 = Pull cut of anchor

. F5 = Failurs by continuous displacement or decreasing toad

Page 16

. Feb 2012




EREXBEHAAERMERA T
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong industrial Cenire, 34-36 Au Pui Wan Sireet, Fotan, Hong Kong
Tel :2695 8318 E-mail : eli@ets-testconsult.com
Fax : 26953944 Web site  : www.ets-festconsult.com

Client Hilti {Hong Kong) Ltd Report No. : FDAS0582

Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestbDate @ 15-Jul-05

Project - Report Date : 29-Jul-05

Test Location ETL's Laboratory Page No. :20f3

Anchor Type M10, HSA Stud Anchor-Galv. Steel Test Method : BS 5080:Part 1:1993 Cl. 7.1

Amb. Temperature 23°C

Load (kN) Dial Gauge Reading (mm)
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.60 0.00 0.00
2.06 0.00 0.02 0.00 0.00 0.00
4.12 0.00 0.03 0.00 0.00 0.03
} 6.18 0.00 0.06 0.02 0.00 0.08
B 8.24 ~0.00 0.08 0.04 0.00 0.11
10.30 0.00 010 0.07 0.04 0.16
12.36 0.06 0.15 0.09 0.25 0.18
14.42 0.06 ‘ 0.24 0.17 0.37 0.29
16.48 0.28 0,33 G.21 0.83 0.39
18.54 0.46 0.77 0.27 1.78 0.49
20.60 Q.70 1.55 041 2.89 0.7
22.66 1.73 267 0.72 3.9 1.23
24,72 3.14 6.98 | 1.73 4.74 2.18
26.78 - - 2.54 6.33 3.42
28.84 - i - - - 7.11
Failure Load (kN}) 25.11 25.01 28.51 27.11 29,04
Failure Mode F4 F4 F5 F5 F5
: Average Failure Load (kN} ) 26.96
k Standard Deviation (kN) 1.87
A) Test Appratus Load Call : Maywood C3000 (ET/930/07/01) {200kN) S/N : 1000136752
Load Cell Indicator : ADB13 (ET/930/07/02) SN :-
Cylinder : Enerpac RCH121 (ET/903/14) SN -
Digital Dail Gauge : ET/430/02
B) Structural member Grade 35/20D
C) Anchor installed date -
D) Failure Modes P = No sign of failure in anchor and/or structural mermber F1 = Failure of anchor or its accesscries
F2 = Failure in structural member F3 = Pult out of anchor
F4 = Failure of structural membar in a shear cona F5 = Failure by continuous displacement or decreasing load
F§ = Failure in structurat member with crack radiates outward from anchor
F7 = Other failure moda(s) : Anchor Breaking
[E) Span width{mm) 350
F) Edge distance{mm) 175
i G) Drill hole size{mm) 10
’ H) Drill hole depth (mm) 70

Page 17 | Feb 2012



EXEHAAERSIRQT
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :26958318 E-mail : etl@ ets-testconsult.com
Fax ;2695 3944 Web site : www.ets-testconsult.com

ST REPOF

- Shear Load Test on Anchor Bolt
Client Hilti (Hong Kong) Lid " Report No.
Address 17/F, Tower 6, China MK City, 33 Canton Road, TST ' Test Date
Project - Report Date : 11-Aug-05
Test Location ETL's Laboratory Page No. 1 20f3

Anchor Type M10 HSA Stud Anchor Galv. Steel
Amb.Temperature 24°C

: FDAS0682
: 03-Aug-05

Test Method : BS 5080:Part 2:1986 Cl 7.2

Dial Gauge Reading {mm)

C) Anchor installed date -

D} Faifure Modes P = No sign of failure in anchor and/or structural mambar
F2 = Failure In structural member

F4 = Failure of structural member in a shear cone
F6 = Failure in structural member with crack radiates outward from anchor

F7 = Other failure made(s) : Anchor Breaking

F3 = Puli cut of anchor

E) Span width(mm) 140
F) Edge distance(mm} 140
G) Drilt hole size{mm) 10

H) Drill hole depth (mm) 70

Load (kN) Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 o 0.00 0.00 0.00 0.00 0.00
2.24 0.00 0.00 0.00 0.00 0.00
4.48 0.00 0.00 ’ 0.00 0.01 0.00
672 _ 0.02 0.03 0.00 0.07 0.03
8.96 0.29 0.1 0.05 0.24 0.21
B 11.20 Q.51 0.27 0.19 - 042 0.39
13.44 - 077 046 - 0.41 0.68 0.60
15.68 0.97 0.73 0.61 0.84 0.84
17.92 1.34 1.11 0.79 0.99 1.15
) 20.16 . 1.88 1.68 1.01 1.25 1.64
22.40 : 2.61 2.18 1.21 1.50 2.48
24,64 - 3.72 3.58 1.79 , 2.11 3.47
26.88 5.67 5.82 2.82 366 5.05
] 29.12 - - - - -
31.36 N - - - - -
33.60 - - - - -
Failure Load (kN) 28.60 26.90 28.60 28.10 28.20
Failure Mode F5 F7 F7 F7 F7
Average Fallure Load (kN}) 28.08
Standard Deviation (kN) 0.70
A) Tast Appratus Load Cell : Maywood C3000 (ET/930/06/01) {S00kN) 5N : 174529
Load Cell Indicator : AD813 {(ET/930/08/02) S/N:-
Cylinder : Enerpac RCH302 (E1/903/07) SN C36910
Digital Dail Gauge : ET/915/35
B) Structural member (Grade 35/20D

F1 = Failura of anchor or its accessorigs

F5 = Fallure by continuous displacemnent or decreasing load

Page 18

Feb 2012




EEXRBHANAEPNERL2A
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tet : 26958318 E-mail : etl @ ets-testconsuit.com
Fax :2695 3944

Web site

Tensile Load Test on Anchor Bolt

: www.ets-testconsult.com

Client Hilti (Hong Kong) Ltd Report No. : FDAS0583
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST Test Date  : 15-Jui-05
Project - ' Report Date : 29-Jul-05
Test Location ETL's Laboratory Page No. 1203
Anchor Type M12, HSA Stud Anchor-Galv. Steel Test Method : BS 5080:Part 1:1993 Cl. 7.1
Amb.Temperature 23°C
' - Dial Gauge Reading (mm)
Load (kN) Sample 1 Sample 2 Sample 3. _Sampie 4 Sample 5
0.00 0.00 0.00 0.00 0.00 0.00
3.97 0.00 0.00 0.00 0.00 0.00
794 0.01 0.00 0.00 0.00 0.00
11.91 0.01 0.01 0.09 0.00 0.00
15.88 0.02 0.06 0.39 0.00 .00
19.85 0.08 0.14 0.63 0.06 0.03
23.82 0.34 0.22 0.90 0.10 0.41
27.79 0.94 0.46 1.07 0.43 0.93
31.76 2.59 0.97 1.12 1.04 1.17
3573 4.21 3.62 2.19 1.78 1.67
39.70 6.64 8.86 4.58 2.55 2.94
43.67 - - - 3.63 4.22
47.64 - - - 5.86 -
51.61 - - - - -
55.58 - - - - -
Failure Load (kN) 40.22 42.41 40,73 48,66 4582
Failure Mode F5 F5 F5 F5 F5
Average Failure {.ocad {kN) 43,57
Standard Deviation (kN) 3.58
A) Test Appratus Load Celt : Maywood C3000 (ETI930I07101 ) {200kN} SN : 1000136752
Load Cell Indicator : AD813 (ET/930/07/02) SN -
Cylinder : Enerpac RCH121 (ET/903/14) S/N:-

B} Structural member

€} Anchor installed date

D) Failers Modes

£) Span width{mm)

F} Edge distance(mm)
G) Drill hole size{mm)
H) Drlil hole depth (mm)

Digital Dail Gauge : ET/430/02

Grade 35/20D

P = No sign of failure in anchor andfor structural member
F2 = Failure in structural member

- F4 = Failure of structural member in a shear cone
" F6 = Failure in structural member with grack radiates outward from anchor

- F7 = Other failure mode(s) : Anchor Braaking

480
240
12
95

£1 = Failura of anchor or its accessorfas
F3 = Pull out of anchor
F5 = Failure by continuous displacemant or decraasing load

Page 19

Feb 2012




Tel
Fax : 2695 3944

1 2695 8318

E-mail
Web site

EXRHANEERBRAT
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
: eti@etis-testconsult.com
: www.ets-testconsulf.com

Client Hifti (Hong Kong) Ltd Report No.  : FDAS0684
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST Test Date 1 02-Aug-05
Project - ' Report Date : 11-Aug-05
Test Location ETL's Laboratory Page No. :20f3
Anchor Type M12 HSA Stud Anchor Galv. Steel Test Method : BS 5080:Part 2:1986 Gl 7.2
Amb.Temperature 24°C
Load (kN) Dial Gauge Reading (mm)
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 .00
3.51 0.00 0.00 0.00 0.02 0.02
7.02 0.05 0.02 0.02 0.05 0.04
10.53 0.10 0.07 0.15 0.09 0.16
14,04 0.27 048 Q.77 0.17 0.38
17.55 0.64 0.77 1.32 0.34 0.42
21.06 B 1.04 0.98 1.63 0.51 1.54
24.57 1.26 1.30 2.10 0.86 2.02
28.08 1.52 1.52 2.56 1.27 275
31.58 2.03 1.79 3.10 1.71 3.51
35.10 2.69 2.21 3.81 ) 217 4,25
38.61 3.91 2.93 4.45 2.88 5.22
42,12 431 3.72 5.89 3.82 6.32
45,63 8.77 - - - 8.3
48,14 - - - - -
52.65 - - - - -
Failure Load {(kN} 46.30 44.70 43.30 43.60 47.70
Failure Mode F5 F7 F7 - F7 F7
Average Failure Load (kN) 45,12
Standard Deviation {(kN) 1.86
A) Test Appratus Load Cell : Maywood C3000 (ET/930/06/01) {500kN) S/N: 174520
Load Cell Indicator : ADS13 (ET/930/06/02) SMN:- -
Cylinder : Enerpac RCH302 (ET/03/07) S/N: C3631C
Digital Dail Gauge : ET/a15/35

B} Structural member

D) Fallure Modes

{E) Span width{mm)

F) Edge distance(mm)
@) Drilt hole size{fmm)
H) Orill hole depth {mm)

€} Anchor installed date

Grade 35/20D

P = No slgn of failure in anchor and/or structural member

F2 = Failure In structural member .

£4 = Fallure of structural member in a shear cone
F6 = Failura in structural member with crack radiatas outward from anchor

F7 = Dther fallure mode(s) : Anchor Breaking

190
190
12
96

F1 = Failure of anchor o7 its accessories

F3 = Pull out of anchor

F5 = Failure by continvous dispfacement or decreasing load

Page 20

Feb 2012




H) Drill hole depth (mm) 95

EXBHANABEMAERLT
ETS-TESTCONSULT LIMITED
8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :26858318 E-mail : etl @ ets-testconsult.com
Fax :2695 3944 Web site : www.ets-testconsult.com
Client Hilti {(Hong Kong) Ltd _ Report No. : FDA50584
Address 17/F, Tower 6, China HK City, 33 Canton-Road, TST TestDate  : 15-Jul-05
Project - Report Date : 29-Jul-05
Test Location ETL's Laboratory Page No. :20f3
Anchor Type M16, HSA Stud Anchor-Galv. Stesl ' Test Method : BS 5080:Part 1:1993 CI. 7.1
Amb.Temperature 23°C '
Dial Gauge Reading (mrm)
Load (kN) Sample 1 Sampie 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 0.00
6.25 ) 0.0% 0.00 0.00 0.00 o.M
12.50 0.03 0.00 0.00 0.00 0.01
18.75 0.09 0.06 0.00 0.10 0.04 -
25.00 1.49 0.82 0.00 0.22 0.20
31.25 3.05 1.58 0.09 ' 0.79 0.83
~ 37.50 4.58 3.08 0.66 - 1.76 1.78
43.75 673 _4.89 2.35 2.96 3.08
50.00 9.39 6.01 4,39 4.45 4.49
56,25 12.43 10.13 5.87 6.86 572
62.50 17.50 14.29 7.98 11.54 7.67
68.75 - - 11.42 - 11.23
75.00 “ - - - -
81.25 - - - - -
87.50 - - - - -
Failure Load (kN) - 67.83 64.61 70.32 63.54 69.08
Faiture Mode F5 F5 F5 F5 F5
Average Failure Load (kN)j 67.08
Standard Deviation (kN) | 2.90
A) Test Appratus Load Cell Maywood C3000 (ET/230/07/01) {200kN) S/N : 1000136752
Load Cefl Indicater : ADB13 (ET/f930/07/02) - SiN:-
Cylinder : Enerpac ACH121 (ET/903/14) SN:-
Digital Dail Gauge : ET/430/02
B) Structural member Grade 35/200
{C) Anchor installed date
D) Faiture Modes P = No sign of failura in anchor and/er strucfural member F1 = Failure of anchor or its accessorios
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Failure of strictural member in a shaar cone F5 = Faitura by cortinuous displacement or decreasing load
F8 = Failure in structural member with crack radiates outward from anchor
3 F7 = Other failure mode(s) : Anchor Breaking
- E) Span width{mm) 480
F) Edge distance(mm) 240
- G} Drill hole size(mm) 12

[ . Page 21 Feb 2012



Tel

Fax :2695 3944

EEXEHAABHERL T
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
: 2695 8318 E-miail : eti@els-testconsuit.com
Web site www.ets-testconsuit.com

EST REPORT

Shear Load Test on Anchor Boit
Client _Hilti (Hong Kong) Lid ] Report No. : FDAS0686
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestDate [ 02-Aug-05
Project - Report Date : 11-Aug-05 -
Test Location ETL's Laboratory Page No. :20f3
Anchor Type M1& HSA Stud Anchor Galv, Steel Test Method : BS 5080:Part 2:1986 C1 7.2
Amb.Temperature 24°C
Dial Gauge Reading (mm)
Load (kN) Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 0.00
6.33 - 0.00 ’ 0.00 0.05 0.02 0.05
12,66 0.02 : 0.11 0.22 0.06 0.19
1899 137 ) 0.59 0.87 0.36 0.80
2532 207 1.11 i 1.56 0.64 1.57
31.65 . 270 - 1.81 2.24 1.05 2.52
37.98 3.36 320 @ 2.85 1.50 3.50
44.31 4.21 403 3.73 1.93 4.60
50.64 4.71 5.68 4,72 2.46 o 6.36
56.97 5.43 6,91 6.43 3.15 7.60
B 63.30 8.34 8.99 ) 8.03 4.22 8.90
60.63 7.87 - ' -10.70 543 11.01
75.96 1052 - - . 8.13 -
82.29 - - - - -
88.62 - - - - -
94.45 - - - - -
Failure Load {kN) 76.80 72,30 71.10 79.20 71.70
Failure Mode F5 . F7 F7 F5 F7
Average Failure Load (kN) 74.22
Standard Deviation (KN} 3.58
A) Test Abpralus foad Cell : Maywood C3000 (ET/930/06/01) (S00KkN) SN 174520
Load Cell indicator : ADS813 (ET/930/06/02) SN ;-
Cylinder : Enerpac RCH302 (ET/203/07) . SN : G3691C
. Digital Dail Gauge : ET/915/35 '
B) Structural member Grade 35/20D

C) Anchor installed date

(DY Fhilure Modes

E} Span width(mm)

F) Edge distance(mm)
G} Drill hole size(mm)
H) Drill hole depth (mm)

P = No sign of faifure in anchor andfor structural member
F2 = Failure in structural membar

F4 = Failure of structural member in a shear cone
F6 = Failure in structural member with crack radiates outward from anchor

F7 = Other failure mode(s) : Anchor Breaking
230

230

16

115

F1 = Failure of anchor or its accessories
F3 = Pull out of anchor
FB = Failure by continuous displacement or decreasing load

Page 22

Feb 2012




Tel :26958318
Fax : 2695 3944

E-mail
Web site

EREXERBAXEMNBERAA
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Gentre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
: etl@ets-testconsult.com
- www.ets-testconsuli.com

Client Hiiti (Hong Kong) Ltd Report No. : FDAS0585

Address 17(F, Tower 8, China HK City, 33 Canton Road, TST Test Date : 15-Jul-05

Project - Report Date : 29-Jul-05

Test Location ETL's Laboratory Page No. P 20f3

Anchor Type M20, HSA Stud Anchor-Galv. Steel Test Method : BS 5080:Part 1:1993 CL 7.1

Amb.Temperature 23°C '

Dial Gauge Reading (mm)
Load (kN) Sample 1 Sample 2 Sample 3 Sample 4 Sample §

0.00 0.00 0.00 0.00 0.00 0.00
10.01 0.00 0.00 0.00 0.00 0.00
20.02 0.00 0.00 0.00 0.00 0.00
30.03 0.00 0.20 0.07 Q.00 Q.17
40.04 0.54 1.08 0.82 0.81 0.98
50.05 2.01 1.81 1.73 1.73 1.62
60.06 4,07 3.43 3.24 4.01 3.92
70.07 6.02 4.60 5.21 5.82 5.78
80.08 8.39 6.63 6.80 6.25 6.37
90.09 10.89 8.24 8.44 B.03 8.41
100.10 13.02 10.91 11.26 11.05 10.80
110.11 - - B - -
120.12 - - - - -
130.13 - - - - -
140.14 - - - - -

Failure Load (kN) 104.30 107.20 106.60 105.70 107.20

Faflure Mode F5 F5 F5 F5 F5

Average Failure Load (kN) 106,20

Standard Deviation (kN) 1.23

A) Test Appratus Load Cell : Maywood C3000 (ET/930/07/01) (200kN) S/N : 1000136752

Load Cell Indicator ; ADB13 (ET/330/07/02) SMN:-

B) Structural member

C) Anchor installed date

D) Failure Modes

E} Span width{mm)

iF) Edge distance(mm)
G) Drilf hole size(mm)
H) Drill hole depth (mm)

Cylinder :
Digital Dail Gauge :

Grade 35/20D

Enerpac RCH121 (ET/903/14)

ET/a30/02

P = No sign of {ailure in anchor and/or structural member
F2 = Failure in structural member

F4 = Failure of structural member in a shear cona
F€ = Failure in structural member with crack radiates outward from anchor

F7 = Other failure modeis) : Anchor Breaking

650
325
20

130

SN :-

F1 = Failure of anchor or its accessories

F3 = Pull out of anchor
F5 = Failure by continuous displacement or decreasing load

Page 23

Feb 2012




EERH AR EESERA T
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, 'Hong Kong
Tel :26958318 E-mail : etl@ets-testconsult.com
Fax :2695 3944 Web site : www.ets-testconsulf.com

Shear Load Test on Anchor Boit
Client Hilti (Hong Kong) Lid . Report No. : FDAS06S8
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestDate . 02-Aug-05
Project - Report Date : 11-Aug-05
Test Location ETL's Laboratory Page No. : 20f3
Anchor Type M20 HSA Stud Anchor Galv. Steel Test Method : BS 5080;Part 2:1986 C1 7.2
Amb.Temperature . 24°C
Dial Gauge Reading (mm)
Load (kN) Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
_0.00 0.00 0.00 - 0.00 0.00 0.00
8.42 .00 0.00 0.00 .00 0.00
16.84 0.00 0.05 0.00 0.00 0.05
25.26 0.00 0.45 0.00 0.00 0.48
33.68 0.00 0.83 0.01 0.00 0.82
42.10 0.09 117 0.05 0.00 115
50.52 0.44 1.51 0.53 0.02 1.44
5894 0.83 1.86 0.95 035 1.99
_______ 67,36 129 204 1.70 0.90 237
75.78 210 2.84 . 2.26 147 2.96
84.20 3.89 3.48 3.09 2.25 3.71
82.62 3.91 4.45 4.01 337 463
101.04 572 - 5.53 4,79 5.72
100.46 - - - 7.49 -
_117.88 - - - - -
126.30 - - - - -
Failure Load (kN) 102,70 899.50 106.80 110.40 107.10
Failure Mode F5, F@ F5, F6 F5 F5 Fs
Average Failure Load (kN) 105.30
Standard Deviation (kN} " | 4.24
A) Test Appratus Load Cell : Maywood C3000 (ET/030/06/01) (500N} SN 174529
: Load Cell Indicator : AD813 (ET/930/06/02) SN :-
‘ Cylinder : Enerpac RCH302 (ET/903/07) 8N CasnC
: Digital Dait Gauge : ET/015/35
]
' B) Structural member Grade 35/20D
C) Anchor installed date -
DY Failure Modes P = No sign of failure in anchor andjor structural membar F1 = Failure of anchor or its accessories
F2 = Failure in structural member F3 = Puli out of anchor
F4 = Failure of structural member in a shear cone . F5 = Failure by confinuous displacement ar decreasing foad
F6 = Failure in structural member with crack radiates outward from anchor
F7 = Dther failure modeis) : Anchor Breaking
E) Span width(mmj) 260
F) Edge distance{mm) 260
G) Drill hole size{mm) 20
H) Drill hole depth (mm) 130

Page 24

Feb 2012




Summary of Test result of Hilti HSA-R Stud Anchor

Sample Description: [supplied by Hilti (Hong Kong) Ltd.]

Product:
Size:
Material:

Coating:

HSA-R

M6 - M20

A4 stainless steel

N/A

Concrete Description: [supplied and tested by ETS Testconsult Ltd]
30MPa at 26days
Grade 30/20

Concrete Strength:
Mix Proportion:

Laboratory Information:
Name of Laboratory: ETS-Testconsult Ltd (HOKLAS No. 022)

BS 5080: Part 1: 1993
BS 5080: Part 2: 1986

Test Method:

Date Tested: July-05

Test Result:

Size Type Result 1 [ Result2 | Result 3 | Result 4 | Result 5 Avg. Std. Charact,

Value Dev. Load
[kN] [kN] [kN] [kN] [kN] [kN] [kN]

HSA M6 Tensile [ 11.80 11.70 11.70 12.60 15.30 12.62 1.54 7.35
Shear 7.02 6.43 6.70 7.08 6.56 6.76 0.28 5.79

HSA M8 Tensile| 26.80 23.80 25.00 28.40 27.00 26.20 1.81 20.04
Shear 15.60 15.20 16.40 15.00 14.90 15.42 0.61 13.34

HSA M10 Tensile [ 29.50 30.40 32.00 32.10 29.80 30.76 1.22 26.59
Shear | 40.10 36.70 45.20 45.30 43.90 42.24 3.75 29.46

HSA M12 Tensile| 40.00 42.10 40.20 41.70 42.40 41.28 1.11 37.50
Shear [ 48.60 40.40 41.20 43.60 44.00 43.56 3.21 32.62

HSA M16 Tensile [ 63.10 68.80 63.40 64.20 63.10 64.52 2.43 56.22
Shear 62.90 63.40 63.90 65.10 63.00 63.66 0.90 60.60

HSA M20 Tensile| 70.40 71.40 72.20 79.70 74.60 73.66 3.72 60.99
Shear | 104.90 104.70 105.30 109.70 104.20 105.76 2.24 98.13

Page 25 Feb 2012



REBHAABEHMARLRQF
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel 26858318 E-mail : etl@ets-testconsult.com
Fax ;2695 3944 Web site : www.ets-testconsult.com

Client Hilti (Hong Kong) Lid Report No. : FDA50782
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST Test Date : 27-Jul-05
Project - ~ Report Date : 06-Sep-05
Test Location ETL's Laboratory Page No. 1 20f3 )
Anchor Type M8 HSA-R Stud Anchor A4 Stainless Steel Test Method : BS 5080:Part 1:1993 Cl. 7.1
Amb.Temperature 24°C
_ Dial Gauge Reading (mm]
Load (kN) Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 0.00
112 0.00 0.00 0.00 0.00 0.00
2.24 0.01 0.03 0.06 012 0.00
3.36 0.02 0.17 0.186 1.30 0.00
4.48 0.18 0.67 0.72 2.65 . 0.oc
560 0.46 1.33 1.28 3.14 0.00
6.72 -0.79 1.91 1.63 3.46 0.10
7.84 117 2.56 214 3.93 - 0.34
8.96 1.63 3.01 2.72 4.37 0.78
10.08 217 3.66 3.14 4.57 1.53
11.20 3.72 4,22 370 5.01 1.88
12.32 - - - 6.20 2.43
13.44 - - . - - 3.41
14.56 - “ - - 4.25
15.68 - - - - .-
Failure Load (kN) 11.8 11.7 11.7 12.6 15.3
Failure Mode F4, F5 F5 F4, F5 F5 anchor breaking
Average Failure Load (kN)| . 12.62
Standard Deviation (kN} . 1.54
A) Test Appratus Load Cell : Maywood C3000 (ET/930/07/01) {200kN) S/N : 1000136752
Load Cell indicator ; ADB13 (ET/330/07/02) SN :-
Cylinder : Enerpac ACH121 (ET/00314) SN ;-

B) Structural member

C) Anchor inslalledrdate

D} Failure Modes '

€} Span width{mm)

F} Edge distance(mm)
G) Drill hole size{mm)
H) Drill hole depth (mm)

Digital Dail Gauge : ET/430/02

Grade 35/20D

P = No sign of failure in anchor andfor structurat member
F2 = Failure in structural member

F4 = Failure of structural member in a shear core
F& = Failure in structural member with crack radiates outward from anchor

F7 = Qther failure mode(s) : Anchor Breaking
280

140

6

55

F3 = Pull out of anchor

F1 = Failure of anchor or its accessories

F5 = Failure by continugus displacement or decreasing load

Page 26

Feb 2012




REXEHAXRBEMBERA T
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :2695 8318 E-mail : etl @ets-testconsult.com
Fax : 2695 3944 Web site : www.els-testconsult.com

Client Hilti {Hong Kong) Lid Report No. : FDAS0Q726A

Address 17/F, Tower 6, China HK Cily, 33 Canton Road, TST TestDate  : 0B-Aug-05

Project - Report Date : 28-Oct-05

Test Location ETL's Laboratory PageNo. : 20f3

Anchor Type . M6 HSA-R Stud Anchor A4 Stainless Steel Test Method : BS 5080:Part 2:1986 Gl 7.2

Amb.Temperature 24°C

Load (kN) ' Dial Gaugs Reading (mm)
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 ., 0.00 0.00 0.00 0.00 0.00
0.87 0.00 0.00 0.00 0.00 0.00
1.74 i 0.15 0.02 0.03 0.00 0.00 .
2.61 0.24 0.14 0.07 0.01 0.02
3.48 0.40 0.39 0.18 0.09 0.08
B 4,35 0.73 0.86 0.41 0.35 0.34
522 1.00 1.38 0.97 0.79 0.55
6.09 1.58 248 2.08 1.45 1.15
6.96 2,64 - - 2.55 -
7.83 - - - - -
8.70 - - - - -
9.57 - - - - “ R
10.44 - - - - -
11.31 ] - - - - -
12,18 - - - : - -
R 13.05 - - - - -
13.02 - - - - -
14,79 - - - - ) -
15.66 - - - - u
16.53 - - “ - -
[Failurg Load (kN) 7.02 6.43 6,70 7.08 ) 6,56
Failure Mode F5 F5 F5 F5 F&
Average Failure Load {kN) 6.76 '
Standard Deviation (kN) ' ' ' 0.28
. .
A) Test Appratus Load Call ;- Maywood G000 (ET/930/06/01) {S00KN) SN 174529
Load Cell Indicator : ADA813 (ET/930/06/02) SN:-
Cylinder : Enerpac RCH302 (ET/903/07) S/N:C369iC
Digital Da#t Gauge : ET/915/35
B} Structural member Grade 45/20D
C) Anchor installed date -
iD) Failure Modes P = No sign of failure in anchor andfor structural member - Ft = Faiture of anchor or its accassories
F2 = Fallure in structeral member ) F3 = Pull out of anchor
F4 = Failure of structurai member in a shear cone F& = Failure by continuous displacement or decreasing load
F& = Failure In structural member with crack rad|ates outward from anchar
F7 = Other failure meds{s) : Anchor Breaking
E) Span width{mm) 110
F) Edge distance(mm) 110
G} Drilf hole size(mm) 6
H) Drill hole depth (mm) 55

Page 27 Feb 2012




REBHASERNBRL2 T
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrizl Centre, 34-36 Au Pui Wan Street, Foian, Hong Kong
Tei :26958318 E-mail : eti @ ets-testconsult.com
Fax : 2695 3944 Web site www.ets-testconsult.com

Ciient Hilif {(Hong Kong) Ltd Report No. : FDAS50Q778

Address 17/F, Tower 6, China HK City, 33 Canton Road, TST Test Date  : 27-Jul-05

Project - _ Report Date : 06-Sep-05

Test Location ETL's Labbratory o Page No. : 20f3

Anchor Type M8 HSA-R Stud Anchoar A4 Stainless Stesl _ Test Method : BS 5080:Part 1:1993 Cl. 7.1

Amb.Temperature 24°C

: - Dial Gauge Reading {mm
Load (kN) Sample 1 Sample 2 %ample 3 —_— Sample 4 Sample 5
0.00 ’ 0.00 000 - 0.00 0.00 . 0.00
1.72 0.00 . 000 0.00 0.00 0.01
3.44 0.00 g.00 . 0.08 0.01 0.02
5.16 0.01 0.01 0.10 0.06 0.05
6.86 0.03 ' 0.07 0.12 . 0.1 0.10
8.60 0.22 0.19 0.15 0.31 0.20
10.32 0.57 0.44 018 0.70 - 048
12.04 1.04 ' 0.80 . 0.32 1.14 0.75
' 13.76 1.48 1.21 0.48 1.50 - 0.90
15.48 1.91 1.66 0.65 1.83 1.0%
17.20 : 230 2.20 -0.87 2.50 1.40
18.92 271 2.85 1.99 2.94 1.85
20.64 3.10 3.27 2.45 3.41 2.31
22.36 3.84 3.85 2.96 4.18 2,52
24.08 4.61 - 417 4.87 3.76
Failure Load (kN) 26.8 23.8 25.0 284 27.0
Failure Mode F5 : F4, F5 F5 F& 5
Average Failure Load {kN} 26.20
Standard Deviation (kN) : 1.81
A) Test Appratus Load Cell Maywood C3000 (ET/930/07/01} (200kN) - S/N ; 1000136752
Load Cell indicator ; AD813 (ET/030/07/02) SN -
Cylinder : Enerpac RCH121 (ET/903/14} SN ;-
Digital Dail Gauge : ET/430/02
B) Structural member Grade 35/20D
€) Anchor installed date -
D} Failure Modes ‘ P = No sign of failure in anchor and/or structural member F1 = Failure of anchor or its accessories
F2 = Failure in structural member ‘ F2 = Pull out of anchor ’
F4 = Failure of structural member in a shear cone F5 = Failure by continuous displacement or decreasing load
F& = Failure in structural member with crack radiates outward from anchor
F7 = Other failure mode(s) : Anchor Breaking
E) Span widthimm) 330
iF) Edge distance(mim) 165
G) Drill hole size{mm) 8
H) Drill hele depth (mm) 65

Page 28 . Feb 2012



EXBEHAAERMBERLF
ETS-TESTCONSULT LIMITED .

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel 26958318 E-mail : etl @ ets-testconsuit.comi
Fax ;2695 3944 Web site  : www.ets-testconsuit.com

"EST RE

Client Hilti {Hong Kong) Ltd Report No. : FDA50728
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST Test Date : 08-Aug-05
Project - Report Date : 30-Aug-05
Test Location ETL's Laboratory : Page No. : 20f3
Anchor Type M8 HSA-R Stud Anchor A4 Stainless Steel  Test Method : BS 5080:Part 2:1986 CI 7.2
Amb. Temperature 24°C
Load (kN) Dial Gauge Reading (mmj} _ .
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 ] 0.00 ‘ 0.00 0.00 0.00 0.00
200 . 0.00 0.00 000 . 0.08 0.1
400 0.02 001 0.00 0.20 0.02
6.00 0.40 0.22 0.47 0.38 0.50
8.00 . 0.7 . 0.44 0.80 0.50 0.92
10.00 : 0.92 ) 0.61 1.08 1.1 1.28
12,00 130 1.24 ' 1.37 1.83 1.73
14.00 2.81 2.56 1.90 2,99 2.60 ]
16.00 - - . 3.05 - ' -
18.00 - - : - - . - N
- 20'00 - — - - - T -
22.00 | - ) - - - -
24.00 : - - - - -
~ 28.00 - - o - - -
28.00 _ - | - - - -
30.00 - - - - -
32.00 - : - - - -
34.00 - : - _ - - -
_.36.00 - - - - -
38.00 - - ) - - -
Failure Load (k) © 15.80 15.20 ‘ 16,40 15.00 14.90
Failure Made F5 F& F5 F5 F5
Average Failure L oad {(kN} : ' 15.42
Standard Deviation (kN) 0.61
A) Test App.ratus Load Cel : Maywood G3000 (ET/930/06/01) (500kN) S/N: 174529
" Load Cell Indicator : _ADB13 (ET/030/06/02) S/N:-
Cylinder : Enerpac RCH302 (ET/303/07) S/N: C3691C
Digital Daif Gauge : ET/915/35
B} Structural member Grade 45/20D
{C) Anchor installed date
D} Failure Modes P = No sign of fafiure in anchor andfor structural member F1 = Failure of anchar or its accessories
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Failure of structural member in a shear cone F5 = Failure by continuous displacement or decreasing load
F6 = Faflure in structural maember with crack radiatas outward from anchar
F7 = Other lailure mode(s) : Anchor Breaking
E) Span width(mm) 130
F) Edge distance{mm) 130
G) Drill hole size(mm) 8
H) Drifi hole depth (mm) 65

Page 29 Feb 2012



RERHANAEMNERAA
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :26958318 E-mail . etl @ ets-testconsult.com
Fax :2695 3944 Web site . www.ets-testconsuit.com

i rB
Client Hilti (Hong Kong) Ltd Report No. : FDAS0772
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestDate  : 27-Jul-05
Project - Report Date : 06-Sep-05
Test Location ETL's Labbratory ' PageNo. : 20f3
Anchor Typé M10 HSA-R Stt_id.Anchor A4 Stainless Steel - Test Method : BS 5080:Part 1:1993 C1. 7.1

Amb.Temperature 24°C

Load (kN) Dial Gauge Reading {mm)
Sample 1 . Sample 2 Sample 3 Sample 4 Sample 5
0.00 ‘ 0.co 0.00 - 0.00 0.00 - 0.00
2.01 0.00 o 0.00 0.00 0.00 0.00
4.02 0.00 0.02 0.00 0.00 . 0.00 )
8.03 0.02 0.07 ) 0.00 ' _ .00 0.00
B.04 0.06 . 0.12 0.02 0.01 0.02
B 10.05 0.20 7 0.34 0.09 0.24 0.10
12.06 0.56 0.47 0.25 . 070 0.60
14.07 1.00 0.70 0.55 1.22 1.50
16.08 ’ 1.61 1.38 1.00 2.00 1.97
§ 18.09 2.09 ] 1.77 117 2.65 2.49
20.10 : 3.00 ) 2.07 1.47 3.12 3.60
22.11 3.48 2.83 2.17 3.59 4.06
24.12 ' 4,00 831 2,70 4.35 4.76
26.13 _ 4.68 3.75 a 3.08 - 5.37 5.61
28.14 6.39 : 5.01 . 4,23 _ 5.87 7.97
30.15 - N 5.80 6.03 742 -
32.18 - ' - ' - - -
3417 - - - - -
Failure Load (kN} 20,5 30.4 32.0 32.1 20.8
Failure Mode F5 F4,F5 F4,F5 F5 F5
- {Average Failure Load {kN) 30.76 =
Standard Deviation (kIN} 1.22
A) Test Appratus Load Cell : . Maywoad C3000 {ET/230/07/01) (200kN) SiN ; 1000136752
Load Cell indicator : ADB13 (ET/930/07/02) SIN:-
Cyiinder : Enerpac RCH121 (ET/903/14) ' SN -
Digital Dail Gauge : ET/430/02 '
B) Structural member Grade 35/20D
C) Anchor installed date -
D) Failure Modes P = No sign of failure in anchor aridfor structural member F1 = Failure of anchor or its accessories
' F2 = Failure in structural reembar F3 = Pull out of anchor
F4 = Failure of structural member in & shear cone ' F& = Failure by continuous displacement or decreasing load
F6 = Failure in structural member with crack radiates outward from anchor
F7 = Other faifure mode(s) : Anchor Breaking
E) Span width{mm) 350
F) Edge distance({mm) 175
G} Driil hole size(mm} 10
H) Drill hole depth (mm) 70

Page 30 Feb 2012



EREXERHAAEMNBERAS
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :26958318 E-mail : oti @ ets-testconsult.com
Fax : 2695 3944 Web site  : www.ets-testconsult.com

Client Hilti (Hong Kong) Lid Report No. : FDAB0O730
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST - Test Date : 08-Aug-05
Project - Report Date : 30-Aug-05
- Test Location ETL's Lahoratory ‘ Page No. ; 2of3
Anchor Type M10 HSA-R Stud Anchor A4 Stainiess Steel Test Method : 8BS 5080:Part 2:1986 Gl 7.2
Amb.Temperature 24°C
Load (kN) Dial Gauge Read:ng_(mm) .
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.0 0.00 0.00 0.00 0.00 1 0.00
2,40 0.00 0.00 0.00 0.00 0.00
} 4.80 0.00 0.00 0.00 _ 0.01 0.00
7.20 0.0% 0.33 0.00 0.01 0.00
9.60 0.01 | 081 0.04 0.01 Q.00
12.00 . 0.04 1.16 : 0.11 . 026 0.00
14.40 0.06 1.56 0.24 : 0.84 0.36
1880 0.10 197 0.37 1.23 0.64
19.20 313 L 275 072 1.77 1.37
21.60 248 3.18 1.05 247 1.82
24.00 3.44 4,25 1.35 3.44 2,13
26.40 4.90 ) 4,80 2.27 ) 4.21 2.68
3 28.80 5.23 6.87 356 4.98 a.27 }
31.20 6.33 841 3.84 5.74 . 4.36
: 33.60 715 9.43 : 4.07 6.99 : 7.56
36.00 . 8.40 10.92 ) 5.73 7.54 B.40
3840 ] 10.16 ) Lo 6.88 8.39 9.16_
40.80 - - _ B.74 10.18 10.71
43.20 - - 10,75 12,72 - i
45.60 . - - - -
Failure Load (kN) 40.10 36.70 45.20 45.30 ) 43.90
Failure Mode F7 F7 F7 F7 F7
Average Failure Load (kiN) 42.24
Standard Deviation (kN) 3.75
A} Test Appratus Load Cell : Maywood C3G00 (ET/330/06/01) (S00kN) SiN : 174529
Load Cell Indicator : ADB13 (ET/930/06/02) ‘ SAN:-
Cylinder : Enerpac RCH302 (ET/903/07) ) SN C3691C
Digita{ Dail Gaugs : ET/915/35
B) Structural member Grade 45/20D
C} Anchor installed date -
D) Failure Modes P = No sign of failure in anchor andfor structural member F1{ = Fallure of anchor or His accessories
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Fallure of structural mermber in a shear cone FS = Failure by continunus displacement or decreasing load
6 = Failure in structural member with crack radiatas oltward from anchor
F7 = Other faflure mode(s) : Anchor Breaking
E) Span width(mm) 140
F) Edge distance{mm) 140
G) Drill hole size(mm) 10
H} Drill hole depth (mm) 70

Page 31 Feb 2012



RExBEHAWAEMARL2 3
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong

Tel 26958318
Fax :26953944

E-mail
Web site
TEST

: etl @ets-testconsuit.com
: www.ets-testconsult.com

B) Structural member

C)} Anchor installed date

D) Failure Modes

E)} Span width{mm)

F) Edge distance(mm)
G) Drill hole size(mm)
H) Drill hole depth (mm)

Digital Dail Gauge ; ET/430/02

Grade 35/20D

P = Nor siggn of failure in ancher and/or structural member
F2 = Failure int structural member

F4 = Failure of structural member in a shear cone
F6 = Failure in structural member with crack sadiates outward from anchor

F7 = Other failure moda{s) : Ancher Breaking
480

240

12

95

_ il T r
Client Hiiti (Hong Kong) Ltd Report No. : FDA50774
Address 17/F, Tower 8, China HK City, 33 Canton Road, TST TestDate  : 27-Jul-05
Project - Report Date : 06-Sep-05
Test Location ETL's Laboratory Page No. 1 20f3
Anchar Type M12 HSA-R Stud Anchor A4 Stainless Steel Test Method : BS 5080:Part 1:1993 Cl. 7.1
Amb.Temperature 24°C '
Load (kN) Dial Gauge Reading (mm)
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 - 0.00 0.00
3.36 0.01 0.00 0.00 0.00 0.00
i 6.72 0.03 0.02 0.00 0.00 0.00
10.08 0.12 0.16 0.01 0.06 0.01
13.44 0.16 0.82 0.24 0.59 0.03
16.80 0.67 1.86 1.03 1.30 0.48
20.16 1.42 3.01 2.02 1.82 1.09
23.52 246 4.09 3.20 247 2.13
26.88 4.04 4.68 4.21 3.05 2.80
30.24 542 5.45 5.67 3.61 3.73
33.60 7.22 7.59 746 4.09 4.56
36.96 9.57 8.92 9.76 4.72 5.95
40,32 - 10.14 - 5.27 7.02
43.68 - - - - -
47.04 - - - - -
Failure Load (kN) 40.0 42.1 40.2 41.7 42.4
Failure Mode ‘F4,F5 F5 F4,F5 Fs . Fs
Average Failure Load (kN) 41.28
Standard Deviation (kN) 1.11
A) Test Appratus Load Cell Maywoaod C3000 (ET/930/07/01) (200kN) S/N : 1000136752
Load Cell indicator : ADB13 (ET/930/07/02) SN -
Cylinder ; Enerpac RCH121 (ET/903/14) SN -

F1 = Failure of anchor or iis accessories
F3 = Pull out of anchor ‘
F5 = Failure by continuous displacement or decreasing load

Page 32

Feb 2012




EEXEEDHAAERER29
ETS-TESTCONSULT LIMITED

8/F., Block B; Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel :2695 8318 E-maii : etl @ets-testconsuli.com
Fax : 2695 3944 Web site : www.eis-testconsult.com

Client Hilti (Hong Kong) Ltd Report No.  : FDA50732
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestDate  : 08-Aug-05
Project - : Report Date : 30-Aug-05
Test Location ETL's Laboratory Page No. :20f3
Anchor Type M12 HSA-R Stud Anchor A4 Stainless Steel Test Method : BS 5080:Part 2:1986 CI 7.2
Amb.Temperature 23°C
Load (kN) _ Dial Gauge Reading (mm)
Sample 1. Sample 2 1 Sample3 Sample 4 Sample 5
B 0.00 0w 0.00 7 0.00 0.00 0.00
3,54 0.00 0.00 0.00 0.00 0.00
7.08 0.02 000 0.01 0.00 0.11
10.62 014 0.12 023 0.99 0.19
1418 0.29 0.42 0.65 1.4 0.45
) 17.70 0.70 0.78 ) 0.90 1.70 0.80
21,24 . 1.29 . 1.22 1.24 1.82 0.98
24,78 1.81 1.73 1.55 2.30 141
2832 2.24 251 1.85 2.64 . 1.86 ~
_ 31.86 2.99 3.87 2.80 3.09 240
35.40 - 4.29 5.46 3.68 ) 3.79 3.28
38.94 5.92 7.1 5.18 ) 4.79 423
4248 7.99 - - j 6.25 5.46
46.02 955 - . - ) - - ‘
49,56 - - - - -
53.10 - - ) - : - -
~ 56.64 - - - - -
. 60.18 . _ - - - _ - - N
63.72 - - - ] - - i
67.26 - - - - -
Failure LLoad (kN} 48.60 40.40 41.20 : 43.60 44.00
Failure Made F7 - F5 F5 F5 F5
Average Fzilure Load (kN) 43.56
Standard Daviation (kN) . 3.21
A} Test Appratus Load Gell Mayweod C3000 (ET/930/06/01) (500kN) SN 174529
Load Cell Indicator : ADB13 (ET/930/06/02) ~ S/N:-
Cylinder : Enerpac RGH302 (ET/903/07) S/N: C3691C
Digitat Dail Gauge: ~ ET/915/35 ‘
B} Structural member Grade 45/20D
C) Anchor installed date -
D) Failure Modes P = No sign of failure in anchor andfor structiral member Fi = Failure of anchor or its accessories
F2 = Fallure in struciural member F3 = Pull out of anchor
F4 = Failure of structural member in & shear cone F5 = Failure by continuous displacement or decreasing ioad
F8 = Fallure in structural member with crack radistes outward from anchor
F7 = Other faitura mode(s) : Anchor Braaking
E) Span width(mm) 180
F) Edge distance(mm) 180
G) Drill hole sizeimm) 12
H) Drill hole depth {mm) 95

Page 33 Feb 2012



Client
Address
Project

Test Location

REXERBHAXERMERL2 3
ETS-TESTCONSULT LIMITED

8/F., Biock B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong

Tel :26958318 E-mail : eti @ ets-iestconsuit.com

Fax :2685 3944 Web site : www.ets-testconsult.com

Hilti (Hong Kong) Ltd _
17/F, Tower 8, China HK City, 33 Canton Road, TST

ETLl's Laboratory

Repart No.  : FDAS0780
Test Date  : 27-Jul-05

Report Date : 06-Sep-05
Page No. : 20f3

Anchor Type M16 HSA-R Stud Anchor A4 Stainless Steel Test Method : BS 5080:Part 1:1993 CI. 7.1
* Amb.Temperature 24°C '
Load (kN) Dial Gauge Reading {mm)
. Sample 1 Sample 2 . Sample 3 Sample 4 Sample 5
0.00 0.00 ‘ 0.00 .00 0.00 ] .00
523 0.00 0.00 0.00 0.00 0.04
10.46 0.00 0.01 0.27 0.35 0.36
15.69 012 ‘ 0.1 1.01 1.80 1.93
20.92 0.47 1.14 2.19 3.58 3.15
26.15 1.64 2.12 3.75 5.18 4.56
31.38 . 3.02 3.21 5.53 6.70 6.11
36.61 3.62 4.37 . 7.55 8.18 ’ 7.80
41.84 4.82 5.36 . 8.00 9.78 : 9.92
A7.07 6.06 6.76 . 9.29 11.84 i 12.86
52.30 8.21 8.89 11.94 13.64 -
57.53 10.24 . 1184 i N _
62.76 13.15 - - - -
67.99 - - - - -
73.22 - - - - -
Failure Load (kN) 63.1 68.8 63.4 64.2 63.1
Failure Mode F5 F5 Fa Fs . F5
Average Failure Load (kN} i 64.52
Standard Deviation (kN) 2.43
A) Test Appratus Load Celi : Maywood C3000_(ET/930/07/01) (200kN) 8/N : 1000136752
Load Cell indicator : ADB13 (ET/830/07/02) SIN:-
Cylinder : Enerpac RCH121 (ET/003/14) SIN:-
Digital Dail Gauge : Et/430/02
B} Structural member Grade 35/20D
C) Anchor ingtalled date -
1D) Failure Modes P = No sign of failure in anchor andfor structural member F1 = Failure of anchor or its accessories
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Failure of structural member in a shear cone F8& = Failure by comtinuous displacement or decreasing loact
6 = Failure in structural member with crack radiates outward from anchor
F7 = Qther failure mode(s) : Anchor Breaking
_ | E) Span width{mm) 580
F) Edge distance(mm) 290
G) Drill hole size{mmy) 18
H) Drill hole depth (mm) 115

Page 34

Feb 2012




EEXEHALBEENERAD
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong

" Tel :2695 8318 E-mail : etl @ets-testconsuli.com
Fax : 2695 3944 Web site  : www ets-testconsult.com
Client Hilti {(Hong Kong) Lid Report No. : FDAS0Q734
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST Test Date  : 08-Aug-05
Project - Report Date : 30-Aug-05
Test Location ~ ETL's Laboratory PageNo. @ 20f3
Anchor Type M16 HSA-R Stud Anchor A4 Stainless Steel Test Method : BS 5080:Part 2:1986 Cl 7.2
Amb.Temperature 23°C ‘
Dial Gauge Reading {mm)
kN, g
Load fkN) Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 0.00
6.22 0.02 0.00 0.03 0.01 0.02
1244 .10 0.16 0.1 o.19 0.20
18.66 0,30 0.57 0.31 0.68 0.68
24.88 0.70 0.85 0.58 0.08 1.12
~ 31.10 1.20 1.28 0.94 -1.48 1.76
37.32 1.63 172 1,37 2.18 232
43.54 2.25 2.23 1.89 2.80 2.98
» 49.76 296 3.19 268 3.82 ass
55.98 4.26 513 4,01 5.07 576
62.20 6.36 7.73 7.1 7.60 7.091
68.42 - - - - -
74.64 - - - -
80.86 - - - -
87.08 o - - - -
93.30 - . - - -
99.52 - - - : -
105.74 - - - - L
111.96 - - “ - -
118,18 - - - - -
Failure Load (kN) 62.90 63.40 53.90 6510 63.00
Failure Mode F5 F5 F5 F5 F5
Average Failure Load (kN) 53.66
Standard Deviation (kN) 0.90
»T
A) Test Appratus . Load Cell : Maywood G3000 (ET/930/06/01) {500kN) S/M: 174629
Load Cell Indicator : ADB13 (ET/930/06/02) S/N: -
Cylinder ; Enerpac RCH302 (ET/903/07) S/N: C3691C
- Digital Dail Gauge : ET/915/35
B) Struotural member - Grade 45/20D
C) Anchor installed date -,
D) Failure Modes } i_ P = No sign of failure in anchor and/or structural mermber Ft = Failure of anchor or its accessores
" F2 = Fallure in structural membar F3 = Pull out of anchor
- - F4& = Failure of structural membar in a shear cone F5 = Failure by continuous digplacement or decreasing Joad
'+ F6 = Fallura in structural member with erack radiates eutward from anchar
. FT = Other failure modes) ; Anchor Breaking
E) Span width{mm) 230
F) Edge distance(mm) - 230
G) Drill hole size(mm) . . 16
H) Drill hole depth (mm} - 115

Page 35

Feb 2012



T e e e e

EXEHAXBEMERS T
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong
Tel ;26958318 E-mail : etl@ets-tesiconsult.com
Fax : 2695 3944 Web site : www.ets-testconsuit.com

Client ' Hilti (Hong Kong) Ltd : Report No. : FDA50778

Address 17/F, Tower 6, China HK City, 33 Canton Road, TST .~ TestDate : 27-Jul-05

Project - Report Date : 06-Sep-05

Test Location ETL's Lab{')ratory PageNo. :20f3

Anchor Type M20 HSA-R Stud Anchor A4 Stainléss Steel Test Method : BS 5080:Part 1:1993 CI. 7.1

Amb.Temperature 24°C

Loa d (kN) - Dial Gauge Reading (mm)
Sample 1 Sample 2 Sampled . Sample 4 Sample 5
0.00 (.00 0.00 0.00 : 0.00 0.00
6.80 0.00 0.00 0.00 0.00 _ 0.00
13.80 0.00 0.00 : 0.00 0.00 0.00
i 20.70 0.00 0.0¢ 0.00 0.00 0.00
27.60 0.14 0.12 0.10 0.10 0.08
34.50 0.31 0.22 0.19 0.41 0.24
41.40 " 0.84 0.59 0.52 108 0.64
48.30 1.41 1.33 1.36 194 1.54
55.20 2.1 : 1.87 1.98 2.90 2.59
- 62.10 3.95 3.35 3.29 4,00 3.63
69.00 7.46 6.84 7.1 5.28 4.74
75.90 - - : - 6.98 -
82.80 - - - —_— -
80.70 - - - - -
96.60 ) - - - - -
Failure Load {kN} 70.4 71.4 72.2 79.7 74.6
Failure Mode F4 F4 F4 F4 ' F4
Average Failure Load (kN}) 73.66
Standard Deviation (kN} . 3.72
A) Test Appratus Load Cell : Maywood C3000 (ET/230/07/01) (200kN) S/N : 1000136752
: Load Cell Indicator : ADB13 (ET/930/07/02) ‘ SN:-
Cylinder : Enerpac RCH121 (ET/803/14) SN ;-
BDigital Dail Gauge : ET/430/02
B) Struectural member Grada 35/200
C) Anchor installed date -
D) Failure Modes P = No sign of failurs in anchor and/or structural member F1 = Failure of anchar ot its accessories
F2 = Failure in structural member F3 = Pull out of anchor
F4 = Failure of structural member in @ shear cone FS = Failure by continuous displacemeni or decraasing load

F6 = Failure in structural member with crack radiates outward from anchar
F7 = Other failure mode(s) : Anchor Breaking

E) Span width{mm) 650

F) Edge distance(mm) 325
G} Drill hole size(mm} 20

H) Drill hole depth (mm) 130

Page 36 | Feb 2012



ERXxREHAAERBERALAA
ETS-TESTCONSULT LIMITED

8/F., Block B, Veristrong Industrial Centre, 34-36 Au Pui Wan Street, Fotan, Hong Kong

Tel
Fax :

2695 8318 E-mail
2695 3944 Web site

EST REPORT

: efl@ets-testconsult.com
 www.ets-iestconsuit.com

Client Hitit {Hong Kong) Lid Report No. : FDAS0736
Address 17/F, Tower 6, China HK City, 33 Canton Road, TST TestDate  : 08-Aug-05
Project - Report Date : 30-Aug-05
Test Location ETL's Laboratory Page No. 1 20f3
Anchor Type M20 HSA-R Stud Anchor A4 Stainiess Steel Test Method : BS 5080:Part 2:1986 Ci 7.2
Amb.Temperature 23°C
Load (kN) Dial Gauge Reading (mm) _ .
Sample 1 Sample 2 Sample 3 Sample 4 Sample 5
0.00 0.00 0.00 0.00 0.00 .00
8.70 0.84 . 117 0.84 0.20 0.95
19.40 1.34 2.00 2.39 0.82 1.70
2810 1.99 2.84 3.35 1.76 2.87
38.80 2.64 3.53 3.97 2.24 3.83
. 4850 3.17 4.18 4.45 2,73 5.02
5820 3.96 4,93 5.20 3.36 5.67
67.90 4.55 5.53 5.80 3.05 6.49
77.60 N 5.41 6.31 6.71 456 7.67
87.30 6.50 7.33 7.50 5.61 B.94
97.00 8.01 8.56 B.54 8.61 9.73
B 106.70 - - - 8.43 -
116.40 - - « -
126,10 - - - - -
135.80 - - - - -
145.80 - - - -
155.20 - - - -
] 154.90 - . - - -
174.60 - - -
184.30 - - - - -
Failure Load (kN) 104,90 104.70 105.30 109.70 . 104.20
Failure Mode F5 F5 F5 5 F5
Average Failure Load {kN} 105.76
i Standard Deviation (kM) 2.24
e
A) Test Appratus . Load Cell : Maywoed C3000 (ET/930/06/01) (S00kM) S/N : 174529
Load Cell Indicator : ADB13 (ET/930/06/02) SMN: -
Cylinder : Enerpac RCH302 (ET/903/07) S/N: C3691C
Digital Dail Gaugs ; ET/915/35
B} Struetural member Grade 45/20D
C) Anchor installed date .
D). Fallure Modes P = No sign of failute in anchor andfor siructerai member - F1 = Failure of anchor or its accessories
F2 = Failure in struciiral member Fa = Pull aut of anchor
F4 = Failure of structural member in a shear cone FE = Failure by continuous displacement or decreasing lead
F§ = Failure in structural mermber with ¢rack radiates outward from anchor
F? = Dther faliure moda(s) : Anchor Breaking
E) Span width(mm) 260
F} Edge distance{mm) 260
G) Drill hole size{mm) 20
H} Drilt hole depth (mm} 130

Page 37

Feb 2012



€ "4 “b661 10T LT T 7 Sommnimmo) weadaIny 3130 [EWINOL [BRmO

T661 W[IW{ 1 np asredmay atbyqndgng e 3p (1010 EEmop
1°d '€661'F0€ ‘022 ‘T ou sopmmurme)) wsadoing am 3o [EWINAr ERHO
T 'd ‘6861 1L Op T o SanmmamIe) weadoms 2 o JEmar €m0

"Yyons sg pejeuljsap aq o} aaBy
safienbue] Jauyjo oju) SUORB{SUEL) “YIOT UM PSJEINOLO UOISIAA BY) 0] spuodsaLos uojelon
sny1 “sBenbue| [epowo sy u) Apog (eacidde eyy Ag penss| sI leaoiddy |@ojuyoe] ueadoinz ayy

"leacuddy [eojuyoa) uesdoing ey
SSNS{W 10 JPEIUCS JoU By Seinyacly Buispeaps jo sBuimelp pue sp@) "yons se pejeubisep
eq 0} sey uoganpoidel jeped eseo sy u) Juawieq np anbjuyoe) 39 anbyusing slen
8} o JuesU0d USHUM U} Um Spewl 3G ues uopsnposdel [Enied ‘easmol C|ni Ul ag [Bys
SuBsL duaiiosie Aq uojssiusuen Bulpnjou) EAoiddy (eswyoey ueedong siy jo uojonporday

“033/901/68 @Aljdanq 12unog ey jo {1) ¢ sjoly o Jusnsnd JusWIgY np
anbjuyase} je enbyjjuelog anusy euy AT UMBIpYIM oG ABW 12A0Jddy [EDjUYoe] ueadoing SIyL

[eaoiddy |eamyss | ueedoung siy; jo | a6ed uo pajenipul
850U} UEY] Jayjo spuejd Bupnpenuew o §| abed Uo poIBRIIPUI BSOL) UBLY) JBUIO JMjOBNUEBLI
Jo sjualia Jo sieinpEnUEW o) pauejsuRY aq O) Jou s |saolddy [Bojuyse) ueadoing s,

‘Teaciddy |BojuLjoe ) UBadoNg BU} JO JOPIOY BLR UYM SUIBILSS 3Sh pepusuy
9 lo} sssuyy Jjeu) Joj pus |Bacuddy [8ojulae ) usadoins ey) ypm sjonpold ay) jo AILUomoD ey
40} Ayliqisuodsau suy) ‘ssejoypessN (Bupnpemusw of peBal yym [eaciddy [eaiuyos] uesedoing
iy} ul spBWw suojdwnsse jo uswiyn) oy} Bulwesuen eidwexs Joy) jued Bupmnjoemusw
oy u; aoeld eyey Aew Bupiosys el ere |eacuddy |eojuyoe] ugadoiny sip jo suosmond
|4l Jeyeym Hoeyd 0} pesyoyne s| Juewneg np enbiuyosl e enbupusios snuan eyl

‘& s10yIue uojsuedxe
pojojuod-enbuo) » 7 Wed pue « [218ush Ul SIOYSUY » | Hed ‘GG UOWPR ‘L0 av13
€ Ej8I0U0D W ssn Joj siouduy BBl » JO [eaosddy [EOluYDa) ueedounz Joff euisping —

wom_.mm__g Uo[S|28( UOISS|LILUON JO XaUUY 8L U] Jno je8 sieacuddy [esuysa
up

ueadoing o Juei sy pue Buyedaid ‘Bupsenbsy 10} seny [Rinpasold uolwIion —

uoponisuco
8p sunpoud sep eBesn) g epnyde) Juewasuos 266l JeNinl § NP LYa-76 .U 191090 -

,E661 ANF 2Z 10 DAI/GY/E6 SNV JIBUNOY sly} Aq pelipou ¢, sonpoud
uoonysyco o) Bupelel seeg Jeque 10 suosiaid eajeRsuMLpE pue suopenbol
‘sme| jo uopewixoidde ey uo ggal Jequaseq LZ Jo DISO0LEY SNPEND |OUNCY —

‘UM 83UEDIODOE Ul Justmeg
np enbjuyce) 3o shbuyuaiog anuen ayy Aq pensm s| |Baciddy [esiuyse] ueedoing sy,

SNOLLIONOD TYHINIO ANV S3SVE TvOI"

1000/66-v.L= |escuddy jBajuyon] ussdomng jo Z 3bed

- N e

s[eaouddy |eojuyos ] Joy uofesiuetig usadoing
uepdoing anbuoa | jusweaBy,| nod uogesiueBio

V103,130 4NN
g g et )

aiso= S

S00Z/60/82 Ne QOOZ/BL/GZ P SPIEA LO0D/EE-VLI e08idler 6 sinuue uegdoing snbiuyns) jusweiby 167

*SO0Z/60/BZ O3 0D0T/E0/0Z oy AYPIIEA LM L000/66-.LT Seozjda) pue sjeauea eacudty [eojuyae) ueedeing syl

JUILNIOP By

Jo yed jpiBegu) ue wuo} Yoym sexauue g Bujpnjou) ssbed z|

"Juensop np spueibsqu) aped E w__,m..u saXeuus g juen|our safied zJ.
ua)suagyoer jo Ayjjedioupd ‘(1 ueyd) | aujsn ‘©F BIIH

0L0Z/e/80
SQ0Z/E0/80

“0ZIN PUe 9L TIWN

‘0L "GIN ‘9N 892Z|5 :9)0I9UO0D PEYIEID UOU U aSh Jo} 'jea)s
pesjueajeb jo epew Joysue uojsuadxe pajjosjuoa-enbio]
"0ZIN 19 LW ‘LN 0L ‘B

'BIAl SRUIRLUEIP : GINSE|} LOU UORY B] SUBP UDYEXY op ‘B|QuILCD jdnoo
& oBess)a 1ed uoisuedya ¢ ‘gsuenEb Jajoe Ls snbiERW aweyo

ujejsueyel’] jo Aredioupd
NYVHDS ver6-1d4
eJoyauy Jun ssautsng ‘oy IOH

VSH ILTH

e SARH! "OBAL. BIWEIEP LT
TP flesi00 19 DFIOLIEY
BARID B 6f 1. BRI
# ewewpuiomoopuor 3
10 sy

IS 19 62 ¢ [0 (g6) 1¥eg
92 8Z 05 OF Lo (€€) ! "8l
91 XBPe) SIHVd 2862
REIUIO INI330aN NP eNuaAe ..v

juswiyeg np snbjuype |
19 anbynuelpg anusn

Feb 2012

Page 38



“aInpeonid Uope)says AJLLOICD U} L] PSMOAU Sejpeq pascidde By) o) SIe|BAE 8pBL AjUD
8] PUB jJusigd np anbluyoe | Je enbynuajag aljuen ey e pajisodep uaaq say ued jsa) pequosaid ay)

(s181) ssosar oz1s Youesm ‘Bupur Jedoud) Jnu [euoBexay

‘(sezis yoyso ‘ssewyaiy) ‘Yibue)) easos

{Bupiiew ‘sucd ey jo Ajawosh ‘peaiy ‘syibus| ‘sIsjEWEIR) noq
:sped Jusuodwon Jo suojsuaw] —

*8js0) Buimoio} ou o} pejoslqns eq [leys Joyoue By 1o susLodWos paInpEmLBw By

“Ysjuy soepns ‘sseupiey ‘ybuans ajisus) B-e ‘seipcdod [epejew Buluiuuelsp pue UolsLBLp
Buikmaa Aq (senfea jeuiuou yym uosueduron) sielddns Aq pejuesaid sjusinsop uojoadsu; oy
40 [04UOD BpNjILE [jBUS SeASS]S UojSUedXe 10} PUE] [RISW PUE SHOQ JOJ SIM ‘SISYSBM ‘SINu SE
yans sjeuejEw Bujwoaul jo o8y “eouEjdesoe siojeq JaMPENUEW a3y A $159) pUB S|OAUCD
0} J08fgns e |BYs Sleus)EW mBl Bupnuooy) ey ueid 188y pequosesd ey) uj umop ple| sg
sjuswnoop uofoadsul jueasial ey} yym pajjddns s|eusyaw mel esn Auo |eys Jainpejnuew sy

‘leacuddy jeojuyse | ueadoing
aly Yym Aguuojuco uj 5| Jonpoud i) 8L SeINSUD WajEAS juuoo uononpoud S|y ‘semnpsaoid
pue sojofjod uapuM JO ULID) L) Ul JELUBW DHEWEISAS B Ul PEJUSLINODP elB JSINpBLEW
&) Aq pejdope suoisiaoid pue sjuewesnnbal ‘gjuewsle ey |y -uononpold Jo jouueD [eulaju
aveulsd sasmiexe pue jusld sy Ul WasAs [04UcD uoonpoud Aojos) B 2BY JeinoBnusw ay |

lenued uoponpoud Alojoe) Jemoenuety ey} o syeel "Lz E

sajpiqisuodsay

"loajuoo uanonpoud Aiojoe) 4o [Bacidde puUB JUBLUSSSSER ‘SIURIOAINS SRONUKUOD G
‘lonuoo uoyonpold Alojor) Jo pue Alojpey J0 uojoadsuy [ejIu) &
‘lonpoxd ey o Bujiser-adA ey g

:Apoq paaoidde ay; Joj syse} {q

‘ue|d Js9) pequasaud B ypm
SoUBRIcITE Ul JaINJOBNUEL 5U) Aq AicioBy ou) Je uaye) sejdures jo Bupse) seyun) 'z
‘losyuod uoponpotd Awgoey °|

NeINPEjNuBW By Jo) exset (B

‘e8piatud uojssjWDD uzedains suy Aq umop PIE| (|l XauUy H33/904/68 BAROIIG
louneg o) Bulpieose (1 wejsds se o) pausjal) {|) Z AL jo uolEsslE 4O WapsAS aul

wasfs LjuLiojucs Jo uomsaIN

Buppew 39 pue AULOJUGY JO Uopen|eAg

*£ UojdQ Jo S|SB B LO ‘¢ SIOYIUE UDISUEdXS Pajlonuocs-enbio] » g UBg
puB « [elouab u) sioySuY » | UBd ¢ 8JRIGLOD Ul 68N D} RIOYOUY [EJSW JO [BAddy |BojUYDe ]
ueedo.ny Joj SUjBPIND » SUJ Yum BOUSRICODE U] SPEW useq SBy  pue | sjuswannbey
[enuessy ay) Jo esuds oY) W esn U] Aoyes pue ANIqE)S puB SOUESISAl [BOUBYOG
Ioj sjuswiannba) 61} O} UOKE|SJ Lf 68N PSPUSIU| BY) JOJ JOUSUE BY) JO SSEUYY JO JUSLUSSESSE Sy |

UGREDLLIBA O SPOYIRIN

1000/86-Y13 [eacuddy [Bouysay ugsdons o  abeg

g

Ve

e

"83|poq peacidde sy} 0} JeA0 pOpURY 8 ‘eunpaonid ALLIOIIOO 1O uonEsane
8y} Ul PAAOAL| sejpoq peaoldde au) j0 SHSE) SU) 04 JuBAe]ed SB U8 SB ‘PUE JusLugeE hp enbjuyse) 18
anbynus|oS anue oy I8 pejisodap §| |ecddy jeaiuyoe | UesdaunT SI) 4O UORBJUSILINDOR [ES]ULDE] 8L

"Jun sjejdiios 88 peyddns pus pafeyoed oq Ajuo |leys Joyoue ey}

310q 84} Jo peay ay} uo payound sj Jjog 8y} Jo yjbue|
12101 643 0} Buipuodeenod epoo Jeye] v 'SOBYNS BIAJILCS BU) O} Hed pepesly) out Jo pus ey}
0} spuodsecs yidep Juewpaquis peanpel ai) pue yidep JUslUPeqWs PIRPUBIS Oy} SSINUSH
Bupieus Buy nojos enjq v | Xeuuy o) BuIpIOSoE BINpG) SUY) JO SSSUNOIY) WINWXEW OM]
31} PUB JOUSUE SU} JO JOJBLIEIP |BUNLIOU SU} ‘SWIBU [RIISWLIOS 8lY} YIM PaYJEW S| JOUsue Yseg

"5 0) § sexelly ul uan b sue sefeioyoue jo uBisop oy Jo) sanjea
Joydue JpsuspeIEyUd eyl jeaoiddy [eouyosy ueedoung spy Jo JUOHEUBWINZOD [BO[uYOe}
Ay} U umop pie| sen[eA eaoadsal ey o} puadssiod [BYs § PUB Z SexBuUy U] Pejes|pul 1ou
JOYTUE 8L} JO S0UBIS|O) PUE SUISUSLUIP ‘SSN[BA [BlSjet JiSKSIORIBYD SUL ¢ O} | SaXauuy
ur usalb suoisiacid pue sBumelp-auyy. oy spuodsascd gzl o) oW Jo ebuer ay) U Joyoue ay),

Jonpoud jo sopspejseieyy

uocpEIYLISA JO Spoyjell pue janpoid Jo sasueIoRIEYD

"EX0M B
Jo o)) Bupjom 2[qeUOSER) AJEIILICUCSS pejdadye ay) 0) UONEja) Ul sjanpold Wbu ey; Buisooys
Jo} sueew e se Ajuo paplefies aq o) aie Ing Jeonpold sy} Ag uenB esjueienb B se pejesdiop
8q 1ouues eyl Buppom auy uo uealb suoReoipu sy "sieek Og jO JOUSUR ay) Jo o] Bupuom
PEpUSiY] PRWNSSE UR U peseq als [eaciddy [eDjuyoe] Ueadoung sjyj uj opew suolsiaod ayf,

*Suofipucs [ewsjul K1p o} j0a[gns €J8Iouno U] pasn eq Ajuo ABW JoLDUe By )

*AJUO B]2I9UCD PEXIEID-LOU Ul peioysue
eq Aew | Z|-0002 '90Z AN3 0} Buipiooae wnwip@w DY/OSD O} WINMUIL GZ/0Z 7 SO8SED
Wpbusls Jo 81919u00 JyBlem [BULOU PEOLIRIIN IO PIAIOUEE Ul Buipeoj ojejs-senb Jo ayeps
o} pefqns safinioyaus 10} Aluo Pasn eq o) S| Joydue e1) seouenbesuod JILBUDS a|qesapisuog
0} PES| J0o/pUe 8)] Uawny o} 8l SSNED 'syIom o) JO ANIqe]s au) esiwoidwod pinom sjanposd
@say) uym spew sefeloysue Jo einjle) pus ps|iLiny 89 {IBYS DII/C0L/EE eARaNQ (ISUNCH
J0 { pue | sjusiwenbay eguess ay; Jo ssuss eU) U] 38N U] Aj6jes pur AIIqE)S PUB souBjBIsal
Iegjueyoaw Joj sjusluainbay yojym Joj sabieioyoue Jop pesn eq 0) pepueitl SI JOYSUE oYL

x4

9sh papuep| “g°}

"I Xauuy u| uanb ambi ess Joyaue ps|jElsul 1) Jo
‘uojsuedxe pajjosjuoa-snbicy Aq pajoyaue pue sjoy pajup e o peoed st
Uoiym ‘eals pesiueafet Jo apsw Jououe e §] OZI 0) 9 10 SBUR) 6L} Ul JOYIUE YSH [LTIH SUL

3anpold yo uoniueq 'L

@sn pepuaju) pue Janpaad Jo uoiIUYe(]

TYAOHddV TVIINHOAL NY3dOuNa 3HL 40 SNOLLIANOD J1d1DadS

LO00/EE-Y.LT IBAddy jeojuyos | ueedong Jo ¢ abey

i

Feb 2012

Page 39



Loyoue ue Jo

sjueuodiwos ey Buifiusyoxs Jnoypm Jeinjoeinuew ey Aq payddns se Ajuo Joyoue ayj Jo @8n —
‘2)is 3y} Uo slegew [Bojuyoe) Jo} ajqisuodsal uosiad ay] Jo

uojsiuedns al) tepun pue |euucsiad payienb Aejendoidde Aq o PSMES UCHB[RISU JjouR —

'SMO|[0} 8B PB|[EISU] S| JOUSUE BU) )t PAWINSSE 8q AU UBD JOLSUB BY} O 38N 1O SSeujy Byl

SIOJoUE Jo uoliE||es| 2

*(-0j0 ‘poddns ¢} 10 JuelesIoulel & SABIAI
Joyoue ey jo uopsod “B'e} sBuimelp ufiisap ayy uo pejedIpUl S§ Joyoue ey Jo uopisod sy

‘pasoyoue
9q 0} speo| sy) o Wnodae Bups) pasedeid aue sbumelp pue SeOU UCHE[NOED SiQEUUSA

“SHOM S)1oUsD
pue ssBrioyoue u| psousuedxe sesuibus ue Jo Ayqisuodsal el Jopun 8loLouB uoSURtD
peljoAued-enbio) 1o ‘y POUJEl ‘0 XSUUY ‘¢ SJAI0UCD Ul BS[) JO§ SIOuDUY [BIe 10 [Batuddy
IEoluyse ) ueadoing Joj sujleping » ey) yum souepliosos U peublssp ale sefzloyoue ay)

isuojpua Buimoljo) aij) Jepun ueal g esn papuajul sy) Joj SICYIUR BY JO SSEU Y|

soBrioyoue jo ubjseq-

uojje||=}sy)

‘UOIEJUSLUNSOP [BIIUYDaY SUJ Ui UMOD
Pie| pue Apoq peacidde eyy pus JusluiEg np snbluyos) 1o enbunualog anuan ey Aq ued
8y} Jo uopoadsu Buunp pepnuap] se ssanold BuuMOBNUBL pejewoine ayy Buisn jeaoiddy
[eauysa | usedoing suy) jo SuOSIA0ID BY) UM GILEICODB U PAINIOBNUELL S| JOYOUE S|

Buunjoemuey

passesse L|jqeinoag)

SEM 6sn papusyu) o)) Joj Jonpoid 8L} Jo SSBUIS BY) YIUM JSPUDN Sucjdunssy
»

? azs —

(2 uondo 1100 DV13) Aobajes esn —

‘|eaoiddy Jeouyoa) ueedounsg sy} jo Joquny —

“iuisoues Jo eleoyNeD HI SU1 JO Jaquinu —

‘pexyje sem BupiBu-39 SU) ydium Uj 226X oy} 10 sYBIp oM 338) oy ~

Sued Buunioenuew pue Jeanpoid ey) Jo sueer Buikiusp o sweu —

‘Apoq uolyBoUfLSD BY) JO JSGUINU UONBDYRUSD —

:uoijeuLou] Buimolio) 2y Aq peineduoose

8q |[eys « 3D » |oqlufs ay) ‘sioyosue jo BuiBmioed yoee uo paxie eq jeys Buppew 30 ey

Bupep-an

"UMBIYIM €q [jBys S1ealiiia0 AJULIojUos sy pejian) Jabuo] ou e ued jse) paquosald el
pue |eaoiddy [eojuyse | uesdoin3 sy} jo suoigacid oy a:Bym SBSES U 'JUSkIGEg NP snbjuyoe |

1000/66-v.L3 [eAciddy [esjuyoe) uesdaing jo g afiey

ey

Ty

a4

‘B

3@ anbyueiag asueg ey) o) ‘Ajpagiedsal “Apoq Logaadsy Jo AP UO[EdYRIe au} Aq puewap
Lo ajqejleas Spew eq |[eys SouE||leans SNONURUDDS pue Uoiieoyuss jonpoud Jo synsss ey

‘uejd 159} pequasald ayj oy Bupiodoe
peuwiopad &0 o} easy josuod uoponpord Alopg) Jo JUelLSSasse pue BIUB|||GAIRS SNONURUOD)

‘ueyd 1s9) paguassud ey; Jo Junoode Bupe) psulejuiew aie sseooud Buunemusw
pojewone pajosds ey pue josuoo uoponpord Aopel jo wojeAs ey IEW}  poalusa
€q 0} sey | ‘uonosdsu) Jejnfial Joj Jeek B aguo Jsee| 18 A10)98) BU) JISIA {IBYS Apof pancidde ayy

SOUB{IDAINS SNONURUOY) EZ'ZE

‘eAoiddy [eojuyoe | ueadoing
81j) 0} sexauLY au) 0) Se [[aM S8 *|'g Ul paugjjusw suoleojjioads ayy o} Bujpioaoe Joysue ey jo
Buunpogynuew ALSpIo PUE ERONURUCD BIRELS O} SIGELNS BlE |OU0D UCKINPOIY Aojoe) ey pue
Aogoay sy ‘ueid 153) peqliosad SU) Ypm SOUBPICIIR Ul ‘jBY) UE)ISoER Ileys Apoq paaocidde ay |,

..._Hm._.g:& uojionpesd A1ojoey Jo pue K10j0e) Jo uonoedsu [Eiu] ZE e

"PONOAU] s8]paf paacldde su pus JuswWijeg Np enbuyoe | je enbuiusiog
alue) aiy usamjeq paaibe eq o} sey Bupsel-edfy jeyul Aessessu eyy sases yons Uy ued
Jo eu]) uononpord ewy u) sabueYo el alsy) ssejun pesn eq [|eys [eaciddy [Bojuyoe) usadoiny
au} Joj Juswssesse sy} 1o yed se pawuousd sjse) auy Jo synsau ey) Bunssp-adf ey Jog

1npoud sy} 1o Bupser-adky [emu 'L Zz'e
selpoq pasosdde jo )88 22

"|eaoiddy [BojUY2e | uBSdEINT S|4 JO UOHERIUBLLINIOP EIIULIS)
eup Jo yed s yoym ued js9) pequasald ouy ) puodsanos |BUS joIuoD uonanpoud Alogsy
843 upw psuuoyiad eq o sjpuuod pue Bupsa) jo Asusnbey pue ainjeu queps sy) Jo SElRq

“jusiungg np enbjuyss |, 1@ enbunusiog enuag sy o) pejusseld eq [ieys sy ‘jsonbal

uQ "sJuBIeANs snonunuos s Bupnp Apog uojedsul ayy o) pejuasald &q [BYS SPICSD BYL
‘ionues uogonposd Alojoe) 1o} ejqsuodser uogiad 40 aimeubs

‘susuanbal yym uosyedwod ‘epeudosdde y ‘pue Bujjse) pue |0UUGS Jo ynsel

‘susucdwon

Pue [els)ew aiseq Jo ynpaud auyy Jo Bunse; jo elep pue jonpaid sy} jo aIRjEENUELW 1o eEp —
{Bunse} 10 jonuos Jo adAy

‘sjuaucduioa pue |euejew gjseq Jonposd ayj jo uoneubisep —

:uorEwIoju| Bumo)ioy sy) 1se8)
Je epnjou] =piadal 8y ‘pejen|EAS pUR PepIooal ale jonucd uoponpoid AIojoe) Jo synses eyl

"JOYDUE 8y} Jo
s82004d BuunjoRnuew peELICINE BU} Jo Junoaoe Buye ued 188) paquosaud U} Ul UMOp ple| &)
Joysue pajquesse sy uo pue uonsnpoud Bupnp pajanpuos s1se) pue s0JUCD jo Ausnbay ey

“Joysue ay) Jo ssaudlRidwon Jo pur AJqUIBSSE JI2UI0D JO [OIUOD |BNS|A, ~

"SjuUBWB[a AU Jo Jueuneal) pesiueAleb eyy 1o sseuyoy] ~
*(ssaupiey) seysem ‘(peo] Jooud) Jnu feucbexay ‘(ybuens

efisug) sjew)n) aassie ‘(syiBuens ojjsue) ejewyn pue Buipik) Joq :sapadord [eusje —
{SSoUyIIL ‘SID)SWIBIP) JaySEM

1000/66-¥13 |eatuddy [ojuye). usedang jo g efiag

Feb 2012

Page 40



LO00/66-Y.13
leacuddy [eoluyos @SN papuolu)| pue jJonpoid
ueadaing o

L Xauuy Joyoue uojsuedxe pejjosuos-anhio} WSH BiH

JoqWaL EJBITUOD JO SSBLDIL |
— yjdap sjoy .
anpay dep ebeioyoue eAgoey] 7]
—

km|

-

Buppen i

980 U] JOYDUR SY) JO UOHRIISON)

")oq ay; jo YiBuey e10) ey) o} Buuayel 1 epoo sae;  ‘beay auyy uo
(iuawpeqws paonpsal auyy o} spucdsanos Yed papesay] ey) Jo pus si)
“yidep Juelwpaqua plepuR;s aY) seynuapl Bul JNojos eng B "pEBIL} BY) LD
“Yydep uewpsque peanpad / plepues eagedsel o)
Buipuodseanon BU% eSaUNSUY UML) WNWXBLY JGISWEIP (BUILLOU £ZIoLaN
‘auBy jejoIe WD YSH ‘ljog ey) uo BUSER]

A

/ nog anze|g

nu [euoBexol loyses
1IOYIUR PajIIesSy

L000/86-v.L3 [escuddy |Bojyde L UBsdaing 3o g ofied

HATIAAE 'H
snbrugaay anaysaayg ap

Aq pouZs 51 N0JsINA WAL [¥T[ELI0 A,

"Wo) yojjdxe pue 1Bsio B U uo«.:@mm._n 8q [EYs B18p ||V

PrAEY "4eq Bupnjosnuew auj Jo UOREILUep]

“ " papesu wawdnbe uons|[sjsu| [epads Aue o} esusta)al

‘UopexEny|| ue jo

sueaw Aq Alqesaysud ‘sjoy ey 0 Buuee) Bujpnjou] ‘empascud yonEejE)sy) sl o LIONELIOM]
‘usiow enblo} pannbay

‘yydap sjoy wnwaupw

'Yidap uonE][EjSY) WNWL

‘aInpdj eu Jo SSeUNDIY) WNLLIXEL

‘IeJBWE|p peaiy}

“1ajsLWelp J1q yup

:aJ8 palnbal BJEp wRWIUL 9L ]

“(s)uoneansniy Buisn Aqelejeld Jeays UoONISU PASGjOLE UB UD Jofpue ebexyoed
&L} uo Algeld umous o Jleys elep uoE|EISY |2 UOJIPPE uj “Baoiddy [Rojuyse) usedang
ey jo syed eagoodses ey Jo uononpoide) Aq epew oq Aew UORBULIO] SIYL ‘paulesucs
ale oym asoy) o] ueAlb 81 "22 ¢ pue """y U 0) paliajal sexeuuy Buipnjoul Z pus | oy Bupiosoe
suojpuo2 Jloeds Sy} UC UOJEULIOJU] U} jey) eunsus o) Agisuodsal s aimoemuUELr SyY) €1 )

JeImpeynuEw By) o ANNqISUdsSY S Z Y

“Youaum enbio) payeiqiies e Buisn g xeuuy u) usab Juewow anbie) ey) 10 uojesydde
‘uoijeaidde

PEO| JO UDHORIP ey} i JOYJUE ey} O} JOu &I | PEO| UoEUB] Snbjigo Jo Jesys Jepun )
pue JEpoui WpBuss Y6 Lim pejy 1 810 [P PEHOGE AU} Jf GSUE)SID JE||EWS O S|0Y PEPOGE
S1 Jo yidap ay aoimy J0 AEME SOURISID WINUNUAL & j2 BUKILP MOU :a[ol PEHOE Jo 65D L}
‘Juswaniojuiel sty Buibiewep jnoyjm sajoy (up si jo Buuopysod

‘830URIS[0) SNUILI JNOUYM SanfBA paoads sy o) Bujoeds pus eolejp eBpe ey) o Buidess|
‘loajuos yydap JUSLIPEGW 10 BIBUNS QJRI0UCD ey Bujpaexs jou Jovoue ey} 1o Buppew
yidep epepdoidde sy 51 jeu ‘yjdep juswpagwe pswdads ey} Suunsus uolje|Esuy) Joyoue
fisop Buyup o ejoy ay) Bupesio

'SpIoA juesijubis oypm B-e ‘pajoedwos [am Bulsq e1e19ues JO yoeuD

{Ajdde speo| dsusioRIBYD SUYJ LDIYM

0} 819J0UCD Y] JO JBY} UBY) Jamo} 10U 51 pue usaB eBukl ey ul 81 padeld aq o} st JoyduE auy)
Yaium Ul sjaiouod ey Jo 8819 YiBuens ay) jei sunsua o} Joysue ayy Buloed elojsq sioeyo
Soyoue jo

adf) eiy) Joy san[eA sseuyany paunbel Jo eBusl oy} o) Buppuodsaliod amxy ayj Jo SSaLI|Y}
‘s[o0j |ejoads ejelidosdde sy Buisn pus esodind 1ey) Joj paredaid

sfiteip pue suopeoyoeds sJaimoBNUBW BYJ UM SSUBPICIOR U) UOHE|E)SUl JOydug

1000/66-vL3 [eAciddy 1eajuos ), usedaung jo ; obed

Feb 2012

Page 41



1000/66-¥.13
|leacuddy |eoluyoe)
ueadoing jo

€ Xauuy

EJep uopej[E3su|

Joyaue uojsuedxe pejjosuod-onbio vSH INH

SLL | oor | 0d) | &9 Sy 0p_ |ty Wy BOUBIS|p 80D tiNUUR [ PPy yidep ebBeioubuy
00/ 0oL | 00L | S5 Se GE | (W} Mg Guiseds wnwiuiy |  eAlloale pesnpay
GZ| S0L 08 29 (] 0g HOuEs|p 60pS LRy ] ogouYy
S0l 06 [7] G5 05 O UDROS WNW[UIW | aapoege papuelg
OZW | LA | 2t [ O3 | oW an A0 8J89U0D PEKRII-UCN
{01 — way ‘ww) ) oy ¢ I W )
I ‘GNP B I0 ESBLYOIL WP (g) (n) ¥, wawow enbucy peunbey {£)
() By 'yydep efeicioue exoey3 (1) {wee) 4 “9.npe) BY) u| ejoy aateiBeld Jo ejeLrE( (2)
() Wy “igdep uopeielsul WK {9) {wws) ¥p g (up 50 1ejeLuB|p BUILON (1)
{w) by ‘Jujod ysadeen o ajoy payip Ja tydeq () (o — ujw ‘wiw) Jjog ex jo (Bus) |E10L {0)
“BUuLGIepU) A &8 yojym Jo Bupioyoue o} pejapised aan ,
e
_mm-a_. 8L ) 06 | S0b |0 Joe-0| ol | =L | o€k | 002 JooZ | 22 | oz [0zl | s
_mz-m ¥9 | g2 1 o8 | ock [szi-o| ¥ | 56 | o1 | oek Joou | @ | 9L |OKE
lezz-5| os 00 | of [oop fooz-0] of | 08 | %6 | Opk | 05 | e | 21 | ooe
gl 2z I5 | oo |oop Joe-o)| o8 | 66 | or |oob foe | 2L | o0 |ome
89-5| .58 | 2 | 05 | ook JEt-0| @ | 25 | %9 |oob { sk [ B8 | A |
SS5-G| 0¢ | 2 | or | oor fSk-0| o } 2 | 55 {00k | & L |9 oo
BN G RC AR R R E) W |® | @ |®] o]
(o) | () | (o | o) | o) | o) | Qo) | fuoe) | (o) | (o) F gy | Quomd feod o) ffuw)
Ty J e | vy ) by | ey |y ) sy | oy |y | wy [ W) | ep rewfuw g
JUBIIPHLLE PeonpeN WeLIPeqLis PIspUETS
BJEp UopEjEISY| 1T alqel
< > »
b"Y N 4
— Ly wdep sioy pagpp 1sedesa
-.._E|_ Py S —p——
R N NN AN A NN
I//ll////l,//l o
/fl///lt//////l///l /I./ O Y /
AR R R R At M.
- N
SN AN A \ / R
) AN
SOV AR A N o /I "N
) 1/////////111/1/1/ r//f N
A N /V
bt
Wotly pdep yseusgaguie UYL
T BRI Bz o e | |

:esn U] Joyaue oY) JO UoHRNSN]||

1000/66-v13
|encuddy JeolUYDe | Sl0Uoue JO SUOjSUSWI[p puk s|eee
ueadaing jo
Z Xeuuy Joysue uojsuedxa pajjonuos-anhiol YSH BIH

62 | 586l | PGL ] €81 | O2W | O | G2l P e e 0 WSH |
8% | 69y | Zak | 9%k | OUW | oFe | O0L TSI PRI T g | | S H |
18l | &1L 6 g0L | ZEA | oot 08 PENVELI ER TR | 1 S H |
¥6l | 66 92 8 OLW | ot 89 PRI AR ET G | S H
GLL ] g5 17 BN IEl 5 it sk T T
Z8 ] 43 £% o 00l 05 R PRSI WSH ]
ww) [ (way | (o) | (e | 6} [T}
il 3P p p (] (w1 8dfy Joysuy
suojsueLl] i slqel
(UER]
A2V PaiBLIOAIY 2-9680Z N3 '99e g eprib yibual;s [ea)s nu
pue pajejdogoaie {20v OSI1 eunin wi) pEG NIQ | jeucBexeH | ¢
15818 (€60Z N3 =33 up) 1206 NI]
SUIZ "Zko¥ OSI 40 (8907 N3 8y U)) 621 NIO daysem| g
W g2 pespuEAEE {pauuapioo) [2als 08D £00C '6EL0L NI NIC 02N ‘9L
‘L9606 NIC | (PeuLiojpios) [9e)s 0680 SOOT 'BELOL NI NIA :ZLW 'CLW ‘BN
{98)s sse|UlE)s ‘Ba00) N3 NI SN anpoig] g
0GF-NH pu8
(B0LOL N3 NIQ 2amn; UY) 6116S NID ‘PeULIC}plo QLI
(wr g2) 06%NH pue
pasiueneB (80101 N3 NIQ o1rny Ul g1 LGS NI 'POULOMIGD
19605 NID 102N PUB LI ‘ZLIN ‘DL ‘81N O | wog| 1
UORS3I0Id] |BHeYEl | uogRublseq | 1ed

£000/66-V.13 jenoiddy |BojUYos) ueedaing jo gi. ebeg

sjeuelel 1| 9jqeL

:ioyoue ayj jo sped Jualeygiq

u0yaUR pajquIsssy

£000/68-¥13 [eACIdthy jesjuyoe |, ueedaing jo g efey

Feb 2012

Page 42



Feb 2012

1000/66-v13 1000/66-V13
[eacuddyy [BoIUYsS] sjuswase|dsip ‘speoj Jeays o) edue)sISes |leacuddy [2onmoe ] sjuewase|ds|p iSpEO] UO|SUD} O} 8OUB)SISHL
ueadoung jo JO S9N[eA J)ISH830RIRYD Y poylawl ubjseq ueadaung jo JO saneA o[jspIdREYD Y poLjews ubisag
S Xeuuy 4oyoue uojsuedxa pajjosjucs-enbio}] YSH BiH } XOuUy Joyaue uojsuedxs psjjoques-enbio} YSH BIH

50 [9°0[B0[ 6080 80| e0] 80]80] 0] 80]c0 [(ua) ~u
1o 1030 | ¥0 )10 [ 10|l T0 [ 20| 20| 20| 20 | 20 [(um) ™2 | juewsosdag
N/ 091050 01 GZ/OZD 8)210U0d
gclles | oy |ov|oe|1|leerla| b2 | ov|ov! oz | pewen-touu peo uosusy
[Py ipdep JuewWpaGLS paonpey U)d3p JUeWpaqLa plEpLES
0z | LN [ZLW ToLW | oW | om |lozn [oLw I ZIW [ oL | 8N | oW

speo] uojsue) Jepun syusiuese|ds|q g ajgel

- uBijsep Joj ansioep jou noqnd ,,,
SJBUILLRIAPU] AHBOIIB]S 818 LUo[M SJUSUOCLIC) [BINEINIS 0 BLROLOUR of JejoLsEl B8t ,
. o ul 10y s L2 | e2L [ SEL | €Ll | .88 | .6 | (um) | ®= 5
10 lequalsl BlBISUGS 84} ) pafup B[oy AUl pue Apog JOYIUE Y} USIMIOE JUSLISAOW Ol SBIEDIPLY ALl 96 5L £9 2EG 14 “._._Hu B SouElp ebp3
anjeA 12y081g Gu) JS(IUM “YOS) J04OU ey} iny Peloadie &g O} UORBLLIOIID eU) SIS Blq8 6y} USWEoHdS gev | 9vE | 0J2 | oze | 9.1 [ 081 R— Buced
BN | 19 [ren ; T [ (04 [{Z09 vee [ g6l [ oSt | ol |.60L | .06 | (W) ujoedg
1'e |6z (22| g2 | ve SZ | ¥Z | 82 [(uw) =g 0s't | 0571 [ 087 | 08" |.0G7 [L08L | - T =oAL G18.DL00 PAYOBIS-LOU U
EBRIERIIERIIERID @' [ WoeT [ 10w ot o JouL [olL [er |2t - & J0jo8) Ajayes |epied
L'z | &1 |81 | 2|9 21 |9 )¢} [(ww) 99 | eweoedsg 8. | v8 | o6 | e | .86 | b€ | (W | ™y jdap SheloUsuE eAjaal
. . , {N¥) 08/053 01 520020 SjeIucD Y ydep Juswipaque pednipay
g6z (06l [2'0L) L' | +'¥ L2 | ¥y | 62 |  pewoes -uou v peoy sesys 8IZ | Jeg | 68F | GEL | OZL | OOb | (W | =3
P Yjdop JUSHIABTUIE pach Pole pIEPUEIS 5ol 182 [S01 | 6Z | 22 | 0p |[(@ww) | W@ saueysp ebp3
996 | vob | 8J€ | 0JZ | OvZ | 00z | (will Wy
60E | 262 | OLE | 0S} | +Pl | ogih | (W Nog Bupeds
$peoy| Jeays Jepun sjwese[ds|q ;2 ajqe), 0g'L | 0L [ 08L | 09" | 06'1 | 08"t - " = S]813U0D PAIRII-UOU U]
) 01 [ 01 | 01 |08 | 01 | 23 - 2 Jojom) Ajajes [Eped
‘Sjeujuusjapul AjBaji2|s Bie Yojum sjusuodwon [enjamge jo Bupoyaus o) peyoyises esn , £0L | 8 0l [+]] [ OF_| (uuij | ¥y ap ebBlolsUe aAgIELT
o5l PR ®TPY  yydep JUoWpewa pIepuEg
0L - 2 oy Ajees [Bpey eanjjey Buiyijds pue ainjje; euoo sjeluog
0z [ ot [a | o 8 9 [(wwy| ™p 49UauE jO J5IeWE|p SpisD ZF 050
[(T9)] L T B 50
B o 0s ZF | .98 | .0g |(ww | "L oy UIpeo| Jeays Jepun ZE'l - %h 0s/0ry 9N 1oy sioje) Busesiou;
€L | ¥8 | 04 (705 | e | or J(Wu b Y sy Jayoue jo Lfus| sapeys L 28/080
Sirie; 65ps Sasdiod 050 |09 [-080] - L S|RIDUGO PeXOBIS-Uou U]
“BIBUILLEI8 LI A)ITSRRIS S4B LM SIUBLOLID [RINGINS JO BuMOYDUB o} pajinss] @sn , oL | oL | 21 - % 10j08} Ajojes [Biued
0g7] - Y, GZ/02D O1eI0U0S PjoBId
00'E - 7% 10308) Aj8jes [Bjed w | W | e | ZL | .6 8 | (N | my -LI0U Ul aouEs[Se) ogsUepBRIBLY
[ A I I T P | ™Iy ey 0%elly Hyla "R URdsp WiSWpeqis peonpey
el zTz 1 v 11 1T+ - E] ¢4y oy Jo (g'g) uojenbe ul Joped 0g'L | 0g'L Jos't [og'L [ - o, BJ2IIL0S PEXIRIS-UOU U]
elnjjey ynofid ejaroucy oL [ O | 0L |21 - * JojoB) fages jegieg
._x_m S2/(020 8ja1u0D paNIeId
e w | w2 )lo |7 9 | () N -LOU U SoUB|SISe) OfiSIOIBD
e oﬁmmmym W (3dep WUSWIPOGII® PIEPLG
ULIE J3AG] USIM San|1e] e85 an[ie) no-jng
Jojaey Apjes |@jed 40108} NjajBs |Bjled
SOUEJEISE] OfjsUeReyg ped pasnpal} SOUB}EISad JJSHBDRIBLD)
ULIE JaAS] JNOLGIM eJnjjey [Fe)S auh|jey 9815
0ZW [ oLW | ZIW [ OLW | OW | W | Oz | 9LW [ ZUW [ OLW | BN | W |
V Poyjew ubiisap Jo sproj Jeays o} aoue)s|sal Jo SIN|EA SSLISJORIRYD 19 SjqRL ¥ poyjew uBjsep jo spio] UOjSUS) 0] BIURISIS] JO SAN[RA IIS[EIORIBYY i BIGRL

LO00/66-Y1T jeaciddy |eojuyoe) ueedang jo 2y eBey 1000/66-¥.L3 |eacuddy [eajuyda g ueedonz yo |} ebag

Page 43




vE 4 P66 0T LT T o8 Sepymnimuo;) veadoang ST 30 TEONOL TR0

7661 131 1 op eereSuny anbyrqnding f 2p [oRE0 oS
14 *E66T'3'0€ ‘02 T o7 SopmmMIO)) weadomy oyj go fewmof OG0
Tl 'd ‘636 1°2'TT ‘O T JU sopunemmo]) meadoIng a1 Jo [INOF [EIOmO

: 'yans se pejeubisap ar o) anRy
sebenBuz| seyo oju} suojasUBLL "WLOT UM PEJEINOS UOISISA 8U) O] SPUOdSSLI0D LOIEIBA
siy] -eBendus; (eroyjo sy Uy Apog [eacudde suy Aq penss| s1 |eacsddy [eoiuyoe) usaedoing ayL

‘[eaosddy [eauyoe ) weedosng sy
asngjul Jo PIPENRUCT JoU ([jeys saunyoelq Gusiyeape jo sBUMBIP pUe Sp@ ] "Uyons se pejeubisep
eq o} sey uoponpodal |eiped esea sy ) quewsgeg np enbuyoal je enbyyusing enuen
8y} JO JUSBUOD USHuM BUY UiM 8pew eq ued uojonposdss [ejued JeAemoH |Rj U] oq. |eys
SUBSW juoijoee Aq uojssjwsues; Buipniou| jeacuddy jeolyss] ussdoing siy jo uoponpoiday

“033/801/68 saoellq [unod auj o (L) § ey o1 uensind jJuswneg np
anbiuyss) 15 snbynusiog enuen ay) Aq umelpum sq Aew [BAcIddy [BaUYDS ) Uesdoing Syl

‘Teacuddy jeojuyoa) ueadoing sjyj Jo | ebed uo pejesipu)
&s0) uewp Jayje spred Buunjoeinuew 1o ¢ ebed uo pojesipul SSOU} WL JOYIO JeINJoRMLIL
Jo sjuebe [0 sisimoenuew o} pausisusl eq o} Jou §| [Bacddy [EojuYsel ueedaing s

‘[eacuddy [Bojuycs | ueadoins Sy} JO JOPIOY G Yum SU[BLLE] BSN papUSjU
U} Joy sseLyy Jisiy 40 pue [eAciddy |eojuyse | ueadouns auy yum sionpoud au jo Ajuuojuos ey
Joy Aygisuodsal ayj *esejelpanaN (Bunnoejnuew o) pieBai yym (eaciddy [popuyoe) ueadomg
sif} u epew suojjdumnsse Jo juswyny ey Buweouos ejdwexe Joj) jued BuunpEmuew
ety ul so8id axe) Lew Buppayd Jew ere [Baciddy [ealuysel ugadomz suy jo suoisiaoid
8y} JSyayM ¥09UD ©) pesUoYnE S| juewneg np enbjuytel Je anbyyuspg enusn eyl

"« 8Joyoue uojsuedyxa
psjjonues-snhio) » Z WEd pue « [eususB ul sioyouy » | Ued 'J66L UOPO ‘LO0 ©W.IT
4 9]9J0U0D Ul &8N IO} SIOUJUY [ElEly » JO [eAoiddy [Boluyse] uesdoung Jof aueping —

wum_h_mw_a.m UcISIoa(l UOSSILIIOY JO XBUUY uj uj o Jes sjeacuddy |eoyoe |
Ll

uesdomng jo Bupuess ey} pue Bupedeid ‘Bupsenboy I0) seiny |BINpadold UOWWOD —

‘uoRoNsUND
ep spnpoud sep ebesn,) § epmjde, EWSOUCD <c06} jelnl 8 np 1¥9-z6 .U W0RQ -

€661 AINr 2Z J0 $AYBY/EE SMBIA OUNOD ey AQ peyipow | sjonpoud
uoponisucs of Bunejed sepeig Jequiep Jo suodjsiacad  eAgensSMIWDE pue suonemnbal
‘ame Jo uopewxcidde sy} uo g@egL Jequessg iz 40 DIAF/0LEE SMDBNJ [IoUNGH —

UMM SOUBPIOAE Ul JUBWGEE
np anbuyos] j8 enbljjusrg anuen-ey) Ag penssi 81 [eaciddy [eoyse] ueedoung spyL

SNOLLIONOD TVUIANID ANV S3sVE TvH31

8000/66-v.L3 reAcuddy esjuyoe) ueedaing jo Z ofiey

- tNom o

sleacuddy [Bojuyse) 1oy uopesueBio usadoing
uagdoung enbjuyoa] jusweBy | Jnod uopesiuebig

x¥x
» -
» ES
» *
Hoy

S002/20/10 N8 000Z/BA/LO P @p(ieA 8000/66-Y.L3.| 8ce|dwal 18 s|nuue uepdaing enbjuyss) jJuaweiby 180
"500Z/80/10 03 0D0Z{R0/L0 oK AJIPIBA iIM B000/66-V.LT SoaBday pue sjeauea [eacsddy [eojuye) uesdoing sy,

“Juawnsop ey}

o yed resBeju ue uLIo} Yojym sexeuur g Buipnjou| sebed z1
<5

.EmEzuou:uﬂcﬂmﬂc_m_tmnE«__m.fwoxmszwma:m:_u:hw@mmaw_.

ujeysuelyae; jo Ayedioupd ) yued) | sujsn ‘o BIH

0LOZ/E0/80
S007/E0/80

"ZLN pue

‘OLIN 'SIN ‘O S62]5 18]8/2U0D PONORID UGU U] 88N 10} ‘[aays
£S8|U[e)S JO Spew “Joysur ucisuedxa pajosjuca-anhio]
TLAL 19 OLIN 'BIN

'gINl SAQWIRIP © HNSSY LOU LOE( 8] SUBP UOJIEXY ap ‘S{uiLcd ejdnos
& ofires|A red uojsuedxe B ‘ejgBpAXOU) Ja|DE Ua snbjjptu o) Asy

wisysuajyae| jo Apjed)oupd

NYVHOS ¥676-1
sloyouy Juj) sseuIsng ‘OY BIH

¥VSH LTH

(efenbue; yous.d u) 8] uoisisA [euBpo ey} ‘uonejsur) ebenbue) ysiBuz)

A )

»
-] L]
"UoRINEUCa
o 6D Minpaxi s8] n

JUBLLIGALICO SRS

{13 Sop SEATELSRIPE 0

aINUA e 'SBATEIEIDR)

25 SUOEsOdsp 6P Jeleydaiddl XL
ne.aApeal ‘ggg| Kiqueasp 17

<._.Om..._mn_mmmEmE
~espregpso g prf 3 e e

——— 2 FeuaULAR o #
mh ® ¥
fcatinio o -1

16 1992 5 Lo (g€) :xey

82 8Z 05 0¥ 10 (EE) 1 'I6L

91 X8pag SlNvd ZB.LGL

2189U|0d INeEY NP BNUSAS
jusuwmeg np enbjuyoa

18 snbyjuslog aqusn

Feb 2012

Page 44



"enpacold uojjejsene AJULIOJUCS BU) Uj PBAIDAU EBIpOq packide auy of 9/ge|[BAB epaw Ajuo
St pue Jusigg np anbiuyas ) je enbynuatog euuss ay) 1 paysadep useq say uejd 1s8) paquasaid ay]

"Ysiuy soBUNS ‘ssauprey ‘UiBuans aysue) B'e ‘sajpadoid reusjew BujuLS;ap pUB UoISUSWIPD
BuiAjuraa Aq (sanjen reujwou yysm uospadwos) sieddns Aq pajussaid sjustinoop uopjoadsu) auy
40 J0AUOD epNjaU] [|BYS SBASHIS UO[SUEBDXe JO) DUBY [BlOW puB S)og JO) SIM ‘SISUSEM ‘S)ny SB
yons sfeussw Gujwooyy Jo josyn aouejdedde el0]aq Jainoenlew ey Aq §Js9) puB Sjojuo
o} 10elgns aq |lBYS SiBUSIBW MmE! Sujwodul ety "uBK 3581 pequosaud By) Ul UMOP plEf SE
sjuelunacp uoposdsu] JuEAS|al ey Yym pajddns sielic)ew mel asn Auo [[ByS JEINIBNUBLW oy

‘[eacsddy jeoiuysa uesdoingy
aUt Yim AJULOIOD U £ Jonpoud euy] 18y} B3INSUB WAIBAS [0JUCO uogonpaud siyj "saunpeoosd
Pue sspijod Usjlim JO LD B} Uj JOULBW SljewelsAs B U] POJUSLINOOD auE Jaimoenuew
ey Aq pajdope suojsiaodd pue suewaynbal ‘SuSWSEE SU [y uokonpold 30 [ONUD [BUIS
Jueueulad sas|aiexs pus Jued ey Uy wisisAs |oJjuss uojanpod Aioiae) B S8y JampenuBLL oyl

lonuoo uonanpod A10j08) 18NJ0BNUEW BUY) JO SXSE] L Z'E

saplqsuodsey

‘Jouiuos uononpoad Aojaey 4o [eaoidde pue JUSWSSESSE ‘SIUB|IBAINS SNONUYUCD G
‘lonuco uogonpaid AiojoR; Jo pue A10joB) Jo Uooadsy] (B
‘Ponpoud ey jo Bupsel-edAs eqyg g

:Apoq paacudde sy) Joy sysE) {q

‘ug|d )129) pequasald B Yym
eouepIoade Uj Jeinjoejnuew sy Aq Aepey ay) je ueye) sajdewss jo Buyse) Jeyun) -z
‘loauod uoyonpoud Alope) °|

JaInpenuew ayy Joj sjses (B

sopiaosd uojssjwwog uesdoins du A UMGP Pie| ||| ¥eUUY D33/901/68 AR
flouncy 0} Bujpioooe () wesds se 0) peusjas) () 2 AULIGIUGD JO UONEISEYR J0 WSjBAS By)

waysAs A)uuoluod JO UO|jESey

Bupiew 39 pue fjuuojuo Jo uopeneag
b4

g uonde) 4o SISE] 1) U0 ‘« SIOYSUB ucigUBdxe Pajjonucd-enbio] » Z uBy
pue « |2iaush uj ssoysuy » | Ued ‘« SJIOUGD Uj BEN JO) SIOUDUY [1S 10 [BAcddy [BaIUYDAL
ueedoing Joy auleping » Sy} Yym BOUBPIOIDE U| SPEW uSeq SEY § pue | sjusliaanboy
[Bjuessy oy} Jo esues sy} Wl esn u Aj9JEs pue AYIqEIS pUB SIUBISISEJ |[EDIUBLDSt
Jo} sjueLalnbal ey} 0} uoRE|R) U] 95N PEPUAIU| SY) 104 JOUDUE S JO SSalL JO JUSLLSIESEE ol

uanealjiieA jo spoyen

“Jun sjeidwos e se pajddns pue pebeyoed aq Auo |leys Joyoue ey

}0q 2Uj Jo peey sy} uo peyound 5 304 Bl o yBu
[Ej0} @y} 0} Bujpucdsauos Spos s8] V "edBNNS Sjeiouna By} 0 Med pepEe.y oy} Jo pue By}

8000/66-¥.L3 |eaaiddy eojuyoe | usedomng jo ¢ abey

TE

Ve

*8ajpoq pescidde sy o) 180 pepuEl 8| ‘ainpacosd AULICJU0O J0 UOEJSalE
341 Ul panjoAul se[poq pastrdde ey jo SySe) a1 Jo) JUBABJE) S8 1B} 8B “PUE JUSWINEE hp enbiuygs 1o
anbyguejog anusy ety 8 pagisadap | [eaciddy [EolUYDe ) uEadoIng SIY JO USHEJUBWINGOP |BOJUYS] AL |

0} spuodsencd ydsp Juswpeque paanpel ey} pue yidep JUSLPSOLIE PIBPUEIS Bl SBYNUSH
Bupiraw Bul NoE? enjg v | ¥AuUy 0) BUIPIOSIE QUNDXy BY) JO SSOWNTIL) WNWIXBL OM)
84 PUE JOUSUE SUjJ 40 JOSWIEIP [BUJLIOU 6U) ‘SWEU [BIDJBLULICY Si) YiM PeXJEL §] JOYSHE yasg

"G 0} £ sexeUuy uf uaAb ale sabesoyoue Jo ubjsap ay) Joj senjea
Joyoue gjsuepereys ayl ‘Baoiddy |eomuyoss) ueedoung sy jo QMONEIUBINIOP |EORIDS)
8y} Ul umop pfE| sanjea eAlosdsel ey} 0) puodsaLOD [lBUS £ PUE Z Sexeuly U] pajeD[pul Jou
10yoUe ay) Jo $30URIS|O} PUB SUOISUSIID ‘SBN|BA [BLSIEW JISMOIDRIBYS 6U) "¢ 0} | Sexeuuy
uj uanb suoisinold pue sBumelp eyp o} spuodsanios ZLW 0] g Jo abusl oy Ul Joyous aylL

3onpoid jo sapspajoRIRYyD)

___Ao_ﬁo%a:o%oéuﬁEuu:uea__onu_ﬁ_._uﬁﬂn__o

"SHI0M Bl
Jo e} Buppiom sjgeuosea: AEowoucoe pejoadxs sy) o} Lonelss y sEnposd b ot} Buisooya
Jo} sueew e s8 Auo peprebel aq o} w12 Jng Jasnpoid ey Aq usaB ssjueient B se pojaidiejy
aq Jouues ay Bupliom aU) uo usyB sUC[EYIPYl BUL "SIBEBA G JO JOUJUR 6y} Jo AN Bupjom
PBpURJU| pelUnsse ue Uo paseq ele [eaoiddy [eajuyoe ) usedoing siy) uj Spew suoisiaod ey

‘(pesn aie gjauelew
Buinrep essym sjeuuny peos Jo spued uogezenydinsap Ul Bs) ucnnyod |esiweyo Swaxs
Uy susydsole 1o sjed Buwwms JoopU Jo sleldsowle apUoyD “JaIEmESS Jo Loz yseds oy
10 Jejemeas v uojsieuny) Suewsie suewued ‘B'e ele suopipuos axssaubbe Jemaed yong
JEIxS suohpuos ealss2ubfe Jemojued ou Ji ‘sUOIIpUBH (Buisy dwep Apususuued Ul Binsodxe
o ‘(uauoaue supiew pue jeuisnpu Bupnjous) emsedxs syeydsowns BuIes o) joolgns
8]2J0UCD Ul OS[E pue SUDHIPUCS [BURIU AIP 0} 303(Gns S)aIoUCH B] pasn eg AEw JOysue el)

"A|UO B1819UOD PENIBIO-UOU U} PRIOYDLE
aq Aew y "Z!-0002 ‘902 AN 01 BujpJoooe wnwixew 09/050 0) WNWIUN Sz/0Z D $88SEl
yiBuauis jo ejesou0s Wbjam [EWou psoiojuiesun Jo pasojujel Ul Buipeo) opejs-isenb Jo one)s
0} palgns safeicyoue Jo) Ajuo pasn aq o) s JOYsue 8y "SeoUenbasuco ojoUGos s|qelepsucH
0} Pes| Jojpue 3] UBLUNY O} YSi 98NBD "HY10M 8 10 AY|Igele oy} ssiwoidwon pnos syanposd
9s3y) Yym opew sebeioyous o omjig} pue psiEny oq [[BYS DIT/A0L/ER SARAQ |PLRDY
0 {7 pue | sjuawalinbey [EYUessT au) Jo GSUSS SUY) Ul ©8n u| A19Jes PUB AJGEIS pue SIUESISS]
[BajuEySW 0} Sjuswalnbal Yojym Jo} seBeioyoue Jo) pesn aq o) pepusiu SI Joudus oy

Ve

€8n pepuajuj “g°|

_ "I Xsuuy ul usaiB eanf)y ses Joyoue pajleysLl ey 104
‘uojsuedxe pajjonuoo-anbio) Aq pasoyoue pue sjoy paqup & ol paoed g
Yalym ‘jeels ssojuiels Jo Spew Joysue Ue 8] ZLIN 0 9 fo sBury eu u) joyouB d-ySH ILTIH Syl

Jonpaud Jo uopjupeq 1L

asn papueju| pue jonposd jo uoIuyeq

IVAOUddY TYIINHOIL NVEdOMN 3HL 40 SNOILIONOD J14iD3dS

8000/66-V.L3 [eaqddy |Bojuyns) usedoing jo ¢ afieg

[

Feb 2012

Page 45



‘(015 ‘poddns o 10 Justeslolisl o) eAjElel
Joyoue oy jo uojsod ‘Ba) sBuimsip uBisep el uo pajealpul &1 Joysue ey jo uojsod eyy

*paloyoue
©q 0} speo| &} Jo Juncoos Bupe) persdesd aiE sBUMEIP PUE SBIOU UOHEIN[ED S|qELLBA

“3H10M S]2I0UCD
pue safesoqaue w peoususdye JwouiBue ue Jo Ayqeucdsel sly) Japun Sloyoue uojsuedxe
pajlonuos-entuey 1o} 'y PoYIel ‘0 XBUUY ‘d S)RISU0D Ul SN 0] KICYSUY jEjepy 10 [eacuddy
[egluyas ussdoung 1o} aUI[BPING » SUY) UM EOUEBPIOIE U| paubisap aie soBeloysue ay)

‘suogipuos Buimo||o) &1 Jepun uenB s; 88N PapUSIUI GY) 10 SIOYIUE L) 10 SEIUL 8L

seBeloyoue Jo ubiseq |z

uoje| ey

‘UOHEJUSINIDP [BIJULDS] 8L} Ul UMCP
ple| pue Apoq peacudde eyy pue juewpgg np anbluyse) je snbuueldg auuss oUp Ag wed
ey Jo uopoedsul Guunp penyuepl se ssesosd Buunyorjnusw psjewGine oyt Bujsn jEaciddy
[eajuyos ), ueedomng oy Jo suosiaold SYI Yim 6DUEMIOJDE U] PEIMOBINUEL 8] JOYDUE ayl,

Bupmoeynuey

pessesse A|qeinoae}
SBM 83N papusju] ey} Joj Janpoad eLj} Jo ssaujl 8YJ YoIyM Japun suopdunssy

'8z|8 —

(g uondo 1100 v.L3} AioBejea esn -

‘leaciddy [eojuyoe i ueedolng sy Jo sequiny —

“Ayuurojuo Jo epeoyen HI oY) Jo JequInU —

‘pexiye sem Buppew-39 sup yoaium U ek euy jo syB|p dmy e oy —
‘uejd Buumeegnuew pue seonpoud au Jo yuew BulAguep Jo slBy —
‘Apoq uoiRayipan ay] JO JaqUIN UCHBIUSD] —

uojjeuLou Buimoloy aug Aq peuedwonos
eq [[Bys « 30 » [oquAs sy, ‘sioyoue jo Bubeyoed yoee uo pexye eq feys Bupsw 39 eyl

Bunjew-35

"UMEBIDURAM B [|EYS 93801e0 AJWI0ju00 aU) pejiyin) JaBuoj ou ale ueld 1593 paquaseud sy
pue [eaoiddy (esjuyoa | ueadounz ewy jo suoISIACI BY) BIeYM S3SEI U] JUeLNEE NP anbjuyde
o anbynuslog enus) sy} o] ‘Aensedsel “Apoq uojpedsul 1o Apoq uoREINED oyl A pUBLLGD
Uo se|qefieas speWl e [j|Bys 2Juejlaains SNORURUCD pUE uoneayuss janpoad jo synsed eyl

‘ue|d js8) pequasaid ey 0) Bupioooe
peulioyad eq o) 8ABY [0QUOD uojonposd AIOJOE) JO JUSLUSSESSE PUE GUE|IGAINS SNONUILGD

8000/66-v13 [2Addy |80juyoe) usedoms jo g eBae

TP

L

‘TE

"ue|d jse) pequosald ey Jo Junosoe Bupje) peuejulEw aie sssaoid BuumoeInUBW
pejewiojne peydeds sy} pue [oJuco uoponposd AloE) Jo WRSAS By BY) paluaA
aq 0} sey J -uonoadsu) JejnBes Joy Jeak B 2ouo JSB8| 1B AI0J0B] BU} JjSIA [[RUS Apoq pasoidde ey

S0lE[|[eAINS SNONUPUOSD € ZZ'E

‘jeacsddy jeouysa ] usadoing
€1j) 0] SexXaUUY eL)j 0] SE [|am SE *|,"z U1 paucquaw suopesioads auy o) Buipiosoe Joyaue ey jo
Buynpejnuew Auspio pue SNONURUOD 3INSUS 0} S|gEjINS ele jonucd uoianpoud Alcjoe) el pus
Aiooe; ey ‘ueid 89} paquaseld el Yum SOUBPIOTE L YELY UBpSose (jBys Apoq peacldde ey

lonuca uoganpoid Alojoe) Jo pue K108y Jo uolisadsul |BRIY| ‘222 E
‘peAjoau] ssipog peaosdde ey pue uswed np anbjuyss ] 1 enbunueng
aque) e usamlaq pealbe eq o) say Bunseyed) el A12sseceu oY) seses uyans uj -ued

Jo aul uolonpaud sy u| seBueyo ese susl)) SSIUN pesn aq |BYS [BAcsddy [eauyss) ueedomg
oy} Joj Juewssesse ay) Jo Yed se peuuopsd s)89) ey) Jo synsal oYy BunseradA BNy lo4

pnpoud sy jo Bunssyodf reyiu) L 'Z°2E

selpoq pasoxdde jo sysetZZ'e

“leacsddy [eoiuyos ) ussdoinz] S 0 LCBIUSILNIOD jESULYDe)
o Jo yed sl youm ueld jse) paguoserd oYy o} puodsauco |leys [oRuDo uokanposd KopB)
out ulyum pauniopad aq o) sjolucs pue Bupss) Jo Aouanbay) pue alnjeu ‘uee ey Jo sielRq

‘Juspeg np enbiuyge | 18 enbynusiog aiuag auyj o) pejuasaid adq jjeys Aoy ‘sanbes
UQ "83UB{[I9AING SNONURU0D ey) Buunp Apog uojgoadsul sy} 0} pejuasad aq eys spiooes syl

. losuco uojonpoid Alajoe) Joy s|qjsuodses uostad Jo amnjeutis —
‘syusweunba yym uosiredwos ‘ejeudoidds § ‘pue Bupss) pue [0uod jo ynsar —
sjuauodwes
pue jeusiew: sisaq 40 jonpoxd ey} Jo Bunsa) Jo ajep pue Ppnpoud ey JO SINPIBNUBW JO GlEP —~
‘Bupysa) Jo [joluos jo adky -~
‘sjusuodwios pue jepejew ajseq ‘1onpold el 10 uogeubisep —

‘uopewsopy Buimojjo) sy} jses)
1 epnjoul Spuoosd Sl| “‘PejEN|EAS PUE PapIcIel eJe [ONUCS uokanpoid AI0joB) JO SENSAI Sl

JOYaUB ayj Jo
ssecoud Bupnpenuew pajewons ay) Jo juncase Bupje) veld 159} paquossasd oy uj umop PIe| 81
Joyoue pajquissse sy uo pus uolonposd Buunp pejonpuos S)E8] PUE Sj05UOD Jo Aouanbaly sy

“JOYouE 8y} Jo sseuaRidwed Jo pue AGUISSSE 1080 JO [DUOS [BnSIp —
Bu0o 8y} Jo Buljeory —
‘(sseupiey) Joysem “(peoj Jooud) Inu [BucBexsy {yiBuens
alisue} ejewnin) sassle ‘(syifivans apsue) ejswnn pue BupEIk) YJoq epedoid [euejely ~
{s59U0py) ‘SIejBWeID) Joysam
‘(s3ey 850198 az18 Youesm ‘Bujuunt Jadoud) jnu jeucBexey
‘(sazis yojeo ‘ssauxanp ‘yibue)) eass)s
{Buppew ‘suos syj Jo AgewosB 'pealy ‘syifiua] ‘siewep) joq
:syed usucdwod Jo suojsuswig -~

‘s188) Bumol|o; auy o} pejaaigns aq ([BYS JOUSUE By JO SUSUOdWIOD Palnjdehew By

8000/66-VLH Jercsddy pauyss} uesdoung Jo § abey

Feb 2012

Page 46



8000/66-V.L3
Jercuddy Jesjuyse)
ueadong jo

98N PApUBIU| puk Jonpold

| Xeuuy | JOysue uojsurdxs pajjouoa-anhio} N-ySH iiH

JOqUIaLI SJEITU0D JO SEAUYINL |
Sl » '4ep SioH
enpad b widep afeloyous emosyg o

g

138N U] JOYDUR Ay O uopRySN|||

Jioq ey} Jo ibusg [ejoy sy o) Bussyal 5 spoosenia]  Hesy ey uo
{iuewpengus peonpal ey} o} spuodsasco ued pepeay) au) o pue ay)
"Uidap Jusiipague PIEPUBIS 5U) SSUItiap] Buy INojoo anjg B ‘peay) syl uo
"yjdep JuswpagLie pasnpal / pJepUR]S aAjjoadsal o}
Buipuodeanos ™14 8salBOIY} INPa) WNLUPEL JS]SIUBIP [BUILoU ezZioLigN
'SWEU [BlIBWINGY M-YSH ‘Yoq sy} uo BURIER]
I

O T

jog 2A33IG

H-YEH

U [euobexsy  Jausepm
1104ouE pajquassy

9000/66-v.L3 |eauddy [eojuyde ) ueedoing jo g eBey

HIRRAY 'H
snbpmpaay, Mmazaay ¥

4q poudis §1 w0KIAA YPUSLY urHLIo O,

"oy J10j|dxa pus Jeejd & ul pajussaid aq [[BuS Bep |1y

"yoyeq Buunjoenusw yj Jo uojeoyuep) —
‘pepesu juewdinba voye|Eysy) ejoeds Aue o) asuslele) -
‘uojjensnij; us Jo
sueaw Aq Algesasud "sjoy ay) Jo Bujues|d Buipnjou) ‘einpeoosd uonepesul oyy uo uopewo) —
‘Juswiow enbsoy pasinbas —
‘yidep ojoy WNWW —
‘yidep uope|lejsy| winwuw —
‘eangxi) Sy} JO SSBUNDIY) WNWIXE: —
‘12jsWBIp pas.yy —
Jejewelp iq jup -
‘ale peanbas Bjep wnmpw ey

*(s)uojensny) Buisn Aqeiessid “Jeeys UoRInISU pesojoue UE uo Jo/pus abexoed
ey} uo Apes|> umoys eq [jeys EJep UORE(ESUl (& UDRPPE Ui Tesciddy (esiyoe), ueedang
oy} Jo sped eapcedsas ayy jo uogonpoide) Ag epew aq Aew UonBUNO S|UJ "DALLSOUOD
aie 0ym esol) o) uaalb 81 g puB "' Ul 0) palalel sexsuuy Buipnjou Z pue | o) Buipioooe
SUOhIPUCO Joads B UC UDHEWION &) JEU) SINsuB o} AYigISucdsal s enoRMuUEW SY) 8 )|

JenjoeinuBw sy; Jo AYqisuodsay €2y

‘youe.m enbuoy paeIqiiea & Buisn £ xeuuy u) uayb Juswolw ankhioy ey) Jo uopeodde —
‘uonenidde
PEO} JO UoROBNp SU) Ul JOUDUB B} O} Jou S ) PEO| UoisUS) anbijqo Jo Jeoys Jepun )
pue.lepow yfuens b yum pajil} £} ejoy IUP PapCqE ey] J SOUBIS|P JBIBILS IO S|oy PILCGE
ay} Jo yydap ay} eo Jo ABME BOUBISID WNLIWW B Je BUlllp meU 9|0y Peyoge jo 9882 Ul —
uswealoyuaa oy BuiBewep noyym sejoy [up eyj jo Buuopsod —
‘530UBLG|0} SNUILI INOUM Sanjea peyyoeds ey) 0y Bupeds pue aouesisip eBpa auyy Jo Burdasy —
‘lonuos ydap juswpagus Jo eBLNs 8}aJoucd et} Bupasoxe jou Joyaue oy Jo Suppsw
Uidep speudosdde eyt si jey ‘yidep uewpeqwe payoads euy Buunsue ucije||gjsul Joysue —
“1snp Bugup jo sjoy ety Bunesp —
‘sploa Jueaiiubls Jnoupm *5e ‘peroedwien [lem Buisg 8)815U03 JO oRUD —
‘fidde speoj onsuspPEIBYD BU) Yoiyum
€} 81€J0U0D 8y} Jo JBy) uBY) Jeamo] Jou 5] pue ueab ofiuel ay) wl s) psoed eq o) §] Joyoue sy
YoIym Ul ejaiound By jo ssejo yiSuans au) jeyt aunsua o) Joyaus ay) buoeld siojeq syoeys -
ioyoue jo
edf) ay) Joj senjea ssaLa|y) pennbal Jo oBues eyy o) Bujpuodssucs ainx)y ey) Jo ssaWwjolyy —
‘sjoo) syeudosdde eyy Buisn pue esodind yeuy Joy psiedard
sBumelp pue suopeoyoeds SJauMPBINUBW U} UM SOUEPIOZOE Ul UONE(E}SU} JOLOUE —
LOYIUE ue Jo
sjueucduros s1) BuiBueme Jnoyym Jainjoenuew ey; Aq payddns se Ajuo Joysue eu; jo esn —
‘8))s aij) UD SIsPeWl [29uyde) 1o} ejqisuodsal uosiad ey} Jo
uosiuadns ey fepun pue [suuocsied peiyenb Aejepdosdde Aq wo pewies uoneeieyl Joyoie —

'SMO[|0} BB PB[[EJSUI $] JOLILIE BY) J| PALINSSE 64 Ao UBD JOYOUE auyy JO 8sn 1o} ssaLl) oy L
SI0UDUB JO LORBIIBISU| g

80060/66-V1.3 [eAciddy jeaiuyas) ueedouns Jo ; abieg

Feb 2012

Page 47



[eaoiddy 12oDD ]

2000/66-v.13

ueadoung jo

Ejep uojjejeysuj

€ Xeuuy

Joyaue ugisuedxe pajjonuos-anbio} ¥-vSH MIH

ool | 59 Eid

T

ooL [ S5 5¢

() g

¥l *eunpi) ety 30 GEILYOJE wiwpaey (g)
() By 'yydep sbesoyoue eapoey3 (2)

{ww) %=~y 'yydap

{wwei) Wy qujod 1sedesp of ejey pejip jo deg (5)

OOL | &2 | 08 | 08§
ooL | 88 | 05 | oF
TLW | ObN | 9 | 9N
{0g — twoy fww) {Luen) =y Jogquiaiu ajaIouco Jo sSaLSg WM {¥)

() =L “jueirow sntus) painbey {£)

) Jp ‘eunp eif w80y eoueies|o Jo Jajeluel] {Z)
{unw) *2p *yjq [|pp jo Je9aweld BUWON {1)

(B — ujut {win) ¥oq siy o UiBus) ol {o)
"SIEUIULISIEPU| AlEDfelE BB UM sjusucdiuos |Bmangs jo Bupoyoue o pejojsal een ,

usjpgeiau] wnwiusy (5)

ap-o| 0o | o0 | oz |oor [ses| oz [ oo |6 |ovi [os | w [z fomn| e [
5| zv | 15 | oo | oo Josoz| os | es [ oz [oon [ | 2 | os |oee| e [
g9-¢| .oe | 2 | o5 | oot fosor) e | e | o0 (oo { o | 6 |8 [su]| s
-l - - -] - boeoef ov | o | oo |00k | 5| 2 [ 9 [5e]e
W 0@ | @ @@ D@ & ® 6@ 0]
| (o | (wy | fied | funs) | fueed { {ouod [ {eno) | () | (o) | o) | §uoes § o) |{wd]{w)
woury | oy [ ey | by | ey oy ) swiey | wey ) oy | wey || i | foeenjupuy
\UBLPBOE PoSnpaY WeLIpSqWE REpUSS
elep uopejje)su) 3¢ ejqe]
o i wien oo pogip wedong Ho
BLER,

E.ﬂ_u‘_ Py ydep eBanyoun aipooys
R R N A
//////z//// //
R

m R R R A
1

TR A SRS
/z/l///f/z////

e T R e O
R Dy

0
[
r/
N R e
™ Buy
Ll dep WEIPRQE WU
VY HIUIBUT E1EJILID K BMLOOILE WERUU

o]
V’//dg’/’ 1

¥

18EN U] JOYSUR S} JO UOjRHSH]||

8000/66-v13
[eacuddy |eoluyoa]
ugadoung jo

2JOYIUE JO SUGISUSLU|P PUE S[RUeJEN

g Xouuy | Joyoue uojsuedxe pajjoi3uos-enbio} ¥-ySH BIIH

B000/86-¥.L3 Broiddy [eo[uyoe) ueedains jo o) ebey

8l [ 8 80L | 2N [ 02 08 [ P ey e L LS H
o6l | 68 9 [} 0N | ozl g9 | Ao A Sy GH
ZLE g8 5 Vi 8N Sil 4G | Pl P g WY EH |
Z8 ] eV | €0 N [T [T P A g HVSH |

QW) [ (o) | () | () o} [T
89 p B Sp | fww) adfy Joyouy
sucIsulwIg -7 9jqel
2S0FE N3
£ opelb wbuaus g2-pv |e8)s ssajus ‘Z-8680Z NI | 'yw jeucBexay | ¥
PV [29]8 S85[UIEIS g800L N3 AN
10¥¥’|. [99]5 S8a|U[E)8 ggO0L NI 'PeULC)-PIoD ARG €
Ulgal JAJOE UM alod JO m:_ﬁmoo
1OV L |98 S26jUieIS 8R00L NI 'PALLIOJ-PID
‘ZLIA PUB OLI '8N ‘O yog| 1
[BUSEN uogeubised | Hed
seUojeN : ) apqer
3 z
uoysue ey jo sped Juaiayig LIoYyoue pe|quIassy

8000/66-v.15 [acuddy |Bojuyos ), uesdoung Jo § ebisd

Feb 2012

Page 48



8000/66-v13 8000/66-v13
[eaoiddy [eoiuyoa | sjuawaae|dsip ‘speoc| Jeays O} souRys|sel [eacsddy [eoiuyoa] sjuswaege|ds|p ‘SpEO| UOISUS) 0} BIUB)S|S
uesdoinz jo 40 Sen[eA ops|JeloBIeYd ‘Y poyjew ubisoq ueadoung jo Jo senjeA ojsue)oRIRYD ‘¥ poyaw ubisaq
§ xeuuy | Joyoue uojsuedxe pajjonuos-anbio} M-YSH BIH ¥ xouuy | Joyoue uojsuedxe pojjoljucs-enbio} ¥-ysH MIH

80 | 80 | 80 - 80 | 20 | 80 | 80 [{wuw) N
1'0 | Lo | 1o - 20 | £0 | €0 [ €0 [(uw] ™o Jewsoeidsg
(N¥) 09/050 O SZ/0ZD SlesounD
gF | 0% | 9 - 'L | 0'% | 0% | 52 PENOBID-UDU U] pBOj UniBue L
Ty iy

ydap uswwpaquis peonpey yidap juawpagquis pJEpUR)S
ZLN [ oLW | aW | oW Hzen J oL | e T oW

$pRO| UO|SUL} JBPUN SJUIAE|dE G 1 BlgRL

QN 8L U] 8|0Y 6y} JO JAGLUALY Sj9I0U0D ay) Uj pajup
&[0y ey} pue Ap0g JOLILE BLY) USIMISY JUSWSADLU BL) SB)EJPL) SNIEA JS30EIq
BU} JS{IUm ‘JEsi JOLOUR aU) Wou) pejsadxa 9q 0} LORBULIOISP 8L} SMOLS 3] By ueisoeidsy]

4 | @' | s @R | @k | Zow | Tod , ufijsep JoJ eA|8{osp JOU Suhpe) no-nd
8¢ 6L L' - 8¢ al 1'2 Bk {{uw) "ap *8JBUjULSIBpUI AESRRIS BIE UoJUM SIISUOUWIOD [RINJINNS JO BULCKOUB 6} pejaLISa uu:._”
G T :—u_L 74 ._...u I@..E o | ol " oL SLL 08 = () Lo
6'L 4 |3 - 8L £'F ¥'L 21 |(ww) A ueweoe|ds|q 001 ) .65 = {u) [55) eouRisp aBpa
. . . . . . . (b4) 061080 0} 52/ @esouca 02 | Oce | .08) | - [ (mm) | %
zZoL ) 1 h_.dﬂ..ﬁ ¥ Zob | L h._.ﬂw ¥ | 8¢ P@IZRI -Udu uj pBo) JeayS | 081 | oer | A01L () | "Es Bupeds
C T - - T, = N
ydep uewpaquss peonpey || wdep wewpaquse piepusg be { te | .81 | - . hdtisad Sjeiolio paasia tou Ul
ZVN | OV | @ | O | ZoW ] OLN | oW | 9N bt 1 ¥L .2 Diag) iajoe B 5
0% aF | «SE - | (wwy | ™y \dep eBejoyoue sAfRals
WS qydap justupagqum pediipay
Speo| Jeays Jepun sjuswade|ds|q :z siqel 061 | Scl | 0zZi | 00) | um i S
G0l | Gl [ 09 | (ww N soue)sip sbpy
08¢ | 0% | obZ | 002 | (Ww) | &9
‘SjeuULGiSpUI ABIYEIS 6.8 Y|y SBU0dWos jBINnYs jo BUNOYOUE ©f PERDLea) 88N , oz [ o081 | ost | oz | (uuj|[ W& Bupedg
05°L - T %4 gl L 3 - [ WWL=, 2)310U05 PSYIEIS UoU U]
00°L - 7 Joyoey feyes jBed [l Zl Z'h 4 - L 10j0B] ABIES [ejLE
Zl oL 8 9 | {ww) | Thp I0YOUE J0 JSJBlLBip 8psIg . 0l 05 [T oy | {ww) | %%y jdap eBerOyOUE SANPeRS
05 ZF_ | .8 - | () 1 PETRy 16} BUIPBO| Jeays Japun =Ry (ydap JUSLIpeqWe PIEpues
oL 05 oF o (W} i !neo_._ 10} Joysue jo ybue) [LLETTE ] eun|jej Bugyds pue aln|[e} stod a3a19Uo)
i el b e 23
2iriie} 9T 830101100 V2 | v [ 8L ] - - ) SJBIDUOD PEXOBIZ UOH U]
‘BjeuuIS)epul AEIgeS @2 Yoy SueUodWoD jenjnns jo BUNOKOUE O} pejoisal asn , ¥IL T ¥ | Z1 - = T | JOI08y £13jes jenled
08'k - 2 . - 09/057 O} GZ/020 SFHU00 PadjoRo
00't - % dojon) fejes [eied h () | Sy -UoU U] aouejsisel afsiejoRIELD
[ T Ll VR0 EEES 8 D XUy 5YId WY yydep WSwpaquis paanpay
g2 | F [ v 11 - E] ==y .0} o (9°6) uoenba uj Jojoey FAETEENED - ] 2}3I9U0I PEIRID UOU U]
einjje} nokid sjaisucd ¥l | 2L [ &V | 2L - % Jcjos) fjeyes [epued
oop | e 08/050 01 §2/02D 9j80L0D PRy
T 555 Taims [N 1 zl ZL 9 () N -UOU U SOUBJSISaI IRSLRIRIEYD
m 8OUE]s|8al JjSLBJOBIEYD) 4 heap EoEu&nEM_“._w uzsow. n
WIE JoA8] Lpi# aInjie) [00)S 118} 3no-jing
os'y | og' | os's [ o8t | - LI 40joB] Aje,es |E[Ued 00'L [ 08L | 090 {091 | - | ™ | 10308] Aj9Jes [EnEd
2 | 21 | W | 98 | Wi A SoUESISa) apsfiejoeley) 67 | G | 02 | LF | (NBD | ™ | Gied paonpal) GoUEsse) SSUSIOEIEUD
WIE JOAD] INOLIIM dan e} jeeg alnjie} |[ae)s
2 [ oLW | sW | oW | ZIW [ OLW | 8N | oW |
v poyjew uffjsep Jo spio] Jeays o) 89UB)SISAl JO SON[EA IRSUSIIBIRYS 1 JqeL ¥ poyjaw ubijgep Jo SPEO| UO|SUS) 0] SOUE)SISE] JO SIN[BA YSLBJIRIEYT - SIGE),

8000/66-VL [@a0addy |BouLas | ueedoiny Jo Z) eBey 8000/86-VL3 Jeaciddy |eouyos) weadoing jo || efey

Feb 2012

Page 49




YOUR RET 4600 m 729-319

P = - OUR REF 48 £83) in BD/GR/SEG/PPAIG)
a B“ﬂdrlilgs Department FAX bz i 2626 1762

E F & TEL i 2626 1583

Hilt (Hong Kong) Limited LE June, 1997

17/F, Tower 6,

China Hong Kong City,

33 Canton Road,

Tsimshatsui,

Kowloon.

Attention: Mr. Denny Wu

Dear Sir,

Lr res for building material missi
[ refer to your letter dated 19 May, 1997 concerning the above.
2. Please be advised that there is no provision under the Buildings

Ordinance for the Building Authority to approve any proprietary building products.
Under the Buildings Ordinance, authorized persons and/or registered structural
engineers are required to supervise building works including the selection and
installation of proprietary building products and to certify compliance with the
Buildings Ordinance upon completion of works. They are therefore responsible for
ensuring the health and strucwural safety requirements, inter alia, of these building
products 1n the building projects which they have been appointed by the developer to
co-ordinate and supervise. It is also their responsibility to ensure these products have
been installed in accordance with the manufacturers’ specifications and complied with
the Buildings Ordinance and Regulations.

3. In establishing the acceptability of the proprietary products in building
works, reference may be made to the performance standards laid down in Building
(Construction) Regulations 1990 and the current Practice Note for Authorized Persons
and Registered Structural Engineers 140 in which performance requirements for
compliance are given. Reliance may also be placed on the test/assessment report
prepared by a recognized laboratory or an equivalent establishment.

4. Before the proprietary products are installed in a building project, the
authorized person and/or registered structural engineer appointed for the project should
be approached by the manufacturers or their agents for advice and guidance. Prior
approval/acceptance from the Buildings Department is not required.,

3. Generally, all relevant information supporting the use of the proprietary
products in building works under the Buildings Ordinance should be submitted
associated with the prescribed plans for approval on project basis.

/ Notwithstanding. . ..

12/F 181 Ploneer Centre, 750 Nathan Road, Mongkok, K()wluBagSmﬁguug_ ik L HEUE g WP OB PG | ey AR Feb 2012




VOUR REI %5 1mos 729-519

Butldings Department OUR REF 1% 133) in BD/GR/SEG/PPA(G)

o FAX 15214 84 - 2626 1762

E = &= TEL ik 2626 1583
S0

6. Notwithstanding the above, the proprietary building products to which

‘No objection’ letters have been given are still recognized as accepted constructional
materials to be used in building works under the Buildings Ordinance provided that all
conditions specified in the letters are satisfied. You are informed that the procedures
currently acopted by the Building Authority for processing Statutory approval of plans
which involve the use of these proprietary building products remain unchanged.

7. It is a fact that the ‘No objection’ letter giving general acceptance to a
proprietary building product is based on the techmical information submitted to this
Department at the time of its application. Should there be any significant modification
(o these technical information, the product will certainly be considered as ‘new’
product. The acceptability of such proprietary product in building works should be
evaluated by the authorized person and/or registered structural engineer appointed for
the project as mentioned above.

8. Should you have any further queries to the above, please feel free to
contact the undersigned or Mr. T.C. Kan of this office at phone no. 2626 1583.

Yours faithfully,

-
(K.S. Chang)
Technical Secretary/Structural
for Building Authority

tck/

P2717 BSAE Ploneer Centre, 750 Nathan Road, Mingkok . Kowioen, ipjag'e|51 s L S HEGT RS A T e [ 4

Feb 2012




Attn. : To whom it may concern

Date 227 July 2011

Ref. : LE/333/TC/09

Subject : Hilti HSA and HST Stud Anchor
Dear Sirs / Madams,

Enclosed please find the information of Hilti HSA and HST Stud Anchor.

Brand Name : Hilti

Model Name : Hilti HSA / HSA-F / HSA-R / HST / HST-R / HST-HCR

Manufacturer : Hilti Corporation

Address of Manufacturer ~ : FL-9494, Principality of Liechtenstein

Supplier : Hilti (Hong Kong) Limited

Address of Supplier : 701-704, 7/F, Tower A, Manulife Financial Centre, 223 Wai
Yip Street, Kwun Tong, Kowloon, Hong Kong

Country of Origin : Liechtenstein

Name of Factory : Hilti Aktiengesellschaft

Address of Factory : Hilti AG, Feldkircherstrasse, FL-9494 Schaan, Liechtenstein.

Should you have further questions, please do not hesitate to contact our Technical
Representatives or Customer Service Hotline at 8228-8118.

Yours sincerely,
Hilti (Hong Kong) Limited

ktm

Alan Lee
Marketing Manager

EFEER)ERAE

Hilti (Hong Kong) Limited

701-704 | 7/F | Tower A

Manulife Financial Centre | 223 Wai Yip Street
Kwun Tong | Kowloon | Hong Kong

T +852 8228 8118 | F +852 2954 1751
www.hilti.com.hk

Page 52 Feb 2012



Job/Application Reference

=T

07-Apr-11
Ref No Date Project Contractor Consulting Engineer Product Application
40318 09-10 Tamar Development GAMMON CONSTRUCTION Std stud anchor HSA M16X120/5/25 steel bracket fixing
LTD
40349 09-10 Hennessy Center Redevelopment GAMMON CONSTRUCTION Std stud anchor HSA M12X120/25/45 safety system fixing
LTD
40895 09-10 SHK Development, Tseung Kwan O HUNG WAN ENGINEERING Std stud anchor HSA-R M12X80/-/5 steel bracket fixing
(Area 56)
40893 09-10 Pak Shek Kok Development HACELY FACADE Std stud anchor HSA-R M10X90/20/25 steel bracket fixing
ENGINEERING LTD
40891 09-10 Ocean Park Master Development KADEN CONSTRUCTION LTD Std stud anchor HSA M12X120/25/45 steel bracket fixing
40890 09-10 Ocean Park Master Development KADEN CONSTRUCTION LTD Std stud anchor HSA M12X100/5/25 steel bracket fixing
40889 09-10 Ocean Park Master Development KADEN CONSTRUCTION LTD Std stud anchor HSA M10X90/20/25 steel bracket fixing
40887 09-10 Kai Tak Development CHINA STATE CONST ENG Std stud anchor HSA M16X100/-/5 steel bracket fixing
COR
40885 09-10  Airport PAUL Y CONST CO LTD Std stud anchor HSA M12X180/85/105 steel bracket fixing
40872 09-10 Shangri-la and Traders PICO SANDERSON JV PTE Std stud anchor HSA-R M8x92/27/40 marble / granite fixing
HotelsSheraton and St. Regis Hotels LTD
(Parcel 5&6)
40901 09-10 SHK, Tuen Mun Station (TMTL 447) TAI WAH ALUMINIUM ENGRG Std stud anchor HSA M12X80/-/5 window fixing
LTD
40317 09-10 Tamar Development GAMMON CONSTRUCTION Std stud anchor HSA M16X100/-/5 steel bracket fixing
LTD
40527 09-10 Galaxy Mega Resort SON SENG CONSTRUCTION Std stud anchor HSA M16X120/5/25 cladding / pre-cast panel fixing
(o]
40319 09-10 Tamar Development GAMMON CONSTRUCTION Std stud anchor HSA M16X140/25/45 steel bracket fixing
LTD
40320 09-10 Tamar Development GAMMON CONSTRUCTION Std stud anchor HSA M20X170/30/55 steel bracket fixing

LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,

Hotline : 8228 8118 Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

Job/Application Reference

=TT

07-Apr-11
RefNo Date Project Contractor Consulting Engineer Product Application
40325 09-10 Tamar Development LEIGHTON-CHINA STATE- Std stud anchor HSA-R M8X57/-/5 steel bracket fixing
VAN OORD J.V.
40326 09-10 Tamar Development LEIGHTON-CHINA STATE- Std stud anchor HSA-R M8X75/10/23 steel bracket fixing
VAN OORD J.V.
40337 09-10 Airport GAMMON - HIP HING JOINT Std stud anchor HSA M12X80/-/5 safety system fixing
VENTURE
40338 09-10 Airport GAMMON - HIP HING JOINT Std stud anchor HSA M16X120/5/25 steel bracket fixing
VENTURE
40339 09-10 Airport GAMMON - HIP HING JOINT Std stud anchor HSA M20X170/30/55 steel bracket fixing
VENTURE
40340 09-10 Airport GAMMON CONSTRUCTION Std stud anchor HSA M12X100/5/25 safety system fixing
LTD
40667 09-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA-R M8x92/27/40 hoarding fixing
LTD
40864 09-10 Shangri-la and Traders MERCURIO SERVICOS DE Std stud anchor HSA M8X57/-/5 hanger fixing
HotelsSheraton and St. Regis Hotels ENGENHARIA
(Parcel 5&6)
40620 09-10 Shangri-la and Traders REX ENGINEERING (MACAU) Std stud anchor HSA M16X100/-/5 hand rail fixing
HotelsSheraton and St. Regis Hotels LTD
(Parcel 5&6)
40666 09-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA M16X120/5/25 hoarding fixing
LTD
40665 09-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA M12X120/25/45 hoarding fixing
LTD
40647 09-10 Shangri-la and Traders TOP BUILDERS GROUP LTD Std stud anchor HSA M16X100/-/5 steel bracket fixing
HotelsSheraton and St. Regis Hotels
(Parcel 5&6)
40497 09-10 Galaxy Mega Resort ENGENHARIA DE ARTE CTR Std stud anchor HSA M12X100/5/25 cladding / pre-cast panel fixing
WEN XING
40645 09-10 Shangri-la and Traders TOP BUILDERS GROUP LTD Std stud anchor HSA M12X180/85/105 steel bracket fixing

HotelsSheraton and St. Regis Hotels
(Parcel 5&6)

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118 Fax : 29541751

Page 5

2

Feb 2012




Job/Application Reference

=T

07-Apr-11
RefNo Date Project Contractor Consulting Engineer Product Application
40644 09-10 Shangri-la and Traders TOP BUILDERS GROUP LTD Std stud anchor HSA M10x108/37/45 steel bracket fixing
HotelsSheraton and St. Regis Hotels
(Parcel 5&6)
40635 09-10 Shangri-la and Traders SUN KOU NGAI CONST. Std stud anchor HSA M16X120/5/25 steel hanger fixing
HotelsSheraton and St. Regis Hotels MATERIAL & ENG.
(Parcel 5&6)
40634 09-10 Shangri-la and Traders SUN KOU NGAI CONST. Std stud anchor HSA M12X120/25/45 steel hanger fixing
HotelsSheraton and St. Regis Hotels MATERIAL & ENG.
(Parcel 5&6)
40625 09-10 Shangri-la and Traders REX ENGINEERING (MACAU) Std stud anchor HSA M8X57/-/5 hand rail fixing
HotelsSheraton and St. Regis Hotels LTD
(Parcel 5&6)
40896 09-10 Lohas Park Phase 1 & Phase 2 CHINA STATE CONST ENG Std stud anchor HSA-R M8X57/-/5 steel bracket fixing
COR
40621 09-10 Shangri-la and Traders REX ENGINEERING (MACAU) Std stud anchor HSA M8X57/-/5 hand rail fixing
HotelsSheraton and St. Regis Hotels LTD
(Parcel 5&6)
40350 09-10 Hennessy Center Redevelopment GAMMON CONSTRUCTION Std stud anchor HSA M8X57/-/5 safety system fixing
LTD
40586 09-10 Shangri-la and Traders FULL WIN INTERNATIONAL Std stud anchor HSA-R M16X140/25/45 curtain wall fixing
HotelsSheraton and St. Regis Hotels ENG LTD
(Parcel 5&6)
40585 09-10 Shangri-la and Traders FULL WIN INTERNATIONAL Std stud anchor HSA-R M12X120/25/45 curtain wall fixing
HotelsSheraton and St. Regis Hotels ENG LTD
(Parcel 5&6)
40545 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA-F M20X170/30/55 steel bracket fixing
ALUMINIUM
40544 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA-F M12X150/55/75 steel bracket fixing
ALUMINIUM
40543 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA-F M12X100/5/25 steel bracket fixing
ALUMINIUM
40542 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA M10X68/-/5 steel bracket fixing

ALUMINIUM

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,

Hotline : 8228 8118 Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

Job/Application Reference

=TT

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

40538 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA-F M20X170/30/55 steel bracket fixing
ALUMINIUM

40537 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA-F M12X150/55/75 steel bracket fixing
ALUMINIUM

40536 09-10 Galaxy Mega Resort WAI HING STEEL & Std stud anchor HSA M10X68/-/5 steel bracket fixing
ALUMINIUM

40624 09-10 Shangri-la and Traders REX ENGINEERING (MACAU) Std stud anchor HSA M16X100/-/5 hand rail fixing

HotelsSheraton and St. Regis Hotels LTD
(Parcel 5&6)

40517 09-10 Galaxy Mega Resort L &L DIGITAL TECHNOLOGY Std stud anchor HSA-R M12X100/5/25 cladding / pre-cast panel fixing
CO.LTD

40348 09-10 Hennessy Center Redevelopment GAMMON CONSTRUCTION Std stud anchor HSA M10X68/-/5 safety system fixing
LTD

40493 09-10 City of Dreams Resort OFIC FERRAGENS OU SON Std stud anchor HSA M12X120/25/45 hand rail fixing

40495 09-10 Galaxy Mega Resort ENGENHARIA DE ARTE CTR Std stud anchor HSA M12X100/5/25 cladding / pre-cast panel fixing
WEN XING

40496 09-10 Galaxy Mega Resort ENGENHARIA DE ARTE CTR Std stud anchor HSA-R M10X90/20/25 cladding / pre-cast panel fixing
WEN XING

40526 09-10 Galaxy Mega Resort SON SENG CONSTRUCTION Std stud anchor HSA M12X120/25/45 cladding / pre-cast panel fixing

40525 09-10 Galaxy Mega Resort SON SENG CONSTRUCTION Std stud anchor HSA M10X90/20/25 cladding / pre-cast panel fixing

40522 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M8x92/27/40 cladding / pre-cast panel fixing
CO.LTD

40521 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M8X75/10/23 cladding / pre-cast panel fixing
CO.LTD

40520 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M6X65/10/- cladding / pre-cast panel fixing
CO.LTD

40476 09-10 Pak Shek Kok Development FLOURISHING ENGINEERING Std stud anchor HSA M8X75/10/23 MVAC fixing

COLTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118 Fax : 29541751

Page 5

4

Feb 2012




Job/Application Reference

=T

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

40518 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M12X120/25/45 cladding / pre-cast panel fixing
CO.LTD

40432 09-10 Tamar Development NEWALL SIGMA LIMITED Std stud anchor HSA-R M8X75/10/23 curtain wall fixing

40516 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M10X90/20/25 cladding / pre-cast panel fixing
CO.LTD

40515 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M10x120/50/57 cladding / pre-cast panel fixing
CO.LTD

40514 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-F M16X140/25/45 cladding / pre-cast panel fixing
CO.LTD

40513 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-F M12X120/25/45 cladding / pre-cast panel fixing
CO.LTD

40512 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA M12X120/25/45 cladding / pre-cast panel fixing
CO.LTD

40505 09-10 Galaxy Mega Resort JUN LEI CONST & ENG CO Std stud anchor HSA M16X100/-/5 staircase fencing fixing
LTD

40502 09-10 Galaxy Mega Resort GENYIELD CONSTRUCTION Std stud anchor HSA-R M16X100/-/5 steel bracket fixing
COLTD

40501 09-10 Galaxy Mega Resort GENYIELD CONSTRUCTION Std stud anchor HSA M12X80/-/5 steel bracket fixing
COLTD

40498 09-10 Galaxy Mega Resort ENGENHARIA DE ARTE CTR Std stud anchor HSA-R M10X90/20/25 cladding / pre-cast panel fixing
WEN XING

40519 09-10 Galaxy Mega Resort L & L DIGITAL TECHNOLOGY Std stud anchor HSA-R M16X140/25/45 cladding / pre-cast panel fixing
CO.LTD

40560 09-10 One Grantai SON SENG CONSTRUCTION Std stud anchor HSA M10x120/50/57 cladding / pre-cast panel fixing

40360 09-10 Hong Kong University Re-development GAMMON CONSTRUCTION Std stud anchor HSA M10X68/-/5 safety system fixing
LTD

40371 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA M10X68/-/5 safety system fixing

LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,
Hotline : 8228 8118

Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

Job/Application Reference

=TT

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

40372 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA M10X90/20/25 safety system fixing
LTD

40373 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA M12X100/5/25 safety system fixing
LTD

40374 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA M12X120/25/45 safety system fixing
LTD

40375 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA M16X140/25/45 steel bracket fixing
LTD

40376 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA M20X170/30/55 steel bracket fixing
LTD

40377 09-10 MTR West Island Line GAMMON CONSTRUCTION Std stud anchor HSA-R M20X170/30/55 steel bracket fixing
LTD

40379 09-10 MTR West Island Line LEIGHTON-LNS JOINT Std stud anchor HSA M12X80/-/5 steel bracket fixing
VENTURE

40492 09-10 City of Dreams Resort OFIC FERRAGENS OU SON Std stud anchor HSA M12X100/5/25 hand rail fixing

40561 09-10 Development of Ponte 16 CHIT SENG METAL Std stud anchor HSA M12X120/25/45 hand rail fixing
ENGINEERING

40648 09-10 Shangri-la and Traders TOP BUILDERS GROUP LTD Std stud anchor HSA M16X190/75/95 steel bracket fixing

HotelsSheraton and St. Regis Hotels
(Parcel 586)

40380 09-10 MTR West Island Line LEIGHTON-LNS JOINT Std stud anchor HSA M16X100/-/5 steel bracket fixing
VENTURE

40391 09-10 MTR West Island Line MILLION HOPE INDUSTRIES Std stud anchor HSA M8X75/10/23 steel bracket fixing
LTD

40392 09-10 MTR West Island Line MILLION HOPE INDUSTRIES Std stud anchor HSA-F M8X57/-/5 steel bracket fixing
LTD

40403 09-10 Ocean Park Master Development YKK AP FACADE HONG Std stud anchor HSA M16X190/75/95 steel bracket fixing
KONG LTD

40404 09-10 Ocean Park Master Development YKK AP FACADE HONG Std stud anchor HSA-R M8X115/50/63 steel bracket fixing

KONG LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

Page 55

Fax : 29541751

6

Feb 2012




Job/Application Reference

=T

07-Apr-11
Ref No Date Project Contractor Consulting Engineer Product Application
40420 09-10 Lohas Park Phase 1 & Phase 2 SHUN WING ALUMINIUM Std stud anchor HSA M12X150/55/75 steel bracket fixing
WORKS CO,, LTD
40424 09-10 SHK, Tuen Mun Station (TMTL 447) GAMMON CONSTRUCTION Std stud anchor HSA-R M10x120/50/57 safety system fixing
LTD
40425 09-10 SHK, Tuen Mun Station (TMTL 447) MAEDA-CREC-SELI-JOINT Std stud anchor HSA M16X140/25/45 metal gate fixing
VENTURE
40431 09-10 Tamar Development NEWALL SIGMA LIMITED Std stud anchor HSA-R M6X65/10/- curtain wall fixing
40562 09-10 The Venetian Casino Resort (Parcel 1)  FULL WIN INTERNATIONAL Std stud anchor HSA-R M16X190/75/95 curtain wall fixing
ENGLTD
40646 09-10 Shangri-la and Traders TOP BUILDERS GROUP LTD Std stud anchor HSA M12X80/-/5 steel bracket fixing
HotelsSheraton and St. Regis Hotels
(Parcel 5&6)
40290 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA-F M8x92/27/40 steel bracket fixing
LTD.
40291 09-10 KCRC Tai Wai Depot ICGL TECHNICAL WORKS Std stud anchor HSA M10x120/50/57 steel bracket fixing
LIMITED
40292 09-10 KCRC Tai Wai Depot ICGL TECHNICAL WORKS Std stud anchor HSA M16X140/25/45 steel bracket fixing
LIMITED
40293 09-10 Tamar Development HINRICH INTERNATIONAL LTD Std stud anchor HSA M10X90/20/25 door frame fixing
40309 09-10 Union Square 7, Kowloon Station DURACLAD ENGINEERING Std stud anchor HSA M10X68/-/5 door frame fixing
LTD
40314 09-10 Tamar Development GAMMON - HIP HING JOINT Std stud anchor HSA M6X50/-/5 safety system fixing
VENTURE
40859 09-10 Shangri-la and Traders HUNG FAI DECORATION Std stud anchor HSA M8X57/-/5 overhead line fixing
HotelsSheraton and St. Regis Hotels (MACAU) LTD
(Parcel 5&6)
40763 09-10 Galaxy Mega Resort MERCURIO SERVICOS DE Std stud anchor HSA-R M10x120/50/57 suspension ceiling fixing

ENGENHARIA

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,

Hotline : 8228 8118 Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

Job/Application Reference

=TT

07-Apr-11
RefNo Date Project Contractor Consulting Engineer Product Application
40847 09-10 Shangri-la and Traders GREATECH ENGINEERING Std stud anchor HSA-R2 M8x75 marble / granite fixing
HotelsSheraton and St. Regis Hotels LIMITED
(Parcel 586)
40287 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA-F M10X90/20/25 steel bracket fixing
LTD.
40845 09-10 Shangri-la and Traders DECORACAO CHEONG KONG Std stud anchor HSA M16X140/25/45 cladding / pre-cast panel fixing
HotelsSheraton and St. Regis Hotels
(Parcel 586)
40669 09-10 Ocean Park Master Development MAN KIT CONST CO LTD Std stud anchor HSA-R M20X170/30/55 structural steel / I-beam fixing
40838 09-10 Shangri-la and Traders COMPANHIA PIU HENG LONG Std stud anchor HSA-R2 M8x75 marble / granite fixing
HotelsSheraton and St. Regis Hotels (MACAU) LTD
(Parcel 586)
40815 09-10 Shangri-la and Traders BEST JOINT (MACAU) Std stud anchor HSA M12X100/5/25 electrical services fixing
HotelsSheraton and St. Regis Hotels ENGINEERING
(Parcel 586)
40777 09-10 Galaxy Mega Resort SPACE CONSTRUCTION & Std stud anchor HSA M10X90/20/25 block work fixing
ENGINEERING CO
40771 09-10 Galaxy Mega Resort SHENZHEN BLDG Std stud anchor HSA M12X100/5/25 steel hanger fixing
DECORATION GROUP
40770 09-10 Galaxy Mega Resort SHENZHEN BLDG Std stud anchor HSA M10X90/20/25 steel hanger fixing
DECORATION GROUP
40764 09-10 Galaxy Mega Resort MERCURIO SERVICOS DE Std stud anchor HSA-R M10X90/20/25 suspension ceiling fixing
ENGENHARIA
40854 09-10 Shangri-la and Traders HUNG FAI DECORATION Std stud anchor HSA M8X57/-/5 decoration fixing
HotelsSheraton and St. Regis Hotels (MACAU) LTD
(Parcel 5&6)
40275 09-10 MTR West Island Line REX DECORATION LTD Std stud anchor HSA M10X90/20/25 steel bracket fixing
40261 09-10 Tamar Development SKY FOUNDATION ENG CO Std stud anchor HSA M6X50/-/5 roofing fixing
LTD
40265 09-10 Hennessy Center Redevelopment REX DECORATION LTD Std stud anchor HSA M10X90/20/25 catch fence fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118 Fax : 29541751

Page 5

8

Feb 2012




Job/Application Reference

=T

07-Apr-11

Ref No Date Project Contractor Consulting Engineer Product Application

40266 09-10 Hennessy Center Redevelopment REX DECORATION LTD Std stud anchor HSA M12X120/25/45 catch fence fixing

40267 09-10 Kai Tak Development HO WAH STEEL ENG CO LTD Std stud anchor HSA M12X100/5/25 catch fence fixing

40268 09-10 Kai Tak Development WANG HIP IRON WKS CO LTD Std stud anchor HSA-R M6X65/10/- steel bracket fixing

40269 09-10 MTR West Island Line GOLDEN RESOURCES ENG. Std stud anchor HSA M10X90/20/25 steel bracket fixing
LTD.

40270 09-10 MTR West Island Line GOLDEN RESOURCES ENG. Std stud anchor HSA-F M16X140/25/45 steel bracket fixing
LTD.

40271 09-10 MTR West Island Line GOLDEN RESOURCES ENG. Std stud anchor HSA-F M20X170/30/55 steel bracket fixing
LTD.

40289 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA-F M16X140/25/45 steel bracket fixing
LTD.

40273 09-10 MTR West Island Line GOLDEN RESOURCES ENG. Std stud anchor HSA-R M8X75/10/23 steel bracket fixing
LTD.

40288 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA-F M12X100/5/25 steel bracket fixing
LTD.

40277 09-10 Ocean Park Master Development HONG KI ENG LTD Std stud anchor HSA M16X140/25/45 steel bracket fixing

40278 09-10 SHK, Tuen Mun Station (TMTL 447) TEAMBO METAL Std stud anchor HSA M12X100/5/25 steel bracket fixing
ENGINEERING LIMITED

40279 09-10 SHK, Tuen Mun Station (TMTL 447) TEAMBO METAL Std stud anchor HSA M8X75/10/23 steel bracket fixing
ENGINEERING LIMITED

40280 09-10 Tung Ying Re-development, Nathan REX DECORATION LTD Std stud anchor HSA-R M16X140/25/45 steel bracket fixing

Road

40284 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA M10x108/37/45 steel bracket fixing
LTD.

40285 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA M8X75/10/23 steel bracket fixing
LTD.

40286 09-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA-F M10x120/50/57 steel bracket fixing

LTD.

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,
Hotline : 8228 8118

Kwun Tong, Kowloon, Hong Kong.

Job/Application Reference

=TT

07-Apr-11
RefNo Date Project Contractor Consulting Engineer Product Application
40844 09-10 Shangri-la and Traders DECORACAO CHEONG KONG Std stud anchor HSA M10X90/20/25 cladding / pre-cast panel fixing
HotelsSheraton and St. Regis Hotels
(Parcel 5&6)
40272 09-10 MTR West Island Line GOLDEN RESOURCES ENG. Std stud anchor HSA-R M16X140/25/45 steel bracket fixing
LTD.
40846 09-10 Shangri-la and Traders GREATECH ENGINEERING Std stud anchor HSA-R M10X68/-/5 marble / granite fixing
HotelsSheraton and St. Regis Hotels LIMITED
(Parcel 5&6)
40705 09-10 SHK Development, Tseung Kwan O KAM KEE STEEL WORKS LTD Std stud anchor HSA M10x120/50/57 steel bracket fixing
(Area 56)
40704 09-10 SHK Development, Tseung Kwan O KAM KEE STEEL WORKS LTD Std stud anchor HSA M10x108/37/45 steel bracket fixing
(Area 56)
40703 09-10 SHK Development, Tseung Kwan O JUMBO ORIENT Std stud anchor HSA M16X120/5/25 steel bracket fixing
(Area 56) CONTRACTING LTD
40702 09-10 SHK Development, Tseung Kwan O JUMBO ORIENT Std stud anchor HSA M10X90/20/25 steel bracket fixing
(Area 56) CONTRACTING LTD
40696 09-10 MTR West Island Line MING KEE CONSTRUCTION Std stud anchor HSA M8X75/10/23 steel bracket fixing
ENGLTD
40695 09-10 MTR West Island Line GOLDENWALL ENGINEERING Std stud anchor HSA M10X90/20/25 cladding / pre-cast panel fixing
LTD
40694 09-10 MTR West Island Line GOLDENWALL CURTAIN Std stud anchor HSA M10X90/20/25 cladding / pre-cast panel fixing
WALL LTD
40706 09-10 SHK Development, Tseung Kwan O KAM KEE STEEL WORKS LTD Std stud anchor HSA M10X68/-/5 steel bracket fixing
(Area 56)
40689 09-10 MTR West Island Line G &MENG COLTD Std stud anchor HSA-R M6X50/-/5 cladding / pre-cast panel fixing
40690 09-10 MTR West Island Line G &MENGCOLTD Std stud anchor HSA-R M8X75/10/23 cladding / pre-cast panel fixing
40687 09-10 MTR West Island Line G &MENG COLTD Std stud anchor HSA-R M10X90/20/25 cladding / pre-cast panel fixing
40686 09-10 MTR West Island Line G &MENG COLTD Std stud anchor HSA-R M10X68/-/5 cladding / pre-cast panel fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

10

Feb 2012




Job/Application Reference
07-Apr-11

=T

RefNo Date Project

Contractor

Consulting Engineer

Product

Application

40683 09-10 Hong Kong University Re-development

40682 09-10 Hong Kong University Re-development

40681 09-10 Tamar Development

40680 09-10 Tamar Development

40674 09-10 Tamar Development

40672 09-10 SHK, Tuen Mun Station (TMTL 447)

40691 09-10 MTR West Island Line

40724 09-10 Galaxy Mega Resort

40688 09-10 MTR West Island Line

40707 09-10 SHK Development, Tseung Kwan O

(Area 56)

40759 09-10 Galaxy Mega Resort

40758 09-10 Galaxy Mega Resort

40751 09-10 Galaxy Mega Resort

40725 09-10 Galaxy Mega Resort

40723 09-10 Galaxy Mega Resort

MING KEE CONSTRUCTION
ENGLTD

MING KEE CONSTRUCTION
ENGLTD

CREATOR'S METAL & GLASS
ENGLTD

CREATOR'S METAL & GLASS
ENGLTD

HANG CHEONG
ENGINEERING CO

FULL KEY ENGINEERING
COMPANY

G &MENG COLTD

BOYA DECORATION AND
ENGINEERING

G&MENG COLTD

YEE WO ENG CO
MAN SHING ENGINEERING
(MACAQ) LTD

MAN SHING ENGINEERING
(MACAO) LTD

CREATOR'S METAL & GLASS
ENG (MACAU)

BOYA DECORATION AND
ENGINEERING

BOYA DECORATION AND
ENGINEERING

Std stud anchor HSA M16X190/75/95

Std stud anchor HSA M16X140/25/45

Std stud anchor HSA M8X75/10/23

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA-R M10X90/20/25

Std stud anchor HSA-F M12X120/25/45

Std stud anchor HSA-R M8x92/27/40

Std stud anchor HSA M12X80/-/5

Std stud anchor HSA-R M12X120/25/45

Std stud anchor HSA-R M8X75/10/23

Std stud anchor HSA M8X75/10/23

Std stud anchor HSA M16X120/5/25

Std stud anchor HSA M12X80/-/5

Std stud anchor HSA M16X190/75/95

Std stud anchor HSA M12X120/25/45

structural steel / I-beam fixing

structural steel / I-beam fixing

cladding / pre-cast panel fixing

cladding / pre-cast panel fixing

metal fixing

water tank fixing

cladding / pre-cast panel fixing

structural steel / I-beam fixing

cladding / pre-cast panel fixing

steel bracket fixing

block work fixing

structural steel / I-beam fixing

water pipe / pipe duct fixing

structural steel / I-beam fixing

structural steel / I-beam fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,
Hotline : 8228 8118

Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

11

Job/Application Reference
07-Apr-11

=TT

Ref No Date Project

Contractor

Consulting Engineer

Product

Application

40715 09-10 KCRC Tai Wai Depot

40711 09-10 Union Square 7, Kowloon Station

40710 09-10 Union Square 7, Kowloon Station

40709 09-10 Union Square 7, Kowloon Station

40708 09-10 Union Square 7, Kowloon Station

40743 09-10 Galaxy Mega Resort

40219 06-10 City of Dreams Resort

40182 06-10 MTR West Island Line

40185 06-10 Ocean Park Master Development

40189 06-10 Ocean Park Master Development

40196 06-10 Galaxy Mega Resort

40211 06-10 Ocean Park Master Development

40215 06-10 SHK Development, Tseung Kwan O
(Area 56)

40216 06-10 SHK, Tuen Mun Station (TMTL 447)

40218 06-10 KCRC Tai Wai Depot

40217 06-10 KCRC Tai Wai Depot

OPAL STONE LIMITED

KAM KEE STEEL WORKS LTD

HANG TAK ENGINEERING CO
LTD

HANG TAK ENGINEERING CO
LTD

HANG TAK ENGINEERING CO
LTD

CREATOR'S METAL & GLASS
ENG (MACAU)

CREATOR'S METAL & GLASS
ENG (MACAU)

GAMMON - NISHIMATSU WIL
JV

LEIGHTON CONT (ASIA) LTD

YKK AP FACADE HONG
KONG LTD

MACAO JIANGHE CURTAIN-
WALL ENG

PA ROCKSCAPES LTD

JUMBO ORIENT
CONTRACTING LTD

JUMBO ORIENT
CONTRACTING LTD

KAM KEE STEEL WORKS LTD

KAM KEE STEEL WORKS LTD

Std stud anchor HSA-R M8X75/10/23

Std stud anchor HSA M12X120/25/45

Std stud anchor HSA-R M8X57/-/5

Std stud anchor HSA-R M10X90/20/25

Std stud anchor HSA M10X68/-/5

Std stud anchor HSA M12X80/-/5

Std stud anchor HSA M10X68/-/5

Std stud anchor HSA M12X100/5/25

Std stud anchor HSA M16X140/25/45

Std stud anchor HSA-R M16X140/25/45

Std stud anchor HSA-F M6X65/10/20

Std stud anchor HSA-R M10X90/20/25

Std stud anchor HSA M12X100/5/25

Std stud anchor HSA M12X100/5/25

Std stud anchor HSA M12X80/-/5

Std stud anchor HSA M12X100/5/25

cladding / pre-cast panel fixing

steel bracket fixing

cladding / pre-cast panel fixing

cladding / pre-cast panel fixing

cladding / pre-cast panel fixing

water pipe / pipe duct fixing

glass fencing / balustrade fixing

steel bracket fixing

steel bracket fixing

steel bracket fixing

cladding / pre-cast panel fixing

marble / granite fixing

steel hanger fixing

steel hanger fixing

steel hanger fixing

steel hanger fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

Page 5

Fax : 29541751

12

Feb 2012




Job/Application Reference

=T

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

40177 06-10 Airport GAMMON - HIP HING JOINT Std stud anchor HSA M16X140/25/45 steel bracket fixing
VENTURE

40141 06-10 City of Dreams Resort HONG LIK (MACAU) Std stud anchor HSA M8X75/10/23 steel bracket fixing
ENGINEERING

40226 06-10 Galaxy Mega Resort BOYA DECORATION AND Std stud anchor HSA M10X90/20/25 block work fixing
ENGINEERING

40171 06-10 Tamar Development PERFECT MARBLE CO LTD Std stud anchor HSA-R M8X75/10/23 marble / granite fixing

40168 06-10 Tamar Development CHOI KEE ENG (HK) CO LTD Std stud anchor HSA M12X100/5/25 steel bracket fixing

40167 06-10 Tamar Development CHOI KEE ENG (HK) CO LTD Std stud anchor HSA M10x108/37/45 steel bracket fixing

40158 06-10 Hotel Grand Lisboa Development CHINA ZHONG JI MECHINA Std stud anchor HSA M8X75/10/23 electrical services fixing

40157 06-10 Hotel Grand Lisboa Development CHINA ZHONG JI MECHINA Std stud anchor HSA M8X57/-/5 electrical services fixing

40139 06-10 KCRC Tai Wai Depot MAINTOP ENGINEERING Std stud anchor HSA-R M12X120/25/45 steel bracket fixing
LIMITED

40232 06-10 Galaxy Mega Resort GOOD PROFIT ENGINEERING Std stud anchor HSA M8X75/10/23 steel hanger fixing
LTD

40135 06-10 Ocean Park Master Development HONG KI ENG LTD Std stud anchor HSA-F M20X170/30/55 steel bracket fixing

40246 06-10 Shangri-la and Traders DECORACAO CHEONG KONG Std stud anchor HSA M12X80/-/5 steel hanger fixing

HotelsSheraton and St. Regis Hotels
(Parcel 5&6)

40251 06-10 Galaxy Mega Resort WAI CHUI SHUTTER CO Std stud anchor HSA M16X100/-/5 fire roller shutter fixing

40252 06-10 Galaxy Mega Resort WAI CHUI SHUTTER CO Std stud anchor HSA M16X120/5/25 fire roller shutter fixing

40254 06-10 The Venetian Casino Resort (Parcel 1)  JUN FENG (MACAU) Std stud anchor HSA M12X120/25/45 scaffolding fixing
ENGINEERING CO LTD

40031 05-10 Tung Ying Re-development, Nathan REX DECORATION LTD Std stud anchor HSA M20X170/30/55 steel bracket fixing

Road

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,

Hotline : 8228 8118 Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

13

Job/Application Reference

=TT

07-Apr-11
RefNo Date Project Contractor Consulting Engineer Product Application
40128 05-10 Galaxy Mega Resort DING LIK (MACAU) Std stud anchor HSA M8x92/27/40 block work fixing
ENGINEERING CO LTD
40098 05-10 Ocean Park Master Development PA ROCKSCAPES LTD Std stud anchor HSA-R M12X80/-/5 marble / granite fixing
40101 05-10 Galaxy Mega Resort CREATOR'S METAL & GLASS Std stud anchor HSA M10X68/-/5 glass fencing / balustrade fixing
ENG (MACAU)
40102 05-10 Galaxy Mega Resort CREATOR'S METAL & GLASS Std stud anchor HSA M8X75/10/23 glass fencing / balustrade fixing
ENG (MACAU)
40110 05-10 Four Seasons Hotel, Macau (Parcel 2) SAN CHON FUNG Std stud anchor HSA M10X68/-/5 block work fixing
DECORACAO
40111 05-10 Four Seasons Hotel, Macau (Parcel 2) SAN CHON FUNG Std stud anchor HSA M10X90/20/25 block work fixing
DECORACAO
40114 05-10 Shangri-la and Traders NEW DICKY DECORATION & Std stud anchor HSA M12X100/5/25 glass rail fixing
HotelsSheraton and St. Regis Hotels ENG (MACAU)
(Parcel 5&6)
40120 05-10 SHK Development, Tseung Kwan O KWONG KAM TIM CO LTD Std stud anchor HSA-R M8X75/10/23 marble / granite fixing
(Area 56)
40087 05-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA-R M12X100/5/25 hoarding fixing
LTD
40124 05-10 Lohas Park Phase 1 & Phase 2 CHINA STATE CONST ENG Std stud anchor HSA M12X120/25/45 catch fence fixing
COR
40123 05-10 SHK Development, Tseung Kwan O LUEN ON ALUM ENGRG CO Std stud anchor HSA-R M8X75/10/23 window fixing
(Area 56) LTD
40129 05-10 Galaxy Mega Resort XIN HUI XUAN ENGINEERING Std stud anchor HSA M10X68/-/5 block work fixing
(MACAU)
40130 05-10 Galaxy Mega Resort XIN HUI XUAN ENGINEERING Std stud anchor HSA M8X57/-/5 block work fixing
(MACAU)
40131 05-10 One Central Macau WING CHEUNG Std stud anchor HSA M8X75/10/23 block work fixing
ENGINEERING CO LTD
40132 05-10 The Venetian Casino Resort (Parcel 1)  AST EQUIPMENT (HK) CO LTD Std stud anchor HSA M12X150/55/75 block work fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118 Fax : 29541751

Page 5

14

Feb 2012




Job/Application Reference

=T

07-Apr-11

Ref No Date Project Contractor Consulting Engineer Product Application

40133 05-10 The Venetian Casino Resort (Parcel 1) AST EQUIPMENT (HK) CO LTD Std stud anchor HSA M16X140/25/45 block work fixing

40027 05-10 Ocean Park Master Development LEIGHTON CONT (ASIA) LTD Std stud anchor HSA-R M12X120/25/45 steel bracket fixing

40026 05-10 Ocean Park Master Development HONG KI ENG LTD Std stud anchor HSA M10X90/20/25 steel bracket fixing

40122 05-10 SHK Development, Tseung Kwan O LUEN ON ALUM ENGRG CO Std stud anchor HSA M10X90/20/25 window fixing

(Area 56) LTD

40060 05-10 Tamar Development GAMMON - HIP HING JOINT Std stud anchor HSA M6X65/10/20 steel bracket fixing
VENTURE

40127 05-10 Galaxy Mega Resort DING LIK (MACAU) Std stud anchor HSA M8X75/10/23 block work fixing
ENGINEERING CO LTD

40084 05-10 One Central Macau KIN PANG CONSTRUCTION & Std stud anchor HSA-R M10x120/50/57 cladding / pre-cast panel fixing
ENGINEERING

40054 05-10 MTR West Island Line DRAGAGES-MAEDA-BSG Std stud anchor HSA M20X170/30/55 steel bracket fixing
JOINT VENTURE

40056 05-10 MTR Express Rail Link WING TAK CONSTRUCTION Std stud anchor HSA M8X75/10/23 metal fixing
COMPANY

40058 05-10 SHK Development, Tseung Kwan O GREEN VALLEY LANDFILL Std stud anchor HSA M12X150/55/75 sanitary equipment

(Area 56) LTD

40028 05-10 Ocean Park Master Development LEIGHTON CONT (ASIA) LTD Std stud anchor HSA-R M16X140/25/45 steel bracket fixing

40063 05-10 Tamar Development GAMMON CONSTRUCTION Std stud anchor HSA M12X100/5/25 steel bracket fixing
LTD

40064 05-10 Tamar Development GAMMON CONSTRUCTION Std stud anchor HSA M6X65/10/20 steel bracket fixing
LTD

40077 05-10 Galaxy Mega Resort ENGENHARIA DE ARTE CTR Std stud anchor HSA M10X90/20/25 cladding / pre-cast panel fixing
WEN XING

40083 05-10 Galaxy Mega Resort TONG UN TIT LOI KONG Std stud anchor HSA M12X80/-/5 hand rail fixing
CHENG KONG SI

40057 05-10 Ocean Park Master Development W. HING CONSTRUCTION CO Std stud anchor HSA-R M8X115/50/63 marble / granite fixing

LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,

Hotline : 8228 8118 Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

15

Job/Application Reference

=TT

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

40082 05-10 Galaxy Mega Resort TONG UN TIT LOI KONG Std stud anchor HSA M12X100/5/25 hand rail fixing
CHENG KONG SI

40074 05-10 Ocean Park Master Development LEIGHTON CONT (ASIA) LTD Std stud anchor HSA-R M16X140/25/45 steel bracket fixing

40073 05-10 Ocean Park Master Development LEIGHTON CONT (ASIA) LTD Std stud anchor HSA-R M12X120/25/45 steel bracket fixing

40072 05-10 Ocean Park Master Development LEIGHTON CONT (ASIA) LTD Std stud anchor HSA M6X50/-/5 steel bracket fixing

40070 05-10 MTR West Island Line GAMMON - NISHIMATSU WIL Std stud anchor HSA M20X170/30/55 steel bracket fixing
JV

40065 05-10 Airport GAMMON - HIP HING JOINT Std stud anchor HSA M10X90/20/25 safety system fixing
VENTURE

39992 04-10 SHK Development, Tseung Kwan O CHINA SKY FIRE Std stud anchor HSA M10x120/50/57 steel hanger fixing

(Area 56) ENGINEERING LTD

39985 04-10 MTR Express Rail Link WINNER IRON & STEEL Std stud anchor HSA-R M10X90/20/25 hoarding fixing

40002 04-10 Galaxy Mega Resort SUN HONG HING KONG Std stud anchor HSA M10X68/-/5 steel hanger fixing
CHENG

40017 04-10 Galaxy Mega Resort SUZUKI SHUTTER COMPANY Std stud anchor HSA M10X90/20/25 block work fixing
(MACAU)

40018 04-10 Galaxy Mega Resort SUZUKI SHUTTER COMPANY Std stud anchor HSA M12X100/5/25 block work fixing
(MACAU)

40019 04-10 One Central Macau SAN YIU CHEONG Std stud anchor HSA M10x120/50/57 block work fixing
DECORATION

39997 04-10 Galaxy Mega Resort CREATOR'S METAL & GLASS Std stud anchor HSA-R M10X68/-/5 glass fencing / balustrade fixing
ENG (MACAU)

39903 03-10 Kai Tak Development YKK AP FACADE HONG Std stud anchor HSA-R M8X75/10/23 window fixing
KONG LTD

39910 03-10 Ocean Park Master Development YKK AP FACADE HONG Std stud anchor HSA-R M10X90/20/25 steel bracket fixing
KONG LTD

39909 03-10 Ocean Park Master Development YKK AP FACADE HONG Std stud anchor HSA-R M10x120/50/57 window fixing

KONG LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

Page

Fax : 29541751

16

Feb 2012




Job/Application Reference

=T

07-Apr-11

Ref No Date Project Contractor Consulting Engineer Product Application

39902 03-10 Kai Tak Development YKK AP FACADE HONG Std stud anchor HSA-R M10X90/20/25 window fixing
KONG LTD

39900 03-10 Lohas Park Phase 1 & Phase 2 GREEN VALLEY LANDFILL Std stud anchor HSA M12X150/55/75 sanitary equipment
LTD

39898 03-10 Pak Shek Kok Development CHINA RESOURCES Std stud anchor HSA M12X80/-/5 metal fixing
CONSTRUCTION CO LTD

39897 03-10 Pak Shek Kok Development CHINA RESOURCES Std stud anchor HSA M10X90/20/25 metal fixing
CONSTRUCTION CO LTD

39896 03-10 Tamar Development GOLDFIELD N & W CONST Std stud anchor HSA M20X170/30/55 metal fixing
COLTD

39894 03-10 Tamar Development JOSEF GARTNER & CO (HK) Std stud anchor HSA-R M10X90/20/25 curtain wall fixing
LTD

39893 03-10 Tamar Development JOSEF GARTNER & CO (HK) Std stud anchor HSA M16X140/25/45 curtain wall fixing
LTD

39892 03-10 KCRC Fo Tan Depot - Ho Tung Lau CHOI KEE ENG (HK) CO LTD Std stud anchor HSA M8X75/10/23 steel bracket fixing

39861 03-10 Galaxy Mega Resort FOUR DIN ELECTRICAL Std stud anchor HSA M10X90/20/25 electrical services fixing
ENGINEERING

39891 03-10 KCRC Fo Tan Depot - Ho Tung Lau CHOI KEE ENG (HK) CO LTD Std stud anchor HSA M6X65/10/20 steel bracket fixing

39851 03-10 Ocean Park Master Development HONG KI ENG LTD Std stud anchor HSA M12X120/25/45 steel bracket fixing

39933 03-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA M16X140/25/45 hoarding fixing
LTD

39981 03-10 Wynn Macau Casino SUN KONG HING Std stud anchor HSA-R M8x92/27/40 block work fixing
CONSTRUCTION (MACAU)

39852 03-10 |-Square Development, Nathan Road REX DECORATION LTD Std stud anchor HSA-R M12X100/5/25 steel bracket fixing

39914 03-10 Lohas Park Phase 1 & Phase 2 SHUN WING ALUMINIUM Std stud anchor HSA M10X68/-/5 window fixing
WORKS CO.,, LTD

39915 03-10 SHK, Tuen Mun Station (TMTL 447) GAMMON CONSTRUCTION Std stud anchor HSA M20X170/30/55 safety system fixing

LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,
Hotline : 8228 8118

Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

17

Job/Application Reference

=TT

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

39932 03-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA M12X100/5/25 hoarding fixing
LTD

39934 03-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA M8X57/-/5 hoarding fixing
LTD

39942 03-10 Airport LEE WO CONSTRUCTION Std stud anchor HSA-R M12X120/25/45 hanger fixing
ENG COLTD

39948 03-10 Le Royal Arc GOLD RIVER (INT'L) Std stud anchor HSA M10X68/-/5 steel hanger fixing
ENGINEERING

39949 03-10 Le Royal Arc GOLD RIVER (INT'L) Std stud anchor HSA M10X90/20/25 steel hanger fixing
ENGINEERING

39978 03-10 Wynn Macau Casino DING LIK (MACAU) Std stud anchor HSA-R M12X120/25/45 block work fixing
ENGINEERING CO LTD

39931 03-10 MTR West Island Line COMMANDING VIEW ENG CO Std stud anchor HSA M10X90/20/25 hoarding fixing
LTD

39979 03-10 Wynn Macau Casino 1BI MACAU LIMITADA Std stud anchor HSA-R M10X90/20/25 block work fixing

39961 03-10 One Grantai MAN KIN CONSTRUCTION Std stud anchor HSA-R M10X90/20/25 marble / granite fixing
ENGLTD

39977 03-10 Wynn Macau Casino DING LIK (MACAU) Std stud anchor HSA-R M12X100/5/25 block work fixing
ENGINEERING CO LTD

39976 03-10 One Grantai LAI HENG KONG CHENG Std stud anchor HSA M12X100/5/25 block work fixing

39974 03-10 One Central Macau SAN YIU CHEONG Std stud anchor HSA M10X90/20/25 block work fixing
DECORATION

39973 03-10 City of Dreams Resort TIN LOONG (MACAU) Std stud anchor HSA M10X68/-/5 block work fixing
ENGINEERING

39964 03-10 The Venetian Casino Resort (Parcel 1) MERCURIO SERVICOS DE Std stud anchor HSA M12X120/25/45 steel hanger fixing
ENGENHARIA

39962 03-10 One Grantai MAN KIN CONSTRUCTION Std stud anchor HSA-R M8X75/10/23 marble / granite fixing

ENGLTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

age

Fax : 29541751

18

Feb 2012




Job/Application Reference

=T

07-Apr-11

RefNo Date Project Contractor Consulting Engineer Product Application

39975 03-10 One Central Macau SAN YIU CHEONG Std stud anchor HSA M8x92/27/40 block work fixing
DECORATION

39781 02-10 KCRC Tai Wai Depot GOLDEN RESOURCES ENG. Std stud anchor HSA M8X57/-/5 steel bracket fixing
LTD.

39813 02-10 SHK, Tuen Mun Station (TMTL 447) GAMMON CONSTRUCTION Std stud anchor HSA M12X150/55/75 steel bracket fixing
LTD

39810 02-10 Ocean Park Master Development YKK AP FACADE HONG Std stud anchor HSA-R M12X120/25/45 steel bracket fixing
KONG LTD

39809 02-10 Hennessy Center Redevelopment GAMMON CONSTRUCTION Std stud anchor HSA M16X140/25/45 steel bracket fixing
LTD

39802 02-10 SHK, Tuen Mun Station (TMTL 447) SANFIELD BLDG Std stud anchor HSA-R M20X170/30/55 steel bracket fixing
CONTRACTOR

39801 02-10 SHK, Tuen Mun Station (TMTL 447) SANFIELD BLDG Std stud anchor HSA-R M20X125/-/10 steel bracket fixing
CONTRACTOR

39794 02-10 One Central Macau SZE CHEONG (HK) ENG CO Std stud anchor HSA-R M8x92/27/40 staircase fencing fixing
LTD

39775 02-10 SHK, Tuen Mun Station (TMTL 447) SANFIELD BLDG Std stud anchor HSA-R M20X170/30/55 glass fencing / balustrade fixing
CONTRACTOR

39782 02-10 City of Dreams Resort BIWATER MACAU LIMITED Std stud anchor HSA M16X100/-/5 Plumbing works fixing

39814 02-10 City of Dreams Resort UNISON PROJECTS CO LTD Std stud anchor HSA-R M12X100/5/25 cladding / pre-cast panel fixing

39774 02-10 SHK, Tuen Mun Station (TMTL 447) SANFIELD BLDG Std stud anchor HSA-R M20X125/-/10 glass fencing / balustrade fixing
CONTRACTOR

39783 02-10 City of Dreams Resort LEIGHTON - CHINA STATE - Std stud anchor HSA-R M8X115/50/63 steel bracket fixing
JOHN

39841 02-10 One Central Macau OFIC REPAR MAQUINAS Std stud anchor HSA M8x92/27/40 block work fixing
CHONG TOU

39812 02-10 Lohas Park Phase 1 & Phase 2 SHUN WING ALUMINIUM Std stud anchor HSA-R M16X140/25/45 window fixing

WORKS CO., LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,
Hotline : 8228 8118

Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

19

Job/Application Reference

=TT

07-Apr-11
RefNo Date Project Contractor Consulting Engineer Product Application
39815 02-10 City of Dreams Resort UNISON PROJECTS CO LTD Std stud anchor HSA-R M12X120/25/45 cladding / pre-cast panel fixing
39842 02-10 One Grantai LAI HENG KONG CHENG Std stud anchor HSA M10X68/-/5 block work fixing
39839 02-10  Union Square 7, Kowloon Station ALAN MARBLE ENGINEERING Std stud anchor HSA-R M10X90/20/25 marble / granite fixing
COLTD
39838 02-10 Ocean Park Master Development KADEN CONSTRUCTION LTD Std stud anchor HSA M20X170/30/55 metal gate fixing
39834 02-10 Wynn Macau Casino CHI WO ENG CO Std stud anchor HSA M12X100/5/25 steel hanger fixing
39827 02-10 KCRC Tai Wai Depot HANG TAK ENGINEERING CO Std stud anchor HSA M20X170/30/55 cladding / pre-cast panel fixing
LTD
39832 02-10 Wynn Macau Casino CHI WO ENG CO Std stud anchor HSA M10X68/-/5 steel hanger fixing
39831 02-10 Wynn Macau Casino CHI WO ENG CO Std stud anchor HSA M10x120/50/57 steel hanger fixing
39830 02-10 Crown Macau MENG HENG FERREIRO DEC Std stud anchor HSA M12X100/5/25 block work fixing
ENG CO
39833 02-10 Wynn Macau Casino CHI WO ENG CO Std stud anchor HSA M10X90/20/25 steel hanger fixing
39825 02-10 Airport East Hall Works FULL WEALTH Airport Authority Std stud anchor HSA M10X90/20/25 safety system fixing
CONSTRUCTION LIMITED
39843 02-10 One Grantai LAI HENG KONG CHENG Std stud anchor HSA M10X90/20/25 block work fixing
39687 01-10 SHK Development, Tseung Kwan O CHEVALIER (ALUMINIUM Std stud anchor HSA-R M12X120/25/45 curtain wall fixing
(Area 56) ENG) LTD
39688 01-10 SHK Development, Tseung Kwan O CHEVALIER (ALUMINIUM Std stud anchor HSA-R M16X140/25/45 curtain wall fixing
(Area 56) ENG) LTD
39689 01-10 SHK Development, Tseung Kwan O CHEVALIER (ALUMINIUM Std stud anchor HSA-R M6X65/10/- curtain wall fixing
(Area 56) ENG) LTD
39690 01-10 SHK Development, Tseung Kwan O CHEVALIER (ALUMINIUM Std stud anchor HSA-R M8X75/10/23 curtain wall fixing

(Area 56)

ENG) LTD

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

Page

Fax : 29541751

20

Feb 2012




Job/Application Reference
07-Apr-11

=T

RefNo Date Project

Contractor

Consulting Engineer

Product

Application

39691 01-10 PTM Projects - Yau Lee

39696 01-10 PTM Projects - Yau Lee

39701 01-10 Tamar Development

39686 01-10 SHK Development, Tseung Kwan O

(Area 56)

39706 01-10 PTM Projects - Cheung Kong

39655 01-10 KCRC Tai Wai Depot

39692 01-10 PTM Projects - Yau Lee

39685 01-10 SHK Development, Tseung Kwan O

(Area 56)

39684 01-10 SHK Development, Tseung Kwan O
(Area 56)

39681 01-10 PTM Projects - Hip Hing

39670 01-10 Windsor Arch

39668 01-10 One Grantai

39661 01-10 City of Dreams Resort

39656 01-10 KCRC Tai Wai Depot

39653 01-10 PTM Projects - Shui On

39651 01-10 PTM Projects - China State

HIGHWELL CONSTRUCTION
ENG. LTD.

YAU LEE CONSTRUCTION
MATERIALS &

LEIGHTON-CHINA STATE-
VAN OORD J.V.

CHEVALIER (ALUMINIUM
ENG) LTD

SHUN WING ALUMINIUM
WORKS CO., LTD

GOLDEN RESOURCES ENG.
LTD.

TONG KIN ENGINEERING
CO, LTD

CHEVALIER (ALUMINIUM
ENG) LTD

CHEVALIER (ALUMINIUM
ENG)LTD

CHOI KEE ENG (HK) CO LTD

JUN FENG (MACAU)
ENGINEERING CO LTD

TUNG TAT E&M ENG CO LTD

MELCO CROWN (COD)
DEVELOPMENTS LTD

GOLDEN RESOURCES ENG.
LTD.

MING TAI ENG CO LTD

TEAMBO ENGINEERING LTD

Std stud anchor HSA-R M10x120/50/57

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA-R M12X100/5/25

Std stud anchor HSA-R M10X90/20/25

Std stud anchor HSA-R M10X90/20/25

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA-R M8X75/10/23

Std stud anchor HSA M16X140/25/45

Std stud anchor HSA M12X120/25/45

Std stud anchor HSA M8X75/10/23

Std stud anchor HSA M16X140/25/45

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA M20X170/30/55

Std stud anchor HSA M12X100/5/25

Std stud anchor HSA M8X57/-/5

Std stud anchor HSA M10X90/20/25

steel bracket fixing

steel bracket fixing

steel bracket fixing

curtain wall fixing

window fixing

hand rail fixing

steel bracket fixing

curtain wall fixing

curtain wall fixing

steel bracket fixing

steel bracket fixing

electrical services fixing

steel bracket fixing

hand rail fixing

steel bracket fixing

steel bracket fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street,
Hotline : 8228 8118

Fax : 29541751

Kwun Tong, Kowloon, Hong Kong.

21

Job/Application Reference
07-Apr-11

=TT

Ref No Date Project

Contractor

Consulting Engineer

Product

Application

39652 01-10 PTM Projects - China State

39707 01-10 PTM Projects - Cheung Kong

39657 01-10 KCRC Tai Wai Depot

39737 01-10 PTM Projects - Hsin Chong

39647 01-10 Ocean Park Master Development

39768 01-10 Wynn Macau Casino

39759 01-10 PTM Projects - China State

39758 01-10 PTM Projects - China State

39757 01-10 Wynn Macau Casino

39756 01-10 Wynn Macau Casino

39754 01-10 The Venetian Casino Resort (Parcel 1)

39746 01-10 Union Square 7, Kowloon Station

39745 01-10 Union Square 7, Kowloon Station

39760 01-10 PTM Projects - China State

39738 01-10 PTM Projects - Hsin Chong

39708 01-10 PTM Projects - Gammon

39735 01-10 PTM Projects - China State

TEAMBO ENGINEERING LTD

SHUN WING ALUMINIUM
WORKS CO., LTD

GOLDEN RESOURCES ENG.
LTD.

KAM FUNG ENG LTD

HONG KI ENG LTD

1BI MACAU LIMITADA

CHINA STATE CONST ENG
COR

CHINA STATE CONST ENG
COR

WAI WING ENGINEERING
LIMITED

LUCKY WIDE ENG CO

MERCURIO SERVICOS DE
ENGENHARIA

KAM KEE STEEL WORKS LTD

KAM KEE STEEL WORKS LTD

CHINA STATE CONST ENG
COR

KAM FUNG ENG LTD

GAMMON CONSTRUCTION
LTD

CHI SHING ENG CO

Std stud anchor HSA M8x92/27/40

Std stud anchor HSA-R M12X120/25/45

Std stud anchor HSA M12X120/25/45

Std stud anchor HSA M8X57/-/5

Std stud anchor HSA M8X75/10/23

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA-R M12X80/-/5

Std stud anchor HSA-R M10X68/-/5

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA-R M8X75/10/23

Std stud anchor HSA M10X90/20/25

Std stud anchor HSA M8x92/27/40

Std stud anchor HSA M8X115/50/63

Std stud anchor HSA-R M6X65/10/-

Std stud anchor HSA M8X75/10/23

Std stud anchor HSA M16X240/125/145

Std stud anchor HSA M10X90/20/25

steel bracket fixing

window fixing

hand rail fixing

steel hanger fixing

steel bracket fixing

block work fixing

steel hanger fixing

steel hanger fixing

steel hanger fixing

marble / granite fixing

steel hanger fixing

steel hanger fixing

steel hanger fixing

steel hanger fixing

steel hanger fixing

steel bracket fixing

singage / advertising sign fixing

Units 701-704, 7/F, Tower A, Manulife Financial Centre, No 223 Wai Yip Street, Kwun Tong, Kowloon, Hong Kong.

Hotline : 8228 8118

Page

Fax : 29541751

22

Feb 2012




